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1. Answer B 

● Statement 1 is incorrect: All natural 

earthquakes take place in the lithosphere. 

●  Statement 2 is incorrect: Body waves are 

generated at the focus and move in all the 

directions through the body of the Earth (3-

dimensional). 

Primary waves/P-waves   

● P-waves move longitudinally i.e. the 

propagation and vibration are in the same 

direction similar to the sound waves. They are 

the fastest of all the earthquake waves. They 

travel through gaseous, liquid and solid 

materials. 

Secondary waves/S-waves  

●  S-waves are second to reach at the surface 

after P-waves. As they can travel only through 

solid materials of the Earth, they cannot pass 

through Earth’s outer core; therefore their 

shadow zone is broader than that of P-waves. 

This reveals that the outer core of the Earth is 

not in solid form. 
 

 
 

 
 

1- उȅर बी 
● कथन 1 गलत है: सभी Ůाकृितक भूकंप ̾थलमंडल मŐ 

होते हœ। 
●  कथन 2 गलत है: भौितक तरंगŐ फोकस पर उȋɄ होती 

हœ और पृțी के शरीर (3-आयामी) के माȯम से सभी 
िदशाओ ंमŐ चलती हœ। 

Ůाथिमक तरंगŐ/पी-तरंगŐ   

● पी-तरंगŐ अनुदैȯŊ ŝप से चलती हœ यानी Ȱिन तरंगो ंके 
समान Ůसार और कंपन एक ही िदशा मŐ होते हœ। ये 
सभी भूकंपीय तरंगो ं मŐ सबसे तेज़ हœ। वे गैसीय, तरल 
और ठोस पदाथŘ के माȯम से याũा करते हœ। 

िȪतीयक तरंगŐ/एस-तरंगŐ  

●  पी-तरंगो ं के बाद एस-तरंगŐ सतह पर पŠंचने मŐ दूसरे 
̾थान पर हœ। चँूिक वे केवल पृțी के ठोस पदाथŘ के 
माȯम से याũा कर सकते हœ, वे पृțी के बाहरी कोर से 
नही ंगुजर सकते हœ; इसिलए उनका छाया Ɨेũ पी-तरंगो ं
की तुलना मŐ ʩापक है। इससे पता चलता है िक पृțी 
का बाहरी कोर ठोस ŝप मŐ नही ंहै। 
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2. Answer B 

Tropical Cyclones  

●  Tropical Cyclones are violent storms that 

originate over the seas in the Low Pressure 

belt of the tropical areas and move eastward 

over to the coastal areas. 

● They bring about large-scale destruction 

caused by violent winds, very heavy rainfall 

and storm surges which make them one of the 

most devastating natural calamities.   

● They are known as Cyclones in the Indian 

Ocean, Hurricanes in the Atlantic, Typhoons 

in the Western Pacific and South China Sea, 

and Willy-willies in the Western Australia. 

● They originate only over the seas because of 

the need of continuous moisture to energize 

the Cyclones regularly. This is why they 

dissipate once reaching the land. They are 

violent because of the energy coming from the 

condensation process in cumulonimbus clouds 

surrounding the Cyclones.  

● They move from east to west because they are 

facilitated by the Trade wind. 

Temperate Cyclones  

● This system develops in the mid and high 

latitude (around 600 latitudes) along the polar 

front (boundary between the warm air and 

cold air). 

● As the polar front develops over the entire 

polar frontal system, this cyclone affects a 

much larger area of around 2000 km. Also it 

develops over land and sea both as far as there 

is a frontal system. 

● It moves from west to east due to the 

influence of Westerlies. 

 
 

 
 

2- उȅर बी 
उˁकिटबंधीय चŢवात  

●  उˁकिटबंधीय चŢवात िहंसक तूफान हœ जो 
उˁकिटबंधीय Ɨेũो ं के िनɻ दबाव बेʐ मŐ समुū के 
ऊपर उȋɄ होते हœ और पूवŊ की ओर तटीय Ɨेũो ं की 
ओर बढ़ते हœ। 

● वे िहंसक हवाओ,ं बŠत भारी वषाŊ और तूफ़ान के कारण 
बड़े पैमाने पर िवनाश लाते हœ जो उɎŐ सबसे 
िवनाशकारी Ůाकृितक आपदाओ ंमŐ से एक बनाता है।   

● उɎŐ िहंद महासागर मŐ चŢवात, अटलांिटक मŐ तूफान, 
पिʮमी Ůशांत और दिƗण चीन सागर मŐ टाइफून और 
पिʮमी ऑ Ōː ेिलया मŐ िवली-िवलीज़ के ŝप मŐ जाना 
जाता है। 

● चŢवातो ं को िनयिमत ŝप से सिŢय करने के िलए 
िनरंतर नमी की आवʴकता के कारण वे केवल समुū 
के ऊपर उȋɄ होते हœ। यही कारण है िक जमीन पर 
पŠंचते ही वे नʼ हो जाते हœ। चŢवातो ं के आसपास 
Ɛूʄलोिनɾस बादलो ंमŐ संघनन ŮिŢया से आने वाली 
ऊजाŊ के कारण वे िहंसक होते हœ।  

● वे पूवŊ से पिʮम की ओर बढ़ते हœ Ɛोिंक उɎŐ ʩापाįरक 
पवन से सहायता िमलती है। 

शीतोˁ चŢवात  

● यह Ůणाली Ŭुवीय मोचő (गमŊ हवा और ठंडी हवा के बीच 
की सीमा) के साथ मȯ और उǄ अƗांश (लगभग 600 
अƗांश) मŐ िवकिसत होती है। 

●  जैसे ही Ŭुवीय मोचाŊ पूरे Ŭुवीय वाताŤ पȠित पर 
िवकिसत होता है, यह चŢवात लगभग 2000 िकमी के 
बŠत बड़े Ɨेũ को Ůभािवत करता है। इसके अलावा यह 
भूिम और समुū दोनो ं पर िवकिसत होता है जहां तक 
वाताŤ पȠित होती है। 

● पछुआ हवा के Ůभाव के कारण यह पिʮम से पूवŊ की 
ओर चलती है। 
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3. Answer A 
● Statement 1 is incorrect: The rate of Plate 

Movements is not uniform throughout. These 
rates vary considerably. They move at a rate 
of one to two inches (three to five centimeters) 
per year. Different parts of a plate move at 
different speeds. The plates move in different 
directions, colliding, moving away from, and 
sliding past one another. 

● Statement 2 is incorrect: Seafloor spreading 
occurs at divergent plate boundaries. As 
tectonic plates slowly move away from each 
other, heat from the mantle’s convection 
currents makes the crust more plastic and less 
dense. The less-dense material rises, often 
forming a mountain or elevated area of the 
seafloor. 

● Statement 3 is correct: When lava is coming 
out of any mid-ocean ridge, the rock it forms 
becomes magnetized and acquires the 
magnetic polarity that exists at the time the 
lava cools. As the crust moves away from 
mid-ocean ridges, it contains a continuous 
record of the Earth's changing magnetic 
polarity. 

 

4. Answer A 
● Statement 1 is incorrect: Weathering and 

erosion are the exogenic forces. They differ 
based on whether a rock's location is changed. 
Weathering degrades a rock without moving 
it, while erosion carries rocks and soil away 
from their original locations. However, 
without weathering, erosion is not possible. 

●  Statement 2 is correct: The temperature 
changes can also contribute to mechanical 
weathering. The process is known as thermal 
stress. Changes in temperature cause rock to 
expand with heat and contract with cold. 
When this process is repeated again and again, 
the structure of the rock weakens. In case of 
Chemical weathering also, the chemical 
weathering increases as the temperature 
increases. Chemical reactions proceed more 
rapidly at higher temperatures. 

●  Statement 3 is incorrect: The types of 
weathering processes are as follows : 
Chemical; Physical/mechanical and Biological 
weathering processes. Physical weathering 
involves the breakdown of rocks and soils 
through the mechanical effects of heat, water, 
ice, or other agents. Chemical weathering 
involves the chemical reaction of water, 
atmospheric gasses, and biologically produced 
chemicals with rocks and soils. Biological 
weathering is weathering caused by plants and 
animals. 

3- उȅर ए 
● कथन 1 गलत है: ɘेट की गित की दर हर जगह एक 

समान नही ंहोती है। ये दरŐ  काफी िभɄ होती हœ। वे Ůित 
वषŊ एक से दो इंच (तीन से पांच सŐटीमीटर) की दर से 
चलती हœ। ɘेट के िविभɄ िहˣे अलग-अलग गित से 
चलते हœ। ɘेटŐ अलग-अलग िदशाओ ं मŐ चलती हœ, 
टकराती हœ, दूर जाती हœ और एक-दूसरे से िफसलती हœ। 

● कथन 2 गलत है: समुū तल का फैलाव अलग-अलग 
ɘेट सीमाओ ं पर होता है। चंूिक टेƃोिनक ɘेटŐ धीरे-
धीरे एक-दूसरे से दूर जाती हœ, मŐटल की संवहन धाराओ ं
से िनकलने वाली गमŎ Ţː को अिधक ɘाİːक और 
कम घना बनाती है। कम सघन सामŤी ऊपर उठती है, 
जो अƛर पहाड़ या समुū तल के ऊंचे Ɨेũ का िनमाŊण 
करती है। 

● कथन 3 सही है: जब लावा िकसी मȯ महासागरीय 
कटक से बाहर आ रहा होता है, तो इससे बनने वाली 
चǥान चुɾिकत हो जाती है और लावा के ठंडा होने के 
समय मौजूद चंुबकीय Ŭुवता Ůाɑ कर लेती है। जैसे-
जैसे Ţː मȯ-महासागरीय कटको ं से दूर जाता है, 
इसमŐ पृțी की बदलती चंुबकीय Ŭुवता का िनरंतर 
įरकॉडŊ होता है। 

 
4- उȅर ए 

● कथन 1 ग़लत है: अपƗय और अपरदन बिहजŊिनत बल 
हœ। वे इस आधार पर िभɄ होते हœ िक चǥान का ̾थान 
बदला गया है या नही।ं अपƗय चǥान को िहलाए िबना 
ही उसे नʼ कर देता है, जबिक अपरदन चǥानो ं और 
िमǥी को उनके मूल ̾थान से दूर ले जाता है। हालाँिक, 
अपƗय के िबना, अपरदन संभव नही ंहै। 

●  कथन 2 सही है: तापमान पįरवतŊन यांिũक अपƗय मŐ 
भी योगदान दे सकता है। इस ŮिŢया को थमŊल Ōː ेस के 
ŝप मŐ जाना जाता है। तापमान मŐ पįरवतŊन के कारण 
चǥानŐ गमŎ के साथ फैलती हœ और ठंड के साथ 
िसकुड़ती हœ। जब यह ŮिŢया बार-बार दोहराई जाती है 
तो चǥान की संरचना कमजोर हो जाती है। रासायिनक 
अपƗय के मामले मŐ भी तापमान बढ़ने पर रासायिनक 
अपƗय बढ़ जाता है। उǄ तापमान पर रासायिनक 
ŮितिŢयाएँ अिधक तेजी से आगे बढ़ती हœ। 

●  कथन 3 गलत है: अपƗय ŮिŢयाओ ं के Ůकार इस 
Ůकार हœ: रासायिनक; भौितक/यांिũक और जैिवक 
अपƗय ŮिŢयाएं। भौितक अपƗय मŐ गमŎ, पानी, बफŊ  
या अɊ एजŐटो ं के यांिũक Ůभाव के माȯम से चǥानो ं
और िमǥी का टूटना शािमल है। रासायिनक अपƗय मŐ 
पानी, वायुमंडलीय गैसो ंऔर चǥानो ंऔर िमǥी के साथ 
जैिवक ŝप से उȋािदत रसायनो ं की रासायिनक 
ŮितिŢया शािमल होती है। जैिवक अपƗय पौधो ं और 
जानवरो ंके कारण होने वाला अपƗय है। 
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5. Answer D 

● Stratovolcano/Conical Vent Type/Composite 
Volcano: These are characterized by conical 
vents through which Magma comes out 
explosively. These are common in Andesitic 
volcanism and found at Destructive plate 
Margins. Pyroclastic accumulation into layers 
is also their feature. 

●  Examples: Mount St. Helens, Mount Rainier, 
Mt. Stromboli 'Lighthouse of the 
Mediterranean’, Mt. Vesuvius, Mt. Fuji etc. 
 Hence, Statement a is correct while d is 
Incorrect. 

●  Shield Type Volcano/ Fissure Vent Type 
Volcano: These are characterized by linear 
fissure vent through which Magma comes out 
, generally with no explosion activity. 
However, if water gets into the vent, it 
becomes explosive. These are common in 
Basaltic Volcanism and found at constructive 
Plate margins. They aren't steep. 

●  Example: Mauna Loa (Hawaii). 
 Hence Statement b & c are correct. 

 

6. Answer B 

● Statement 1 is incorrect: Igneous rocks are 
crystalline in structure and are devoid of any 
fossils or any layers. They are formed by the 
cooling and solidification of magma under the 
Earth’s crust. 

●  Statement 2 is correct: Igneous rocks are 
either Plutonic or Volcanic rocks. Plutonic 
rocks are formed when magma cools below 
the surface of the Earth while Volcanic rocks 
are formed when the magma cools on the 
surface of the Earth after its way out of a 
volcanic eruption. 

●  Statement 3 is incorrect: Marble, graphite, 
schists are the examples of the metamorphic 
rock and not igneous rocks. Examples of 
igneous rocks include basalt, granite, etc. 

 

 
 

 
 

5- उȅर D 
● Ōː ैटोवोलकानो/शंƓाकार वŐट Ůकार/िमिŵत 

ǜालामुखी: इनकी िवशेषता शंƓाकार िछū हœ िजनके 
माȯम से मैƵा िव˛ोटक ŝप से बाहर आता है। ये 
एȵेिसिटक ǜालामुखी मŐ आम हœ और िवनाशकारी 
ɘेट मािजŊन पर पाए जाते हœ। परतो ंमŐ पायरोƑाİːक 
का संचय भी उनकी िवशेषता है। 

●  उदाहरण: माउंट सŐट हेलŐस, माउंट रेिनयर, माउंट 
Ōː ोमबोली 'भूमȯ सागर का Ůकाशˑंभ', माउंट 

वेसुिवयस, माउंट फ़ूजी आिद। 
 इसिलए, कथन a सही है जबिक d गलत है। 

●  शीʒ Ůकार ǜालामुखी/ िफशर वŐट Ůकार 
ǜालामुखी: इनकी िवशेषता रैİखक िवदर वŐट है िजसके 
माȯम से मैƵा बाहर िनकलता है, आमतौर पर कोई 
िव˛ोट गितिविध नही ंहोती है। हालाँिक, यिद पानी वŐट 
मŐ चला जाता है, तो यह िव˛ोटक हो जाता है। ये 
बेसाİʐक ǜालामुखी मŐ आम हœ और रचनाȏक ɘेट 
मािजŊन पर पाए जाते हœ। वे खड़ी नही ंहœ। 

●  उदाहरण: मौना लोआ (हवाई)। 
 अतः  कथन b और c सही हœ। 

 
6- उȅर बी 

● कथन 1 गलत है: आưेय चǥानŐ संरचना मŐ िŢːलीय 
होती हœ और िकसी भी जीवाʳ या िकसी परत से रिहत 
होती हœ। इनका िनमाŊण पृțी की पपड़ी के नीचे मैƵा 
के ठंडा होने और जमने से होता है। 

●  कथन 2 सही है: आưेय चǥानŐ या तो ɘूटोिनक या 
ǜालामुखीय चǥानŐ हœ। ɘूटोिनक चǥानŐ तब बनती हœ 
जब मैƵा पृțी की सतह के नीचे ठंडा होता है जबिक 
ǜालामुखीय चǥानŐ तब बनती हœ जब मैƵा ǜालामुखी 
िव˛ोट से िनकलने के बाद पृțी की सतह पर ठंडा 
होता है। 

●  कथन 3 गलत है: संगमरमर, Ťेफाइट, िशː कायापलट 
चǥान के उदाहरण हœ न िक आưेय चǥानŐ। आưेय 
चǥानो ं के उदाहरणो ं मŐ बेसाʐ, Ťेनाइट आिद शािमल 
हœ। 
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7. Answer B 
● Statement 1 is correct: The movement of the 

sun is restricted between the Tropic of cancer 
in the Northern Hemisphere and the Tropic of 
Capricorn in the Southern Hemisphere. 

●  Statement 2 is correct: During winters in the 
Northern Hemisphere, the sun is overhead at 
the Tropic of Capricorn. Hence, direct rays 
fall on the Southern hemisphere while oblique 
rays travel to the Northern Hemisphere. These 
rays travel a longer distance and hence lose 
much of their heat in their path in the 
atmosphere. Thus, during winters temperature 
is lower and the sun rays fall over a larger 
surface of the earth in the Northern 
Hemisphere. 

●  Statement 3 is incorrect: Twilight is the 
duration between the onset of sunset and 
complete darkness. Dawn refers to the 
duration between the onset of sunrise and full 
daylight. The sun is below the horizon during 
the dawn or twilight and Earth receives 
diffused or refracted light. Since, oblique rays 
fall on the temperate latitudes, the duration of 
dawn or twilight is longer whereas near the 
tropics, this duration is almost negligible. 

●  Statement 4 is incorrect: June solstice or the 
summer solstice (21st June) occurs when the 
sun is directly overhead at the Tropic of 
cancer in the Northern Hemisphere. The 
Northern hemisphere experiences summer and 
the days are longer while the nights are 
shorter. 

 
8. Answer C 

● Statement 1 is correct: Alfred Wegener in his 
continental drift theory could not explain how 
continents drifted. The theory of plate 
tectonics does explain this and states that each 
plate moves over Earth's hot and semi-plastic 
mantle. 

● Ocean bottom relief, Paleomagnetic rocks, 
distribution of earthquakes and volcanoes, 
gravitational anomalies at trenches, etc. are 
the evidences put forward by the Plate 
Tectonics Theory. 

● Statement 2 is incorrect: Plate tectonics 
explain the movement of both Continents and 
Oceans whereas the Continental Drift explains 
the movement of Continents only. Therefore, 
the theory of plate tectonics is more complete 
and it has gained widespread acceptance 
among scientists. 

7- उȅर बी 
● कथन 1 सही है: सूयŊ की गित उȅरी गोलाधŊ मŐ ककŊ  

रेखा और दिƗणी गोलाधŊ मŐ मकर रेखा के बीच 
Ůितबंिधत है। 

●  कथन 2 सही है: उȅरी गोलाधŊ मŐ सिदŊयो ंके दौरान, सूयŊ 
मकर रेखा पर िसर के ऊपर होता है। इसिलए, सीधी 
िकरणŐ दिƗणी गोलाधŊ पर पड़ती हœ जबिक ितरछी 
िकरणŐ उȅरी गोलाधŊ तक जाती हœ। ये िकरणŐ लंबी दूरी 
तय करती हœ और इसिलए वायुमंडल मŐ अपने राˑे मŐ 
अपनी अिधकांश गमŎ खो देती हœ। इस Ůकार, सिदŊयो ं
के दौरान तापमान कम होता है और सूयŊ की िकरणŐ 
उȅरी गोलाधŊ मŐ पृțी की एक बड़ी सतह पर पड़ती हœ। 

● कथन 3 गलत है: गोधूिल सूयाŊˑ की शुŜआत और पूणŊ 
अंधकार के बीच की अविध है। भोर का ताȋयŊ सूयŖदय 
की शुŜआत और पूणŊ िदन के उजाले के बीच की अविध 
से है। भोर या गोधूिल के समय सूयŊ िƗितज के नीचे होता 
है और पृțी को िवसįरत या अपवितŊत Ůकाश Ůाɑ 
होता है। चंूिक, ितरछी िकरणŐ समशीतोˁ अƗांशो ंपर 
पड़ती हœ, इसिलए भोर या गोधूिल की अविध लंबी होती 
है जबिक उˁकिटबंधीय के पास, यह अविध लगभग 
नगǻ होती है। 

●  कथन 4 गलत है: जून संŢांित या Ťीˆ संŢांित (21 
जून) तब होती है जब सूयŊ उȅरी गोलाधŊ मŐ ककŊ  रेखा 
पर सीधे िसर के ऊपर होता है। उȅरी गोलाधŊ मŐ गमŎ 
का मौसम होता है और िदन बड़े होते हœ जबिक रातŐ 
छोटी होती हœ। 

 
8- उȅर C 

● कथन 1 सही है: अ̵ůेड वेगेनर अपने महाȪीपीय बहाव 
िसȠांत मŐ यह नही ं समझा सके िक महाȪीप कैसे 
İखसके। ɘेट टेƃोिनƛ का िसȠांत इसकी ʩाƥा 
करता है और कहता है िक Ůȑेक ɘेट पृțी के गमŊ 
और अधŊ-ɘाİːक मŐटल के ऊपर घूमती है। महासागर 
तल की राहत, पुराचंुबकीय चǥानŐ, भूकंप और 
ǜालामुİखयो ं का िवतरण, खाइयो ं पर गुŜȕाकषŊण 
िवसंगितयाँ, आिद ɘेट टेƃोिनƛ िसȠांत Ȫारा सामने 
रखे गए Ůमाण हœ। 

● कथन 2 गलत है: ɘेट टेƃोिनƛ महाȪीपो ं और 
महासागरो ंदोनो ंकी गित की ʩाƥा करता है जबिक 
महाȪीपीय बहाव केवल महाȪीपो ंकी गित की ʩाƥा 
करता है। इसिलए, ɘेट टेƃोिनƛ का िसȠांत अिधक 
पूणŊ है और इसे वैǒािनको ं के बीच ʩापक ˢीकृित 
िमली है। 

 
  



 

 
 

7 
RACE 

IAS 
 

7388114444 

  ALIGANJ | INDIRA NAGAR | ALAMBAGH, LUCKNOW & KANPUR 
WEBSITE :www.raceias.com,  /raceiaslucknow 

E-mail ID : www.raceias.2010@gmail.com 

 
MOCK TEST 

EXPLANATIONS  
 

 

RACE 
IAS 

9. Answer C 
● Statement 1 is correct: Dharwar Rock System 

comprises the metamorphic sedimentary rocks 
of India. The Dharwar rocks are rich in iron 
ore, manganese, lead, zinc, gold, silver etc. 

● Statement 2 is correct: The Cuddapah system 
of rocks have been formed as a result of 
erosion and sedimentation of the rocks of the 
Dharwar system. These are also sedimentary 
rocks. 

●  Statement 3 is correct: The Archean rocks in 
India are called Purana Rocks/ Pre-Cambrian 
rocks are the oldest rocks of the earth's crust. 
Most Archean rocks are igneous in nature. 
They are found in the Aravalli hills, Deccan 
plateau and the northeast of India. Because of 
their volcanic origin, they are crystalline and 
are foliated. 

 
10. Answer D 

● Statement 1 is incorrect: Tides are very long-
period waves that move through the oceans in 
response to the forces exerted by the earth, 
moon and sun. Tides originate in the oceans 
and progress toward the coastlines where they 
appear as the regular rise and fall of the sea 
surface. 

●  Statement 2 is incorrect: When waves travel 
from deep to shallow water, they break near 
the shoreline and generate currents that are 
influenced by the shape of the ocean floor, at 
times producing rip currents. Waves 
interacting with each other can also cause 
short-lived rip currents. 

●  It is a narrow current of water which moves 
directly away from the shore, cutting through 
the lines of breaking waves like a river 
running out to sea.  

● Rip currents can be hazardous to people in the 
water. Swimmers who are caught in a rip 
current and who do not understand what is 
happening, or who may not have the necessary 
water skills, may panic, or they may exhaust 
themselves by trying to swim directly against 
the flow of water. 

●  Statement 3 is correct: A gulf is a large inlet 
from the ocean into the landmass, typically 
with a narrower opening than a bay. It 
traditionally refers to highly-indented 
navigable bodies of saltwater that are enclosed 
by the coastline. 

● The geology of the area where a bay is 
formed, typically consists of alternate bands 
of hard and soft rocks which allows the sea 
water to erode the soft rocks and make inroads 
towards the mainland. 

9- उȅर सी 
● कथन 1 सही है: धारवाड़ चǥान Ůणाली मŐ भारत की 

ŝपांतįरत तलछटी चǥानŐ शािमल हœ। धारवाड़ चǥानŐ 
लौह अयˋ, मœगनीज, सीसा, जˑा, सोना, चांदी आिद 
से समृȠ हœ। 

● कथन 2 सही है: चǥानो ंकी कुडɔा Ůणाली का िनमाŊण 
धारवाड़ Ůणाली की चǥानो ंके कटाव और अवसादन के 
पįरणामˢŝप Šआ है। ये भी अवसादी चǥानŐ हœ। 

●  कथन 3 सही है: भारत मŐ आिकŊ यन चǥानो ंको पुराण 
चǥानŐ कहा जाता है/ Ůी-कैİʀयन चǥानŐ पृțी की 
पपŊटी की सबसे पुरानी चǥानŐ हœ। अिधकांश आिकŊ यन 
चǥानŐ आưेय Ůकृित की हœ। वे अरावली पहािड़यो,ं 
दſन के पठार और भारत के उȅर-पूवŊ मŐ पाई जाती 
हœ। उनकी ǜालामुखीय उȋिȅ के कारण, वे िŢːलीय 
हœ और पȅेदार हœ। 

 
10- उȅर D 

● कथन 1 गलत है: ǜार बŠत लंबी अविध की लहरŐ  हœ जो 
पृțी, चंūमा और सूयŊ Ȫारा लगाए गए बलो ंके जवाब मŐ 
महासागरो ं मŐ चलती हœ। ǜार-भाटा महासागरो ं मŐ 
उȋɄ होते हœ और समुū तट की ओर बढ़ते हœ जहाँ वे 
समुū की सतह के िनयिमत उतार-चढ़ाव के ŝप मŐ 
िदखाई देते हœ। 

●  कथन 2 गलत है: जब लहरŐ  गहरे से उथले पानी की 
ओर जाती हœ, तो वे तटरेखा के पास टूट जाती हœ और 
धाराएँ उȋɄ करती हœ जो समुū तल के आकार से 
Ůभािवत होती हœ, कभी-कभी įरप करȴ उȋɄ करती 
हœ। एक-दूसरे के साथ पर˙र िŢया करने वाली तरंगŐ 
अʙकािलक įरप करȴ का कारण भी बन सकती 
हœ।यह पानी की एक संकीणŊ धारा है जो समुū की ओर 
बहने वाली नदी की तरह टूटती लहरो ं की रेखाओ ंको 
काटते Šए सीधे समुū तट से दूर चली जाती है।  

●  कथन 3 सही है: खाड़ी समुū से भूिम मŐ Ůवेश करने 
वाला एक बड़ा Ůवेश Ȫार है, आमतौर पर खाड़ी की 
तुलना मŐ संकीणŊ उद्घाटन के साथ। यह परंपरागत ŝप 
से खारे पानी के अȑिधक इंडŐटेड नौगʄ िनकायो ंको 
संदिभŊत करता है जो समुū तट से िघरे Šए हœ। 

● उस Ɨेũ का भूिवǒान जहां एक खाड़ी बनती है, आम 
तौर पर कठोर और नरम चǥानो ंके वैकİʙक बœड होते 
हœ जो समुū के पानी को नरम चǥानो ंको नʼ करने और 
मुƥ भूिम की ओर Ůवेश करने की अनुमित देते हœ। 
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11. Answer C 
● The northern plains are formed by the alluvial 

deposits brought by the rivers – the Indus, the 
Ganga, and the Brahmaputra. 

●  From the north to the south, these can be 
divided into three major zones: the Bhabar, 
the Tarai, and the alluvial plains. The alluvial 
plains can be further divided into the Khadar 
and the Bhangar. 

●  Bhabar is a narrow belt ranging between 8-10 
km parallel to the Shivalik foothills at the 
break-up of the slope. As a result of this, the 
streams and rivers coming from the mountains 
deposit heavy materials of rocks and boulders, 
and at times, disappear in this zone. Hence 
option (c) is the correct answer. 

 
12. Answer B 

● The months of October and November are 
known for retreating monsoons, also known as 
North-East Monsoons. By the end of 
September, the southwest monsoon becomes 
weak as the low-pressure trough of the Ganga 
plain starts moving southward in response to 
the southward march of the sun. Themonsoon 
retreats from the western Rajasthan by the 
first week of September. It withdraws from 
Rajasthan, Gujarat, Western Ganga plain, and 
the Central Highlands by the end of the 
month. Hence statement 1 is correct. 

●  The retreating southwest monsoon season is 
marked by clear skies and a rise in 
temperature. The land is still moist. Owing to 
the conditions of high temperature and 
humidity, the weather becomes rather 
oppressive. This is commonly known as the 
„October heat‟. The diurnal range of 
temperature increases due to a lack of cloud 
cover. In the second half of October, the 
mercury begins to fall rapidly, particularly in 
northern India. The weather in the retreating 
monsoon is dry in north India but it is 
associated with rain in the eastern part of the 
Peninsula. Hence statement 3 is correct. 

●  The widespread rain in this season is 
associated with the passage of cyclonic 
depressions which originate over the 
Andaman Sea and manage to cross the eastern 
coast of the southern Peninsula. These tropical 
cyclones are very destructive. The thickly 
populated deltas of the Godavari, Krishna and 
Kaveri are their preferred targets. A bulk of 
the rainfall of the Coromandel Coast is 
derived from these depressions and cyclones. 
Such cyclonic storms are less frequent in the 
Arabian Sea. Hence statement 2 is not correct. 

11- उȅर सी 
● उȅरी मैदान का िनमाŊण िसंधु, गंगा और Ű˦पुũ निदयो ं

Ȫारा लाए गए जलोढ़ िनƗेपो ंसे Šआ है। 
●  उȅर से दिƗण तक, इɎŐ तीन Ůमुख Ɨेũो ंमŐ िवभािजत 

िकया जा सकता है: भाबर, तराई और जलोढ़ मैदान। 
जलोढ़ मैदानो ंको खादर और भांगर मŐ िवभािजत िकया 
जा सकता है। 

●  भाबर ढलान के टूटने पर िशवािलक तलहटी के 
समानांतर 8-10 िकमी तक की एक संकीणŊ बेʐ है। 
इसके पįरणामˢŝप, पहाड़ो ंसे आने वाली धाराएँ और 
निदयाँ चǥानो ंऔर पȈरो ंकी भारी सामŤी जमा करती 
हœ और कभी-कभी इस Ɨेũ मŐ गायब हो जाती हœ। अतः  
िवकʙ (सी) सही उȅर है। 

 
12- उȅर बी 

● अƃूबर और नवंबर के महीने लौटते Šए मानसून के 
िलए जाने जाते हœ, िजɎŐ उȅर-पूवŎ मानसून भी कहा 
जाता है। िसतंबर के अंत तक, दिƗण पिʮम मानसून 
कमजोर हो जाता है Ɛोिंक गंगा के मैदान का कम 
दबाव वाला गतŊ सूयŊ के दिƗण की ओर बढ़ने की 
ŮितिŢया मŐ दिƗण की ओर बढ़ने लगता है। िसतंबर के 
पहले सɑाह तक पिʮमी राज̾थान से मानसून वापस 
चला जाता है। यह महीने के अंत तक राज̾थान, 
गुजरात, पिʮमी गंगा के मैदान और मȯ उǄभूिम से 
हट जाता है। अतः  कथन 1 सही है। 

● लौटते Šए दिƗण पिʮम मानसून के मौसम मŐ साफ 
आसमान और तापमान मŐ वृİȠ होती है। ज़मीन अभी भी 
नम है. उǄ तापमान और आūŊता की İ̾थित के कारण, 
मौसम काफी दमनकारी हो जाता है। इसे आमतौर पर 
"अƃूबर गमŎ" के ŝप मŐ जाना जाता है। बादल 
आवरण की कमी के कारण तापमान की दैिनक सीमा 
बढ़ जाती है। अƃूबर के दूसरे पखवाड़े मŐ पारा तेजी से 
िगरना शुŝ हो जाता है, खासकर उȅर भारत मŐ। लौटते 
Šए मानसून के दौरान उȅर भारत मŐ मौसम शुʺ रहता 
है लेिकन यह ŮायȪीप के पूवŎ िहˣे मŐ बाįरश से जुड़ा 
होता है। अतः  कथन 3 सही है। 

●  इस मौसम मŐ ʩापक बाįरश चŢवाती अवसादो ं के 
पाįरत होने से जुड़ी है जो अंडमान सागर के ऊपर 
उȋɄ होते हœ और दिƗणी ŮायȪीप के पूवŎ तट को पार 
करने मŐ कामयाब होते हœ। ये उˁकिटबंधीय चŢवात 
बŠत िवनाशकारी होते हœ। गोदावरी, कृˁा और कावेरी 
के घनी आबादी वाले डेʐा उनके पसंदीदा लƙ हœ। 
कोरोमंडल तट की अिधकांश वषाŊ इन अवसादो ं और 
चŢवातो ंसे Ůाɑ होती है। अरब सागर मŐ ऐसे चŢवाती 
तूफान कम आते हœ। अतः  कथन 2 सही नही ंहै। 
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13. Answer B 

● Since fronts can be formed on both land and 
sea, extratropical cyclones can also be formed 
on land and sea as their occurrence requires 
the formation of fronts. Hence statement 1 is 
correct. 

●  Under the influence of westerlies, the 
extratropical cyclones move in the west to east 
direction. Hence statement 2 is not correct. 

●  The pattern of wind direction in extratropical 
cyclones is anticlockwise in the northern 
hemisphere and clockwise in the southern 
hemisphere. Hence, statement 3 is correct. 

 

14. Answer A 

● The Savanna or Sudan Climate is a 
transitional type of climate found between the 
equatorial forest and the trade wind hot 
deserts. It is confined within the tropics and is 
best developed in Sudan. 

●  There are two distinct seasons consisting of a 
wet and a dry season. The wet season comes 
during the summer period while the dry 
season comes during the winter. Hence 
statement 2 is correct. 

● The mean high temperature throughout the 
year is between 24°C and 27° C. The annual 
range of temperature is between 3°C and 8°C, 
but the range increases as one moves further 
away from the equator. The extreme diurnal 
range of temperature (the difference between 
day and night time temperatures) is 
characteristic of the Savanna type of climate. 
Hence statement 1 is not correct. 

 

 
 

 
 

13- उȅर बी 
● चँूिक वाताŤ भूिम और समुū दोनो ं पर बन सकते हœ, 

अितįरƅ उˁकिटबंधीय चŢवात भी भूिम और समुū 
पर बन सकते हœ Ɛोिंक उनकी घटना के िलए वाताŤो ं
के िनमाŊण की आवʴकता होती है। अतः  कथन 1 सही 
है। 

● पिʮमी हवाओ ं के Ůभाव मŐ, अितįरƅ उˁकिटबंधीय 
चŢवात पिʮम से पूवŊ िदशा मŐ चलते हœ। इसिलए कथन 
2 सही नही ंहै। 

● अितįरƅ उˁकिटबंधीय चŢवातो ं मŐ हवा की िदशा 
का पैटनŊ उȅरी गोलाधŊ मŐ वामावतŊ और दिƗणी गोलाधŊ 
मŐ दिƗणावतŊ होता है। अतः , कथन 3 सही है। 

 
14- उȅर ए 

● सवाना या सूडान जलवायु एक संŢमणकालीन Ůकार 
की जलवायु है जो भूमȯरेखीय वन और ʩापाįरक 
पवन गमŊ रेिगˑानो ं के बीच पाई जाती है। यह 
उˁकिटबंधीय Ɨेũ तक ही सीिमत है और सूडान मŐ 
सबसे अǅा िवकिसत Šआ है। 

●  दो अलग-अलग मौसम होते हœ िजनमŐ एक गीला और 
एक सूखा मौसम शािमल होता है। गीला मौसम गमŎ की 
अविध के दौरान आता है जबिक शुʺ मौसम सिदŊयो ंके 
दौरान आता है। अतः  कथन 2 सही है। 

●  पूरे वषŊ औसत उǄ तापमान 24°C और 27°C के बीच 
रहता है। तापमान की वािषŊक सीमा 3°C और 8°C के 
बीच होती है, लेिकन जैसे-जैसे कोई भूमȯ रेखा से दूर 
जाता है यह सीमा बढ़ती जाती है। तापमान की 
अȑिधक दैिनक सीमा (िदन और रात के तापमान के 
बीच का अंतर) सवाना Ůकार की जलवायु की िवशेषता 
है। अतः  कथन 1 सही नही ंहै। 
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15. Answer C 

Factors related to Location and Relief: 
●  Latitude: The tropical zone being nearer to 

the equator, experiences high temperatures 
throughout the year with small daily and 
annual ranges. Area north of the Tropic of 
Cancer being away from the equator 
experiences an extreme climate with a high 
daily and annual range of temperature. Hence 
statement 2 is correct. 

● The Himalayan Mountains: The lofty 
Himalayas in the north along with its 
extensions act as an effective climatic divide. 
The towering mountain chain provides an 
invincible shield to protect the subcontinent 
from the cold northern winds. These cold and 
chilly winds originate near the Arctic circle 
and blow across central and eastern Asia. The 
Himalayas also trap the monsoon winds, 
forcing them to shed their moisture within the 
subcontinent. Hence statement 1 is correct. 

● Distance from the Sea: Areas in the interior of 
India are far away from the moderating 
influence of the sea. Such areas have extremes 
of climate. That is why the people of Mumbai 
and the Konkan coast have hardly any idea of 
extremes of temperature and the seasonal 
rhythm of weather. On the other hand, the 
seasonal contrasts in weather at places in the 
interior of the country such as Delhi, Kanpur 
and Amritsar affect the entire sphere of life. 
Hence statement 3 is correct. 

 
16. Answer A 

● The islands of the Arabian sea include 
Lakshadweep and Minicoy. These are 
scattered between 8"N 12"N and 71"E-74°E 
longitude. These islands are located at a 
distance of 280 km-480 km of the Kerala 
coast. The entire island group is built of coral 
deposits. Hence statement I is correct.  

●  Most of the islands in the Lakshadweep are 
marked by storm beaches on the castern 
seaward shores and sandy beaches on the 
western lagoon shores. Hence statement 2 is 
correct.  

● Saddle Peak is the highest peak in the 
Andaman and Nicobar Islands which are the 
islands of the Bay of Bengal. Hence statement 
3 is not correct. 

 

15- उȅर सी 
̾थान और राहत से संबंिधत कारक: 

●  अƗांश: उˁकिटबंधीय Ɨेũ भूमȯ रेखा के िनकट होने 
के कारण, छोटे दैिनक और वािषŊक उतार-चढ़ाव के 
साथ पूरे वषŊ उǄ तापमान का अनुभव करता है। ककŊ  
रेखा के उȅर का Ɨेũ भूमȯ रेखा से दूर होने के कारण 
उǄ दैिनक और वािषŊक तापमान सीमा के साथ 
अȑिधक चरम जलवायु का अनुभव करता है। अतः  
कथन 2 सही है। 

● िहमालय पवŊत: उȅर मŐ ऊंचा िहमालय अपने िवˑार के 
साथ एक Ůभावी जलवायु िवभाजन के ŝप मŐ कायŊ 
करता है। िवशाल पवŊत ŵंृखला उपमहाȪीप को ठंडी 
उȅरी हवाओ ंसे बचाने के िलए एक अजेय ढाल Ůदान 
करती है। ये ठंडी और सदŊ  हवाएं आकŊ िटक सकŊ ल के 
पास से शुŝ होती हœ और मȯ और पूवŎ एिशया मŐ 
चलती हœ। िहमालय मानसूनी हवाओ ंको भी रोक लेता 
है, िजससे उɎŐ उपमहाȪीप के भीतर अपनी नमी खोने 
के िलए मजबूर होना पड़ता है। अतः  कथन 1 सही है। 

● समुū से दूरी: भारत के आंतįरक Ɨेũ समुū के मȯम 
Ůभाव से बŠत दूर हœ। ऐसे Ɨेũो ं मŐ जलवायु की चरम 
सीमा होती है। यही कारण है िक मंुबई और कोकंण तट 
के लोगो ं को तापमान की चरम सीमा और मौसम की 
मौसमी लय का शायद ही कोई अंदाज़ा होता है। दूसरी 
ओर, िदʟी, कानपुर और अमृतसर जैसे देश के 
अंदŝनी िहˣो ंमŐ मौसम मŐ मौसमी िवरोधाभास जीवन 
के पूरे Ɨेũ को Ůभािवत करते हœ। अतः  कथन 3 सही है। 

 
16- उȅर ए 

● अरब सागर के Ȫीपो ंमŐ लƗȪीप और िमिनकॉय शािमल 
हœ। ये 8"N 12"N और 71"E-74°E देशांतर के बीच 
िबखरे Šए हœ। ये Ȫीप केरल तट से 280 िकमी-480 
िकमी की दूरी पर İ̾थत हœ। पूरा Ȫीप समूह मंूगा भंडार 
से बना है। इसिलए कथन मœ सही šं.  

●  लƗȪीप के अिधकांश Ȫीप तटवतŎ समुū तटो ं पर 
तूफानी समुū तटो ं और पिʮमी लैगून तटो ं पर रेतीले 
समुū तटो ंȪारा िचि˥त हœ। कथन 2 सही है।  

● सैडल पीक अंडमान और िनकोबार Ȫीप समूह की 
सबसे ऊंची चोटी है जो बंगाल की खाड़ी के Ȫीप हœ। 
अतः  कथन 3 सही नही ंहै। 
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17. Answer B 
● A body of air covering a relatively wide area, 

exhibiting approximately uniform properties 
such as temperature, moisture, etc is called 
airmass. In an air mass, there is very little 
horizontal variation in temperature and 
moisture. Hence, statement 1 is correct. Hence 
statement 2 is not correct. 

● The fronts occur in middle latitudes and are 
characterized by the steep gradient in 
temperature and pressure. They bring abrupt 
changes in weather conditions such as 
temperature, pressure and cause the air to rise 
to form clouds and cause precipitation. The 
changes in weather brought by fronts are 
generally always sudden in nature due to the 
turbulence in the frontal region and their 
movement. Hence statement 3 is correct. 

 
18. Answer A 

● Bay: A bay is a small body of water or a broad 
inlet that is set off from a larger body of water 
generally where the land curves inward. In 
simple words, the bay is a water body 
surrounded on three sides by land with the 
fourth side (mouth) wide open towards oceans 
(In Gulfs, the month is nanow) Hence option 
(a) is the correct answer. 

 
19. Answer B 

● A western disturbance is an extratropical 
storm originating in the Mediterranean region 
that brings sudden winter rain to the northern 
parts of the Indian subcontinent. The moisture 
in Western Disturbances usually originate 
over the Mediterranean Sea, the Caspian Sea, 
and the Black Sea. Hence statement 1 is not 
correct and statement 3 is correct. 

●  An increase in the prevailing night 
temperature generally indicates an advance in 
the arrival of the western cyclonic 
disturbances. Hence statement 4 is not correct. 

●  The upper air circulation in the Northern 
Indian region is dominated by a westerly flow. 
An important component of this flow is the jet 
stream. These jet streams are located 
approximately over 27°-30° north latitude, 
therefore, they are known as subtropical 
westerly jet streams. Over India, these jet 
streams blow south of the Himalayas, all 
through the year except in summer. The 
western cyclonic disturbances experienced in 
the north and north-western parts of the 
country are brought in by this westerly flow. 
Hence statement 2 is correct. 

 

17- उȅर बी 
● अपेƗाकृत िवˑृत Ɨेũ को कवर करने वाली हवा का 

एक िपंड, जो तापमान, नमी आिद जैसे लगभग समान 
गुण ŮदिशŊत करता है, वायु ūʩमान कहलाता है। िकसी 
वायुरािश मŐ तापमान और नमी मŐ Ɨैितज िभɄता बŠत 
कम होती है। अतः , कथन 1 सही है। अतः  कथन 2 सही 
नही ंहै। 

● अŤभाग मȯ अƗांशो ं मŐ होते हœ और तापमान और 
दबाव मŐ तीŴ ढाल की िवशेषता रखते हœ। वे मौसम की 
İ̾थितयो ंजैसे तापमान, दबाव मŐ अचानक बदलाव लाते 
हœ और हवा को ऊपर उठाकर बादल बनाते हœ और वषाŊ 
का कारण बनते हœ। वाताŤो ं Ȫारा लाए गए मौसम मŐ 
पįरवतŊन आम तौर पर वाताŤ Ɨेũ मŐ अशांित और 
उनकी गित के कारण हमेशा अचानक Ůकृित के होते 
हœ। अतः  कथन 3 सही है। 

 
18- उȅर ए 

खाड़ी: खाड़ी पानी का एक छोटा भंडार या एक िवˑृत Ůवेश 
Ȫार है जो आम तौर पर पानी के एक बड़े भंडार से िनकलता 
है जहां भूिम अंदर की ओर झुकती है। सरल शɨो ंमŐ, खाड़ी 
एक जल िनकाय है जो तीन तरफ से भूिम से िघरा Šआ है 
और चौथा पƗ (मंुह) महासागरो ंकी ओर खुला है (खाड़ी मŐ, 
महीना नैनो है) हेनर िवकʙ (ए) सही उȅर है। 

 
19- उȅर बी 

● पिʮमी िवƗोभ भूमȯसागरीय Ɨेũ मŐ उȋɄ होने वाला 
एक अितįरƅ उˁकिटबंधीय तूफान है जो भारतीय 
उपमहाȪीप के उȅरी भागो ं मŐ अचानक शीतकालीन 
वषाŊ लाता है। पिʮमी िवƗोभ मŐ नमी आमतौर पर भूमȯ 
सागर, कैİ˙यन सागर और काला सागर के ऊपर 
उȋɄ होती है। अतः  कथन 1 सही नही ंहै और कथन 3 
सही है। 

●  Ůचिलत रात के तापमान मŐ वृİȠ आम तौर पर पिʮमी 
चŢवाती िवƗोभ के आगमन मŐ Ůगित का संकेत देती 
है। अतः  कथन 4 सही नही ंहै। 

● उȅरी भारतीय Ɨेũ मŐ ऊपरी वायु पįरसंचरण पिʮमी 
Ůवाह पर हावी है। इस Ůवाह का एक महȕपूणŊ घटक 
जेट Ōː ीम है। ये जेट Ōː ीम लगभग 27°-30° उȅरी 
अƗांश पर İ̾थत हœ, इसिलए इɎŐ उपोˁकिटबंधीय 
पिʮमी जेट Ōː ीम के ŝप मŐ जाना जाता है। भारत मŐ, ये 
जेट धाराएँ गिमŊयो ं को छोड़कर पूरे वषŊ िहमालय के 
दिƗण मŐ बहती हœ। देश के उȅर और उȅर-पिʮमी 
भागो ंमŐ अनुभव होने वाले पिʮमी चŢवाती िवƗोभ इस 
पिʮमी Ůवाह Ȫारा लाए जाते हœ। इसिलए कथन 2 सही 
है। 
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20. Answer B 

● Tropical thorn forests occur in areas that 
receive rainfall less than 50 cm. Hence, 
statement 1 is not correct. 

●  These consist of a variety of grasses and 
shrubs. This type is extensively distributed 
throughout the dry peninsular tract on the 
leeward side of the Western Ghats from south 
to north. It is important in Maharashtra, 
Andhra Pradesh, Karnataka, and Tamil Nadu. 
The type also occupies fairly large tracts over 
the semi-arid regions of Uttar Pradesh, 
Madhya Pradesh, and a major portion of semi-
arid and arid regions of Punjab, Haryana, 
Rajasthan, and north Gujarat including 
Saurashtra and Kutch. Hence, statement 3 is 
correct. 

●  In these forests, plants remain leafless for the 
most part of the year and give an expression 
of scrub vegetation. Hence, statement 2 is 
correct. 

 

21. Answer A 

● Statement 1 is incorrect: The Lipulekh pass is 
located at the trijunction of India-Tibet and 
Nepal. Lampiya dura is also located in the 
state of Uttarakhand but northern to the 
Lipulekh. 

●  Statement 2 is incorrect: Mana pass is in the 
Indian state of Uttarakhand in the Nanda Devi 
Biosphere reserve. Khangchendzonga 
Biosphere Reserve is a mixed Heritage site 
under the Man and Biosphere Programme 
located in the state of Sikkim. 

●  Statement 3 is incorrect: Palghat pass is 
located in Kerala. It is located between the 
Nilgiris in the north and the Annamalai hills to 
the south. 

●  Statement 4 is correct: Banihal Pass in 
Jammu and Kashmir is located in the Pir 
Panjal range. It is also called the Jawahar 
tunnel. It connects the Kashmir valley to the 
outer Himalayas. 

 
 

 
 

20- उȅर बी 
● उˁकिटबंधीय कांटेदार वन उन Ɨेũो ं मŐ पाए जाते हœ 

जहां 50 सेमी से कम वषाŊ होती है। इसिलए, कथन 1 
सही नही ंहै। 

●  इनमŐ िविभɄ Ůकार की घासŐ और झािड़याँ शािमल हœ। 
यह Ůकार दिƗण से उȅर तक पिʮमी घाट के िनचले 
िहˣे मŐ शुʺ ŮायȪीपीय पथ मŐ ʩापक ŝप से 
िवतįरत है। यह महारा Ō̓ , आंŬ Ůदेश, कनाŊटक और 
तिमलनाडु मŐ महȕपूणŊ है। यह Ůकार काफी बड़े भूभाग 
पर भी कɥा करता है उȅर Ůदेश, मȯ Ůदेश के अधŊ-
शुʺ Ɨेũ, और पंजाब, हįरयाणा, राज̾थान और सौरा Ō̓  
और कǅ सिहत उȅरी गुजरात के अधŊ-शुʺ और 
शुʺ Ɨेũो ंका एक बड़ा िहˣा। अतः , कथन 3 सही है। 

●  इन वनो ं मŐ पौधे वषŊ के अिधकांश समय पȅी रिहत 
रहते हœ और झाड़ीदार वन˙ित का आभास देते हœ। 
अतः , कथन 2 सही है। 

 
21- उȅर A 

● कथन 1 गलत है: िलपुलेख दराŊ भारत-ितɬत और नेपाल 
के बीच के िũ-जंƕन पर İ̾थत है। लİɼया दुरा भी 
उȅराखंड राǛ मŐ İ̾थत है, लेिकन िलपुलेख के उȅर मŐ है। 

● कथन 2 गलत है: माना दराŊ भारतीय राǛ उȅराखंड मŐ 
नंदा देवी बायो˛ीयर įरजवŊ मŐ है। कंचनजंगा बायो˛ीयर 
įरजवŊ िसİſम राǛ मŐ İ̾थत मानव और बायो˛ीयर 
कायŊŢम के तहत एक िमिŵत िवरासत ̾थल है। 

● कथन 3 गलत है: पालघाट दराŊ केरल मŐ İ̾थत है। यह 
उȅर मŐ नीलिगरी और दिƗण मŐ अɄामलाई पहािड़यो ं के 
बीच İ̾थत है। 

● कथन 4 सही है: जʃू और कʳीर मŐ बिनहाल दराŊ पीर 
पंजाल ŵेणी मŐ İ̾थत है। इसे जवाहर सुरंग भी कहा जाता है। 
यह कʳीर घाटी को बाहरी िहमालय से जोड़ता है। 
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22. Answer B 

● Statement 1 is correct: Catchment area can be 
defined as the area from where the river gets 
its water. Hence, it is located near the source 
of the river. 

●  Statement 2 is incorrect: Drainage basin of a 
river is the entire geographical area drained by 
a river including its tributaries. 

●  Statement 3 is incorrect: Drainage basin of a 
river is composed of a larger area while the 
watersheds are the small areas. The catchment 
areas of small rivulets or rills are regarded as 
the watershed. 

  

23. Answer B 

● Statement 1 is not correct: Western 
disturbances are weak temperate or Extra-
Tropical (not tropical) frontal cyclones that 
originate over the Mediterranean sea, gain 
moisture from the Caspian Sea and the Black 
Sea and cause winter rainfall in the North 
Western part of India. The Himalayas act as 
orographic barriers. 

●  Statement 2 is not correct: The subtropical 
westerly jet stream drives this low pressure 
(cyclones cannot develop in High pressure 
regions as these regions are characterized by 
subsidence of wind) system towards the east 
of the Mediterranean sea across Afghanistan, 
Pakistan and North West India. These storms 
are residual frontal cyclones which move at 
the height of 2000 meters from the mean sea 
level. 

●  Statement 3 is correct: Rabi crops during the 
winter season are greatly influenced by the 
arrival of western disturbance. It brings 
cloudiness and precipitation in many parts of 
north India during rabi season. Rabi crops, 
particularly wheat crops, down under rainfed 
conditions are greatly benefited by the arrival 
of Western Disturbances.  

 
 

 
 

22- उȅर B 
● कथन 1 सही है: जलŤहण Ɨेũ को उस Ɨेũ के ŝप मŐ 
पįरभािषत िकया जा सकता है जहाँ से नदी को पानी िमलता 
है। इसिलए, यह नदी के ŷोत के पास İ̾थत है। 

● कथन 2 गलत है: नदी का जल िनकासी बेिसन, नदी Ȫारा 
अपनी सहायक निदयो ं सिहत बहाया जाने वाला संपूणŊ 
भौगोिलक Ɨेũ है। 

● कथन 3 गलत है: नदी का जल िनकासी बेिसन एक बड़े 
Ɨेũ से बना होता है जबिक वाटरशेड छोटे Ɨेũ होते हœ। छोटी 
छोटी निदयो ंया नालो ंके जलŤहण Ɨेũो ंको वाटरशेड माना 
जाता है। 

 
23- उȅर B 

● कथन 1 सही नही ं है: पिʮमी िवƗोभ कमजोर शीतोˁ या 
अितįरƅ-उˁकिटबंधीय (उˁकिटबंधीय नही)ं ललाट 
चŢवात हœ जो भूमȯ सागर से उȋɄ होते हœ, कैİ˙यन 
सागर और काला सागर से नमी Ůाɑ करते हœ और भारत के 
उȅर पिʮमी भाग मŐ सिदŊयो ं मŐ वषाŊ करते हœ। िहमालय 
पवŊतीय अवरोधो ंके ŝप मŐ कायŊ करता है। 

● कथन 2 सही नही ं है: उपोˁकिटबंधीय पिʮमी जेट Ōː ीम 
इस िनɻ दबाव (चŢवात उǄ दबाव वाले Ɨेũो ंमŐ िवकिसत 
नही ं हो सकते Ɛोिंक इन Ɨेũो ं की िवशेषता हवा का कम 
होना है) Ůणाली को अफ़गािनˑान, पािकˑान और उȅर 
पिʮम भारत मŐ भूमȯ सागर के पूवŊ की ओर ले जाती है। ये 
तूफान अविशʼ ललाट चŢवात हœ जो औसत समुū तल से 
2000 मीटर की ऊँचाई पर चलते हœ। 

● कथन 3 सही है: सिदŊयो ं के मौसम मŐ रबी की फसलŐ 
पिʮमी िवƗोभ के आगमन से बŠत Ůभािवत होती हœ। यह 
रबी मौसम के दौरान उȅर भारत के कई िहˣो ं मŐ बादल 
और वषाŊ लाता है। पिʮमी िवƗोभ के आगमन से वषाŊ 
आधाįरत पįरİ̾थितयो ंमŐ रबी की फसलो,ं िवशेषकर गेšं की 
फसलो ंको बŠत लाभ होता है। 
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24. Answer A 

Statement 1 is correct and 2 is incorrect: 

●  An MJO is an oceanic-atmospheric 
phenomenon which affects weather activities 
across the globe. It brings major fluctuation in 
tropical weather on weekly to monthly 
timescales. 

●  The MJO can be defined as an eastward 
moving 'pulse' of clouds, rainfall, winds and 
pressure near the equator that typically recurs 
every 30 to 60 days.It’s a traversing 
phenomenon and is most prominent over the 
Indian and Pacific OceAns. 

 Statement 3 is incorrect: 

●  The Indian Ocean Dipole (IOD), El Nino and 
MJO are all oceanic and atmospheric 
phenomena, which affect weather on a large 
scale. The El-Nino is known to cause droughts 
in India. However if the periods of El Nino 
overlap with the convective phase of the 
Madden Julian oscillations, the effect of El 
Nino can be reduced to some extent especially 
in the Arabian Sea coast regions where it rains 
heavily when the MJO passes over the Indian 
Ocean. But the el Nino’s impact is felt across 
India while the madden-julian oscillation’s 
impact is limited to only some parts of India 
for a period of 30 to 60 days. Therefore, a 
complete nullification is not possible. 

 

 
 

 
 

24- उȅर A 
कथन 1 सही है और 2 गलत है: 

● MJO एक समुūी-वायुमंडलीय घटना है जो दुिनया भर मŐ 
मौसम की गितिविधयो ंको Ůभािवत करती है। यह साɑािहक 
से लेकर मािसक समय-सीमा पर उˁकिटबंधीय मौसम मŐ 
बड़े उतार-चढ़ाव लाता है। 

● एमजेओ को भूमȯ रेखा के पास बादलो,ं वषाŊ, हवाओ ंऔर 
दबाव की पूवŊ की ओर बढ़ने वाली 'पʤ' के ŝप मŐ 
पįरभािषत िकया जा सकता है जो आमतौर पर हर 30 से 60 
िदनो ंमŐ दोहराई जाती है। यह एक पारगमन घटना है और 
भारतीय और Ůशांत महासागर मŐ सबसे Ůमुख है। कथन 3 
गलत है:  

● िहंद महासागर िडपोल (IOD), एल नीनो और MJO सभी 
महासागरीय और वायुमंडलीय घटनाएं हœ, जो बड़े पैमाने पर 
मौसम को Ůभािवत करती हœ। एल-नीनो भारत मŐ सूखे का 
कारण माना जाता है। हालांिक अगर एल नीनो की अविध 
मैडेन जूिलयन दोलनो ं के संवहनी चरण के साथ ओवरलैप 
होती है, तो एल नीनो का Ůभाव कुछ हद तक कम हो सकता 
है, खासकर अरब सागर के तटीय Ɨेũो ंमŐ जहां एमजेओ के 
िहंद महासागर से गुजरने पर भारी बाįरश होती है इसिलए, 
पूणŊ िनरˑीकरण संभव नही ंहै। 
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25. Answer A 

● Statement 1 is correct: Norwesters are isolated 
rainfall and thunderstorm events which occur 
in India and Bangladesh, often with violent 
hurricane-speed winds. Typically, such storms 
originate in a low-pressure area during the 
peak summer season. The Low pressure 
intensifies when the sun beats down on the 
region.  

● Therefore, they generally occur just before 
sunset or just a few hours after it, when thick 
dark black clouds start appearing over the 
South Western sky and then bring gale-speed 
wind with torrential rain, often with hail, but 
spanning only a short period of time. 

●  Statement 2 is incorrect: Kal Baisakhi 
(Norwesters in the Gangetic Plains) originates 
over Bihar and Jharkhand area, in the chota 
nagpur plateau and moves eastwards and 
strikes West Bengal and Odisha. These are 
extremely severe in nature and take 
Chhattisgarh under its purview as well. 

● However, they are also common in Kerala, 
Tamil Nadu and coastal Karnataka. The 
Mango Showers or the CHERRY BLOSSOM 
SHOWERS of Kerala in the month of April 
and May are examples of norwesters . 

●  Statement 3 is incorrect: The rainfall in these 
storms is beneficial for pre-kharif crops grown 
in india. The tea cultivated in Assam and the 
jute and rice and tea cultivated in West Bengal 
and Bangladesh benefit from these showers. 
As a matter of fact, the reason they are named 
Mango showers or cherry blossom showers in 
the South Indian States is because they help 
and their ripening. 

 

 
 

 
 

25- उȅर A 
● कथन 1 सही है: नॉरवेːर भारत और बांƸादेश मŐ होने 
वाली अलग-अलग वषाŊ और गरज के साथ होने वाली घटनाएँ 
हœ, िजनमŐ अƛर िहंसक तूफानी हवाएँ चलती हœ। आमतौर 
पर, ऐसे तूफान गिमŊयो ंके चरम मौसम के दौरान कम दबाव 
वाले Ɨेũ मŐ उȋɄ होते हœ। जब सूरज इस Ɨेũ पर पड़ता है 
तो िनɻ दबाव तीŴ हो जाता है। 

● इसिलए, वे आम तौर पर सूयाŊˑ से ठीक पहले या उसके 
कुछ घंटो ं बाद होते हœ, जब दिƗण पिʮमी आकाश मŐ घने 
काले बादल िदखाई देने लगते हœ और िफर मूसलाधार बाįरश 
के साथ तूफानी हवा लाते हœ, अƛर ओले भी पड़ते हœ, 
लेिकन यह केवल थोड़े समय के िलए होता है। 

● कथन 2 गलत है: काल बैसाखी (गंगा के मैदानो ं मŐ 
नॉरवेːर) िबहार और झारखंड Ɨेũ मŐ, छोटा नागपुर पठार 
मŐ उȋɄ होती है और पूवŊ की ओर बढ़ती है और पिʮम 
बंगाल और ओिडशा से टकराती है। ये Ůकृित मŐ अȑंत 
गंभीर हœ और छȅीसगढ़ को भी अपने दायरे मŐ लेते हœ। 

● हालांिक, वे केरल, तिमलनाडु और तटीय कनाŊटक मŐ भी 
आम हœ। अŮैल और मई के महीने मŐ केरल मŐ होने वाली मœगो 
शावर या चेरी ɰॉसम शावर नॉरवेːर के उदाहरण हœ। 

● कथन 3 गलत है: इन तूफानो ंमŐ वषाŊ भारत मŐ उगाई जाने 
वाली खरीफ पूवŊ फसलो ं के िलए फायदेमंद है। असम मŐ 
उगाई जाने वाली चाय और पिʮम बंगाल और बांƸादेश मŐ 
उगाई जाने वाली जूट और चावल और चाय को इन वषाŊओं 
से लाभ होता है। वाˑव मŐ, दिƗण भारतीय राǛो ं मŐ इɎŐ 
मœगो शॉवसŊ या चेरी ɰॉसम शॉवसŊ नाम इसिलए िदया जाता 
है Ɛोिंक ये फलो ंको पकने मŐ मदद करते हœ। 
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26. Answer D 

● Statement 1 is Incorrect : Tamil Nadu Coast 
(South-East) receives heavy rains 
accompanied by stormy winds in the winter 
sometimes causing great damages to the crops 
and disrupting the means of transport. Rainfall 
comes from the North East Monsoon and the 
Bay of Bengal Branch of Indian Monsoon as it 
flows parallel to the coast. 

●  Statement 2 is Incorrect : North West region 
of India including Punjab, Haryana, Jammu 
and Kashmir , Himachal Pradesh , Northern 
Rajasthan and western Uttar Pradesh receive 
moderate to heavy rainfall due to westerly 
depression or western disturbances coming 
from Mediterranean sea. It is beneficial for 
Early ripening of Rabi crops, especially 
Wheat. Himalaya receives a considerable 
amount of snowfall in winter. 

 

27. Answer A 

● Statement 1 is correct : Karnataka’s Mountain 
topography is broader than Maharashtra. 
Greater Mountain width makes Rain clouds 
travel a longer distance and hence more time 
for water to coalesce and precipitate as 
rainfall. Compared to this, Narrower width of 
Western Ghats in Maharashtra causes Rain 
bearing winds to cross over to the leeward 
side quickly before rainfall can occur. 

●  Statement 2 is Incorrect : Arabian sea branch 
of Indian South west monsoon strikes the 
coast of Mumbai. Moving along the Narmada 
and Tapi valleys, these winds cause rainfall in 
extensive areas of central India. The 
Chotanagpur Plateau receives a miniscule 15 
cm rainfall from Arabian sea branch. 
Thereafter they enter Ganga plains and mingle 
with the Bay of Bengal Branch. 

●  Statement 3 is correct : Tamil Nadu coast 
situated parallel to the Bay of Bengal Branch 
of South-west monsoon. It lies in the 
rainshadow area of the Arabian sea branch of 
the South west Monsoon. Rainfall comes from 
North East Monsoon and Not Bay of Bengal 
Branch of Indian Monsoon. 

 
 

26- उȅर D 
● कथन 1 गलत है: तिमलनाडु तट (दिƗण-पूवŊ) मŐ सिदŊयो ंमŐ 
तूफानी हवाओ ंके साथ भारी बाįरश होती है, िजससे कभी-
कभी फसलो ं को बŠत नुकसान होता है और पįरवहन के 
साधन बािधत होते हœ। बाįरश उȅर पूवŎ मानसून और 
भारतीय मानसून की बंगाल की खाड़ी शाखा से होती है 
Ɛोिंक यह तट के समानांतर बहती है।  

● कथन 2 गलत है: पंजाब, हįरयाणा, जʃू और कʳीर, 
िहमाचल Ůदेश, उȅरी राज̾थान और पिʮमी उȅर Ůदेश 
सिहत भारत के उȅर पिʮमी Ɨेũ मŐ भूमȯ सागर से आने 
वाले पिʮमी अवसाद या पिʮमी िवƗोभ के कारण मȯम से 
भारी वषाŊ होती है। यह रबी की फसलो,ं िवशेष ŝप से गेšं के 
जʗी पकने के िलए फायदेमंद है। िहमालय मŐ सिदŊयो ं मŐ 
काफी माũा मŐ बफŊ बारी होती है। 

 
27- उȅर A 

● कथन 1 सही है: कनाŊटक की पवŊतीय ̾थलाकृित महारा Ō̓  
की तुलना मŐ ʩापक है। पहाड़ो ंकी अिधक चौड़ाई के कारण 
वषाŊ के बादल अिधक दूरी तय करते हœ और इसिलए पानी 
को एकिũत होने और वषाŊ के ŝप मŐ अवƗेिपत होने मŐ 
अिधक समय लगता है। इसकी तुलना मŐ, महारा Ō̓  मŐ पिʮमी 
घाट की संकीणŊ चौड़ाई के कारण वषाŊ होने से पहले ही वषाŊ 
करने वाली हवाएँ हवा के िवपरीत िदशा मŐ चली जाती हœ। 

● कथन 2 गलत है: भारतीय दिƗण-पिʮम मानसून की अरब 
सागर शाखा मंुबई के तट पर आती है। नमŊदा और तापी 
घािटयो ं के साथ आगे बढ़ते Šए, ये हवाएँ मȯ भारत के 
ʩापक Ɨेũो ंमŐ वषाŊ करती हœ। छोटानागपुर पठार को अरब 
सागर शाखा से 15 सेमी की मामूली वषाŊ Ůाɑ होती है। 
इसके बाद वे गंगा के मैदानो ंमŐ Ůवेश करते हœ और बंगाल 
की खाड़ी शाखा के साथ िमल जाते हœ। 

● कथन 3 सही है: तिमलनाडु तट दिƗण-पिʮम मानसून की 
बंगाल की खाड़ी शाखा के समानांतर İ̾थत है। यह दिƗण-
पिʮम मानसून की अरब सागर शाखा के वषाŊ Ɨेũ मŐ İ̾थत 
है। वषाŊ उȅर-पूवŎ मानसून से होती है, न िक भारतीय 
मानसून की बंगाल की खाड़ी शाखा से। 
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28. Answer D 

● Statement 1 is Incorrect : India receives 
rainfall during two seasons. About 75 percent 
of the country’s annual rainfall is received 
from the Southwest monsoon between June 
and September. North- East Monsoon occurs 
during October to December, and is confined 
to the Southern peninsula. It is also called the 
winter monsoon and it is important for Tamil 
Nadu, Puducherry, coastal Andhra Pradesh 
etc. 

●  Statement 2 is Incorrect : North- East 
Monsoon Winds characterized pleasant 
seasons with low temperature and low 
humidity and clear skies. They do not give 
extreme rain to any part of India except Tamil 
Nadu Coast.On the Other hand, Retreating 
South West monsoon winds are characterized 
by Oppressive heat and humidity known as 
“October Heat”. 

 

29. Answer C 

● Statement 1 is correct: The Savanna are the 
tropical grasslands characterized by a distinct 
wet and dry season. They are most developed 
in Sudan and hence also called the Sudan 
climate.  

● They are found in West African Sudan, 
Eastern Africa, and the southern parts of 
Africa above the tropic of Capricorn. There 
are two distinct regions of Savanna both North 
and South of the equator in South America. 
Llanos are found near Orinoco basin whereas 
Campos are found in the Brazilian highlands. 

● Statement 2 is incorrect: The dominant winds 
in the Savanna regions are the Trade winds 
which bring rainfall to the coastal districts of 
these areas. 

 

 
 

 
 

28- उȅर D 
● कथन 1 गलत है: भारत मŐ दो मौसमो ंमŐ वषाŊ होती है। देश 
की वािषŊक वषाŊ का लगभग 75 Ůितशत जून और िसतंबर के 
बीच दिƗण-पिʮम मानसून से Ůाɑ होता है इसे शीतकालीन 
मानसून भी कहा जाता है और यह तिमलनाडु, पुडुचेरी, 
तटीय आंŬ Ůदेश आिद के िलए महȕपूणŊ है। 

● कथन 2 गलत है: उȅर-पूवŎ मानसूनी हवाएँ कम तापमान 
और कम आūŊता और साफ आसमान के साथ सुखद मौसम 
की िवशेषता रखती हœ। वे तिमलनाडु तट को छोड़कर भारत 
के िकसी भी िहˣे मŐ अȑिधक बाįरश नही ं देते हœ। दूसरी 
ओर, पीछे हटने वाली दिƗण-पिʮम मानसूनी हवाएँ 
दमनकारी गमŎ और आūŊता की िवशेषता रखती हœ िजसे 
"अƃूबर हीट" के ŝप मŐ जाना जाता है। 

 
29- उȅर C 

● कथन 1 सही है: सवाना उˁकिटबंधीय घास के मैदान हœ 
िजनकी िवशेषता एक अलग गीला और शुʺ मौसम है। वे 
सूडान मŐ सबसे अिधक िवकिसत हœ और इसिलए उɎŐ सूडान 
जलवायु भी कहा जाता है। 

● वे पिʮमी अůीकी सूडान, पूवŎ अůीका और मकर रेखा 
के ऊपर अůीका के दिƗणी भागो ंमŐ पाए जाते हœ। दिƗण 
अमेįरका मŐ भूमȯ रेखा के उȅर और दिƗण मŐ सवाना के 
दो अलग-अलग Ɨेũ हœ। लानोस ओįरनोको बेिसन के पास 
पाए जाते हœ जबिक कैɼोस Űाजील के हाइलœड्स मŐ पाए 
जाते हœ। 

● कथन 2 गलत है: सवाना Ɨेũो ंमŐ Ůमुख हवाएँ ʩापाįरक 
हवाएँ हœ जो इन Ɨेũो ंके तटीय िजलो ंमŐ वषाŊ लाती हœ। 
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30. Answer C 

● Option A is incorrect: Omega block is a high-
pressure pattern that blocks and diverts jet 
streams. 

● Option B is incorrect: When an omega shaped 
wave is present on the jet stream which arcs 
over Europe, warm dry air from southern 
Europe and Africa can be pulled north, 
pushing temperatures higher than normal. 

● Option C is correct: An important 
consequence of this phenomena is formation 
of Spanish plume, in which very warm air 
moving northwards from Spain towards the 
UK rises and leads to formation of 
cumulonimbus clouds and heavy rainfall. 

 

31. Answer C 

Continental Shelf 

●  The continental shelf is the extended margin 
of each continent occupied by relatively 
shallow seas and gulfs. It is the shallowest 
part of the ocean showing an average gradient 
of 1° or even less. The shelf typically ends at a 
very steep slope, called the shelf break. Hence 
statement 1 is correct. 

●  The width of the continental shelves vary 
from one ocean to another. The average width 
of continental shelves is about 80 km. The 
shelves are almost absent or very narrow 
along some of the margins like the coasts of 
Chile, the west coast of Sumatra, etc. On the 
contrary, the Siberian shelf in the Arctic 
Ocean, the largest in the world, stretches to 
1,500 km in width. Hence statement 2 is 
correct. 

●  The continental shelves are of great 
geographic significance. Their shallowness 
enables sunlight to penetrate through the 
water. It encourages the growth of planktons 
on which many surface and bottom feeding 
fishes thrive. The continental shelves are 
therefore home to the world's richest fishing 
grounds. E.g.: Grand Banks of Newfoundland. 
Hence statement 3 is correct. 

 
 

 
 

30- उȅर C 
● िवकʙ A गलत है: ओमेगा ɰॉक एक उǄ दबाव वाला 
पैटनŊ है जो जेट धाराओ ंको अवŜȠ और मोड़ देता है। 

● िवकʙ बी गलत है: जब यूरोप के ऊपर जेट Ōː ीम पर एक 
ओमेगा आकार की लहर मौजूद होती है, तो दिƗणी यूरोप 
और अůीका से गमŊ शुʺ हवा उȅर की ओर खीचंी जा 
सकती है, िजससे तापमान सामाɊ से अिधक हो जाता है। 

● िवकʙ सी सही है: इस घटना का एक महȕपूणŊ पįरणाम 
˙ेिनश ɘम का िनमाŊण है, िजसमŐ ˙ेन से यूके की ओर 
उȅर की ओर बढ़ने वाली बŠत गमŊ हवा ऊपर उठती है और 
Ɛूʄलोिनɾस बादलो ंऔर भारी वषाŊ का िनमाŊण करती है। 

 
31- उȅर सी 

महाȪीपीय शेʚ 

●  महाȪीपीय शेʚ अपेƗाकृत उथले समुūो ं और 

खािड़यो ं Ȫारा ʩाɑ Ůȑेक महाȪीप का िवˑाįरत 

मािजŊन है। यह समुū का सबसे उथला िहˣा है, 

िजसका औसत ढाल 1° या उससे भी कम है। शेʚ 

आमतौर पर बŠत तीŴ ढलान पर समाɑ होता है, िजसे 

शेʚ Űेक कहा जाता है। अतः  कथन 1 सही है। 

●  महाȪीपीय शेʚ की चौड़ाई एक महासागर से दूसरे 

महासागर तक िभɄ-िभɄ होती है। महाȪीपीय शेʚ की 

औसत चौड़ाई लगभग 80 िकमी है। िचली के तटो,ं 

सुमाũा के पिʮमी तट आिद जैसे कुछ िकनारो ंपर शेʚ 

लगभग अनुपİ̾थत हœ या बŠत संकीणŊ हœ। इसके 
िवपरीत, आकŊ िटक महासागर मŐ साइबेįरयाई शेʚ, जो 

दुिनया मŐ सबसे बड़ा है, 1,500 िकमी तक फैला Šआ 

है। चौड़ाई। अतः  कथन 2 सही है। 

●  महाȪीपीय शेʚ का भौगोिलक महȕ बŠत अिधक 

है। उनका उथलापन सूयŊ के Ůकाश को पानी मŐ Ůवेश 

करने मŐ सƗम बनाता है। यह ɘवक के िवकास को 

ŮोȖािहत करता है िजस पर कई सतह और तल पर 

भोजन करने वाली मछिलयाँ पनपती हœ। इसिलए 

महाȪीपीय शेʚ दुिनया के सबसे समृȠ मछली 

पकड़ने के मैदानो ं का घर हœ। जैसे: Ɋूफ़ाउंडलœड के 

Ťœड बœक। अतः  कथन 3 सही है। 
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32. Answer C 

● The precipitation in the form of water is called 
rainfall. When the temperature is lower than 0 
degrees Celcius and the precipitation takes 
place in the form of fine flakes of snow it is 
called snowfall. In this, the moisture is 
released in the form of hexagonal crystals and 
these crystals form flakes of snow. 

● Sleet is frozen raindrops and refrozen melted 
snow-water. When a layer of air with a 
temperature above freezing point overlies a 
sub freezing layer near the ground, 
precipitation takes place in the form of sleet. 
Raindrops, which leave the warmer air, 
encounter the colder air below and reach the 
ground as small pellets of ice not bigger than 
raindrops. 

● Hailstones formed by the rainwater passing 
through the colder layers become solidified 
into small rounded solid pieces of ice. They 
have several concentric layers of ice one over 
the other. 

 

33. Answer B 

● Statement 1 is not correct: Black soil covers 
most of the Deccan Plateau which includes 
parts of Maharashtra, Madhya Pradesh, 
Gujarat, Andhra Pradesh and some parts of 
Tamil Nadu. 

● Statement 3 is correct: In the upper reaches of 
the Godavari and the Krishna, and the 
northwestern part of the Deccan Plateau, the 
black soil is very deep. These soils are also 
known as the ‘Regur Soil’ or the ‘Black 
Cotton Soil’. 

●  Statement 2 is correct: The black soils are 
generally clayey, deep and impermeable. They 
swell and become sticky when wet and shrink 
when dried. So, during the dry season, these 
soil develop wide cracks. 

● Thus, there occurs a kind of ‘self ploughing’. 
Because of this character of slow absorption 
and loss of moisture, the black soil retains the 
moisture for a very long time, which helps the 
crops, especially the rain fed ones, to sustain 
even during the dry season. 
 

 

32- उȅर सी 
● जल के ŝप मŐ होने वाले अवƗेपण को वषाŊ कहते हœ। 

जब तापमान 0 िडŤी सेİʤयस से कम होता है और वषाŊ 

बफŊ  के बारीक टुकड़ो ं के ŝप मŐ होती है तो इसे 

बफŊ बारी कहा जाता है। इसमŐ नमी षटकोणीय िŢːल 

के ŝप मŐ िनकलती है और ये िŢːल बफŊ  के टुकड़े 

बनाते हœ। 

●  ओलावृिʼ जमी Šई वषाŊ की बंूदŐ  और िफर से जमा Šआ 
िपघला Šआ बफŊ  का पानी है। जब िहमांक िबंदु से ऊपर 

तापमान वाली हवा की एक परत जमीन के पास एक 

उप िहमांक परत के ऊपर होती है, तो ओलावृिʼ के 

ŝप मŐ वषाŊ होती है। बाįरश की बंूदŐ , जो गमŊ हवा को 

छोड़ती हœ, नीचे ठंडी हवा का सामना करती हœ और बफŊ  

की छोटी गोिलयो ं के ŝप मŐ जमीन पर पŠंचती हœ, जो 

बाįरश की बंूदो ंसे बड़ी नही ंहोती हœ। 

● बाįरश के पानी के ठंडी परतो ं से गुजरने से बने ओले 

बफŊ  के छोटे गोल ठोस टुकड़ो ंमŐ बदल जाते हœ। इनमŐ 

एक के ऊपर एक बफŊ  की कई संकŐ िūत परतŐ होती हœ 
 

33- उȅर बी 
● कथन 1 सही नही ं है: काली िमǥी दſन के अिधकांश 

पठार को कवर करती है िजसमŐ महारा Ō̓ , मȯ Ůदेश, 

गुजरात, आंŬ Ůदेश और तिमलनाडु के कुछ िहˣे 

शािमल हœ। 

● कथन 3 सही है: गोदावरी और कृˁा की ऊपरी पŠंच 

और दſन पठार के उȅर-पिʮमी भाग मŐ, काली िमǥी 

बŠत गहरी है। इन िमǥी को 'रेगुर िमǥी' या 'काली 

कपास िमǥी' के नाम से भी जाना जाता है। 

●  कथन 2 सही है: काली िमǥी आम तौर पर िचकनी, 

गहरी और अभेȨ होती है। गीले होने पर वे फूल जाते हœ 

और िचपिचपे हो जाते हœ और सूखने पर िसकुड़ जाते हœ। 

इसिलए, शुʺ मौसम के दौरान, इन िमǥी मŐ चौड़ी दरारŐ  

िवकिसत हो जाती हœ। 

● इस Ůकार, एक Ůकार की 'ˢयं जुताई' होती है। धीमी 

गित से अवशोषण और नमी की हािन के इस चįरũ के 
कारण, काली िमǥी बŠत लंबे समय तक नमी बरकरार 

रखती है, िजससे फसलो,ं िवशेष ŝप से वषाŊ आधाįरत 

फसलो ं को शुʺ मौसम के दौरान भी िटके रहने मŐ 

मदद िमलती है। 
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34. Answer C 

● Near the equator, the tropics receive the most 
rain on a consistent basis. As a result, the 
fresh water falling into the ocean helps 
decrease the salinity of the surface water in 
that region. Hence salinity is lower than the 
average 35 ppt (parts per thousand) in 
equatorial waters. 

● The lower salinity water rests above the 
higher salinity dense water. Salinity, 
generally, increases with depth and there is a 
distinct zone called the halocline, where 
salinity increases sharply. Other factors being 
constant, increasing salinity of seawater 
causes its density to increase. High salinity 
seawater, generally, sinks below the lower 
salinity water. This leads to stratification by 
salinity. 

● Sea water contains a large amount of 
dissolved mineral matter of which Sodium 
Chloride alone constitutes more 77 percent. 
The other important compounds include 
magnesium, calcium, potassium salts. Hence 
option (c) is the correct answer. 

 

35. Answer C 

The Himalayan Mountains form the northern 
mountain region of India. 
● They are the highest mountain ranges in the 

world. 
● These mountain ranges start from Pamir Knot 

in the west and extend up to Purvanchal in the 
east. 

● These are the youngest folded & loftiest 
mountain ranges of the world. Hence, 
statement 2 is correct. 

● They are formed by tectonic forces (due to 
continent-continent collision between the 
Indian Plate and the Eurasian Plate) & are 
2400 Km in length. Hence, statement 1 is 
correct. 

● They are of varying width → from 400 Km in 
Kashmir to 160 Km Arunachal Pradesh 

● Altitudinal variations are greater in the eastern 
part than in the western part. 

● Prominent Features → Highest peaks, Deep 
valleys & Gorges, Glaciers, etc. 

● There are no volcanoes in the Himalayan 
region. Hence, statement 3 is correct. 

34- उȅर सी 
● भूमȯ रेखा के पास, उˁकिटबंधीय Ɨेũो ं मŐ लगातार 

सबसे अिधक वषाŊ होती है। पįरणामˢŝप, समुū मŐ 
िगरने वाला ताज़ा पानी उस Ɨेũ मŐ सतही जल की 
लवणता को कम करने मŐ मदद करता है। इसिलए 
भूमȯरेखीय जल मŐ लवणता औसत 35 पीपीटी (Ůित 
हजार भाग) से कम है। 

● कम लवणता वाला पानी उǄ लवणता वाले घने पानी के 
ऊपर रहता है। लवणता, आम तौर पर, गहराई के साथ 
बढ़ती है और एक अलग Ɨेũ होता है िजसे हेलोकलाइन 
कहा जाता है, जहां लवणता तेजी से बढ़ती है। अɊ 
कारक İ̾थर होने के कारण समुūी जल की बढ़ती 
लवणता के कारण उसका घनȕ बढ़ जाता है। उǄ 
लवणता वाला समुūी जल, आम तौर पर, कम लवणता 
वाले पानी से नीचे डूब जाता है। इससे लवणता Ȫारा 
ˑरीकरण होता है। 

● समुū के पानी मŐ बड़ी माũा मŐ घुले Šए खिनज पदाथŊ 
होते हœ िजनमŐ से अकेले सोिडयम Ƒोराइड 77 Ůितशत 
से अिधक होता है। अɊ महȕपूणŊ यौिगको ं मŐ 
मैưीिशयम, कैİ̵शयम, पोटेिशयम लवण शािमल हœ। 
अतः  िवकʙ (सी) सही उȅर है। 

 
35- उȅर सी 

िहमालय पवŊत भारत के उȅरी पवŊतीय Ɨेũ का िनमाŊण करता 
है। 
●  ये दुिनया की सबसे ऊंची पवŊत ŵंृखलाएं हœ। 
●  ये पवŊत ŵंृखलाएं पिʮम मŐ पामीर नॉट से Ůारंभ होकर 

पूवŊ मŐ पूवाōचल तक फैली Šई हœ। 
●  ये दुिनया की सबसे नई मुड़ी Šई और सबसे ऊंची पवŊत 

ŵंृखलाएं हœ। अतः , कथन 2 सही है। 
● वे टेƃोिनक बलो ं(भारतीय ɘेट और यूरेिशयन ɘेट के 

बीच महाȪीप-महाȪीप टकराव के कारण) Ȫारा गिठत 
होते हœ और 2400 िकमी लंबे होते हœ। अतः , कथन 1 
सही है। 

●  इनकी चौड़ाई अलग-अलग है → कʳीर मŐ 400 
िकलोमीटर से लेकर अŜणाचल Ůदेश मŐ 160 
िकलोमीटर तक 

●  पिʮमी भाग की तुलना मŐ पूवŎ भाग मŐ ऊंचाई संबंधी 
िविवधताएँ अिधक हœ। 

● Ůमुख िवशेषताएँ → सबसे ऊँची चोिटयाँ, गहरी घािटयाँ 
और घािटयाँ, Ƹेिशयर, आिद। 

●  िहमालय Ɨेũ मŐ कोई ǜालामुखी नही ंहœ। अतः , कथन 
3 सही है। 
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36. Answer A 

● Statement 1 is correct: The entire process of 
convection currents is based on heat generated 
by radioactive materials in the substratum 
(now mantle), however numerous scientists 
have questioned whether the needed amount 
of heat generated by radioactive elements is 
available. 

●  Statement 2 is incorrect: Convective currents 
may not be formed if heat is insufficient, and 
so the entire mechanism and working of the 
theory will be impossible. It’s also worth 
noting that rising currents condense their heat 
into the crust. 

●  Statement 3 is incorrect: Arthur Holmes in 
the 1930s discussed the possibility of 
convection currents in the mantle. These 
currents are generated due to radioactive 
elements causing thermal differences in the 
mantle. 

 

37. Answer D 

Lidar 

●  Lidar, which stands for Light Detection and 
Ranging, is a remote sensing method that uses 
light in the form of a pulsed laser to measure 
ranges (variable distances) to the Earth. These 
light pulses—combined with other data 
recorded by the airborne system generate 
precise, three-dimensional information about 
the shape of the Earth and its surface 
characteristics. 

●  Two types of lidar are topographic and 
bathymetric. Topographic lidar typically uses 
a near-infrared laser to map the land, while 
bathymetric lidar uses water-penetrating green 
light to also measure seafloor and riverbed 
elevations. 

 

 
 

 
 

36- उȅर ए 
● कथन 1 सही है: संवहन धाराओ ं की पूरी ŮिŢया 

सɵटŌ ेटम (अब मŐटल) मŐ रेिडयोधमŎ सामिŤयो ं Ȫारा 

उȋɄ गमŎ पर आधाįरत है, हालांिक कई वैǒािनको ं ने 

सवाल उठाया है िक Ɛा रेिडयोधमŎ तȕो ंȪारा उȋɄ 

गमŎ की आवʴक माũा उपलɩ है। 

●  कथन 2 गलत है: यिद गमŎ अपयाŊɑ है तो संवहन 

धाराएँ नही ं बन सकती हœ, और इसिलए िसȠांत का 
संपूणŊ तंũ और कायŊ असंभव होगा। यह भी ȯान देने 

योƶ है िक बढ़ती धाराएँ अपनी गमŎ को भूपपŊटी मŐ 

संघिनत कर देती हœ। 

●  कथन 3 गलत है: आथŊर होʈ ने 1930 के दशक मŐ 

मŐटल मŐ संवहन धाराओ ंकी संभावना पर चचाŊ की थी। 

ये धाराएं रेिडयोधमŎ तȕो ंके कारण उȋɄ होती हœ जो 

मŐटल मŐ थमŊल अंतर पैदा करती हœ। 
 

37- उȅर डी 
िलडार 
●  िलडार, जो लाइट िडटेƕन एंड रŐ िजंग के िलए खड़ा है, 

एक įरमोट सŐिसंग िविध है जो पृțी पर रŐज (पįरवतŊनीय 
दूरी) को मापने के िलए ˙ंिदत लेजर के ŝप मŐ Ůकाश 
का उपयोग करती है। ये Ůकाश ˙ंदन-हवाई Ůणाली 
Ȫारा दजŊ िकए गए अɊ डेटा के साथ िमलकर पृțी के 
आकार और इसकी सतह की िवशेषताओ ं के बारे मŐ 
सटीक, िũ-आयामी जानकारी उȋɄ करते हœ। 

●  िलडार दो Ůकार के होते हœ ̾थलाकृितक और 
बाथमीिटŌ क। ̾थलाकृितक िलडार आमतौर पर भूिम का 
मानिचũण करने के िलए िनकट-अवरƅ लेजर का 
उपयोग करता है, जबिक बाथमीिटŌ क िलडार समुū तल 
और नदी तल की ऊंचाई को मापने के िलए पानी मŐ 
Ůवेश करने वाली हरी रोशनी का भी उपयोग करता है। 
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38. Answer A 

● Statement 2 is incorrect: A smaller number of 
transform faults cut continental lithosphere 
e.g., San Andreas Fault Zone and East African 
Rift Valley. 

●  Statement 3 is incorrect: A Strike-Slip Fault 
is not a Transform Fault. 

Transform boundary:  

 A transform boundary occurs when two tectonic 
plates move past one another. Shear stress 
operates at transform boundaries, which involves 
sliding motion. No lithosphere is destroyed or 
created, and mountain chains are not built to 
transform boundaries. 

 

39. Answer B 

● Statement 1 is correct: Silicates are present in 
both sial and sima. They are the most 
abundant rocks and minerals in the crust. 

●  Statement 2 is correct: The granitic layer 
(continental crust) is referred to as sial, while 
the basaltic layer (oceanic crust) is referred to 
as sima.  

●  Statement 3 is incorrect: The transition zone 
between these two types of crust is called the 
Conrad discontinuity. 

●  Statement 4 is incorrect: Cratons are the 
oldest and most stable part of the continental 
lithosphere. 

 

40. Answer C 

Triple Junctions   

● Seafloor spreading and rift valleys are 
common features at “triple junctions.” Triple 
junctions are the intersection of three 
divergent plate boundaries.  

● The triple junction is the central point where 
three cracks (boundaries) split off at about 
120° angles from each other. 

●  In the Afar Triple Junction, the African, Somali, 
and Arabian plates are splitting from each other. 
The Great Rift Valley and Red Sea (a major site of 
seafloor spreading) are the result of plate tectonics 
in the Afar Triple Junction. 

38- उȅर ए 
● कथन 2 गलत है: कम संƥा मŐ पįरवतŊन दोष 

महाȪीपीय ̾थलमंडल को काटते हœ, उदाहरण के िलए, 

सैन एंिडŌ यास फ़ॉʐ ज़ोन और पूवŎ अŽीकी įरɝ वैली। 

●  कथन 3 ग़लत है: Ōː ाइक-İˠप फ़ॉʐ टŌ ांसफ़ॉमŊ फ़ॉʐ 

नही ंहै। 

पįरवतŊन सीमा:  

●  पįरवतŊन सीमा तब होती है जब दो टेƃोिनक ɘेटŐ एक 

दूसरे से आगे बढ़ती हœ। कतरनी तनाव पįरवतŊन 
सीमाओ ं पर संचािलत होता है, िजसमŐ ˠाइिडंग गित 

शािमल होती है। कोई भी ̾थलमंडल नʼ या िनिमŊत नही ं

होता है, और सीमाओ ंको बदलने के िलए पवŊत ŵंृखलाएं 

नही ंबनाई जाती हœ। 
 

39- उȅर बी 
● कथन 1 सही है: िसिलकेट िसयाल और िसमा दोनो ं मŐ 

मौजूद होते हœ। वे भूपपŊटी मŐ सबसे Ůचुर माũा मŐ पाए 

जाने वाली चǥानŐ और खिनज हœ। 

●  कथन 2 सही है: Ťेनाइिटक परत (महाȪीपीय परत) को 

िसयाल कहा जाता है, जबिक बेसाİʐक परत 

(महासागरीय परत) को िसमा कहा जाता है।  

●  कथन 3 गलत है: इन दो Ůकार की पपड़ी के बीच 

संŢमण Ɨेũ को कॉनराड असंततता कहा जाता है। 

●  कथन 4 गलत है: Ţेटन महाȪीपीय ̾थलमंडल का 

सबसे पुराना और सबसे İ̾थर िहˣा हœ। 
 

40- उȅर सी 
िटŌ पल जंƕन   

● समुū तल का फैलाव और űंश घािटयाँ "िटŌ पल जंƕन" 

पर सामाɊ िवशेषताएं हœ। िटŌ पल जंƕन तीन अलग-

अलग ɘेट सीमाओ ंका Ůितǅेदन हœ।  

● िटŌ पल जंƕन वह कŐ ūीय िबंदु है जहां तीन दरारŐ  

(सीमाएं) एक दूसरे से लगभग 120° के कोण पर 

िवभािजत होती हœ। 

●  अफ़ार िटŌ पल जंƕन मŐ अŽीकी, सोमाली और अरब 

ɘेटŐ एक दूसरे से अलग हो रही हœ। Ťेट įरɝ वैली और 

लाल सागर (समुū तल के फैलाव का एक Ůमुख ̾थल) 

अफ़ार िटŌ पल जंƕन मŐ ɘेट टेƃोिनƛ का पįरणाम 

हœ। 
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41. Answer B 

● Environmental determinism is the study of 
how the physical environment predisposes 
societies and states toward particular 
development trajectories. In the early stages of 
their interaction with their natural 
environment or physical environment, humans 
were greatly influenced by it. They adapted to 
the dictates of Nature. It is environmental 
determinism. Hence option (b) is the correct 
answer. 

● With social and cultural development, humans 
develop better and more efficient technology. 
They move from a state of necessity to a state 
of freedom. They create possibilities with the 
resources obtained from the environment. 
Human activities create a cultural landscape. 
This is called possibilism. 

 

42. Answer C 

● A third branch of this monsoon wind strikes 
the Saurashtra Peninsula and the Kachchh. It 
then passes over west Rajasthan and along the 
Aravalis, causing only a scanty rainfall. In 
Punjab and Haryana, it too joins the Bay of 
Bengal branch. These two branches, 
reinforced by each other, cause rains in the 
western Himalayas. Hence, statement 1 is 
correct. 

●  The Bay of Bengal branch strikes the coast of 
Myanmar and part of southeast Bangladesh. 
But the Arakan Hills along the coast of 
Myanmar deflect a big portion of this branch 
toward the Indian subcontinent. The monsoon, 
therefore, enters West Bengal and Bangladesh 
from the south and southeast instead of from 
the south-westerly direction. Hence, statement 
2 is correct. 

 

 
 

 
 

41- उȅर B 
● पयाŊवरण िनयितवाद इस बात का अȯयन है िक भौितक 
पयाŊवरण समाजो ंऔर राǛो ंको िवशेष िवकास पथो ंकी ओर 
कैसे Ůेįरत करता है। अपने Ůाकृितक पयाŊवरण या भौितक 
पयाŊवरण के साथ अपनी बातचीत के शुŜआती चरणो ं मŐ, 
मनुˈ इससे बŠत Ůभािवत थे। उɎोनें Ůकृित के िनदőशो ंके 
अनुसार खुद को ढाल िलया। यह पयाŊवरण िनयितवाद है। 
इसिलए िवकʙ (b) सही उȅर है। 

● सामािजक और सांˋृितक िवकास के साथ, मनुˈ बेहतर 
और अिधक कुशल तकनीक िवकिसत करते हœ। वे 
आवʴकता की İ̾थित से ˢतंũता की İ̾थित मŐ चले जाते 
हœ। वे पयाŊवरण से Ůाɑ संसाधनो ंसे संभावनाएँ पैदा करते हœ। 
मानवीय गितिविधयाँ सांˋृितक पįर̊ʴ बनाती हœ। इसे 
संभावनावाद कहा जाता है। 

 
 

42- उȅर C 
● इस मानसूनी हवा की एक तीसरी शाखा सौरा Ō̓  ŮायȪीप 
और कǅ से टकराती है। िफर यह पिʮमी राज̾थान और 
अरावली के साथ-साथ गुजरती है, िजससे केवल थोड़ी वषाŊ 
होती है। पंजाब और हįरयाणा मŐ, यह भी बंगाल की खाड़ी 
शाखा मŐ िमल जाती है। ये दोनो ं शाखाएँ, एक-दूसरे Ȫारा 
Ůबिलत होकर, पिʮमी िहमालय मŐ वषाŊ का कारण बनती हœ। 
इसिलए, कथन 1 सही है। 

● बंगाल की खाड़ी की शाखा ʄांमार के तट और दिƗण-पूवŊ 
बांƸादेश के िहˣे से टकराती है। लेिकन ʄांमार के तट के 
साथ अराकान पहािड़याँ इस शाखा के एक बड़े िहˣे को 
भारतीय उपमहाȪीप की ओर मोड़ देती हœ। इसिलए, मानसून 
दिƗण-पिʮमी िदशा के बजाय दिƗण और दिƗण-पूवŊ से 
पिʮम बंगाल और बांƸादेश मŐ Ůवेश करता है। इसिलए, 
कथन 2 सही है। 
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43. Answer B 

● Temperate continental climates (Steppe) are 
located in the heart of continents meaning 
they have little maritime influence. Their 
climate is thus continental with extremes of 
temperature - summers are very warm and 
winters are very cold. Hence, statement 1 is 
correct. 

● The presence of deciduous trees is a feature of 
Tropical grasslands (short trees and tall 
grasses), whereas, in the steppes, trees are 
very scarce, because of the scanty rainfall, 
long droughts, and severe winters. Tall, fresh, 
and nutritious prairie grass are found, thus, 
they are often referred to as 'Granaries of the 
world'. Hence, statement 2 is not correct. 

● Fohn (Switzerland) and Chinook (Canadian 
praries) are names of local winds that play an 
influential role in the pastures of temperate 
grasslands. Hence, statement 3 is correct 

 

44. Answer B 

● Cirrus clouds are formed at high altitudes 
(8,000 - 12,000m). They are thin and 
detatched clouds having a feathery 
appearance. They are always white in colour. 
Hence statement 1 is correct. 

●  Cumulus clouds look like cotton wool. They 
are generally formed at a height of 4,000 - 
7,000 m. They exist in patches and can be 
seen scattered here and there. They have a flat 
base. Hence statement 2 is correct. 

● Stratus clouds are layered clouds covering 
large portions of the sky. These clouds are 
generally formed either due to loss of heat or 
the mixing of air masses with different 
temperatures. 

●  Nimbus clouds are black or dark gray. They 
form at middle levels or very near to the 
surface of the earth. These are extremely 
dense and opaque to the rays of the sun. 
Hence statement 3 is not correct. 

 

 
 

 
 

43- उȅर B 
● समशीतोˁ महाȪीपीय जलवायु (ːेपी) महाȪीपो ंके मȯ 
मŐ İ̾थत हœ, िजसका अथŊ है िक उनका समुūी Ůभाव बŠत 
कम है। इस Ůकार उनकी जलवायु महाȪीपीय है िजसमŐ 
तापमान की चरम सीमा होती है - गिमŊयाँ बŠत गमŊ होती हœ 
और सिदŊयाँ बŠत ठंडी होती हœ। इसिलए, कथन 1 सही है। 

● पणŊपाती पेड़ो ं की उपİ̾थित उˁकिटबंधीय घास के 
मैदानो ं (छोटे पेड़ और लंबी घास) की एक िवशेषता है, 
जबिक, ːेɛ मŐ, कम वषाŊ, लंबे सूखे और कठोर सिदŊयो ंके 
कारण पेड़ बŠत दुलŊभ हœ। लंबी, ताजी और पौिʼक Ůेयरी 
घास पाई जाती है, इसिलए, उɎŐ अƛर 'दुिनया के अɄ 
भंडार' के ŝप मŐ जाना जाता है। इसिलए, कथन 2 सही नही ं
है। 

● फॉन (İˢट्जरलœड) और िचनूक (कनाडाई Ůेयरी) ̾थानीय 
हवाओ ं के नाम हœ जो समशीतोˁ घास के मैदानो ं के 
चरागाहो ं मŐ एक Ůभावशाली भूिमका िनभाते हœ। इसिलए, 
कथन 3 सही है 

 
44- उȅर B 

● िसरस बादल ऊँचाई (8,000 - 12,000 मीटर) पर बनते 
हœ। वे पतले और अलग-अलग बादल होते हœ जो पंख जैसे 
िदखते हœ। वे हमेशा सफेद रंग के होते हœ। इसिलए कथन 1 
सही है। 

● Ɛूʄलस बादल ŝई की तरह िदखते हœ। वे आम तौर पर 
4,000 - 7,000 मीटर की ऊँचाई पर बनते हœ। वे पैच मŐ 
मौजूद होते हœ और यहाँ-वहाँ िबखरे Šए देखे जा सकते हœ। 
उनका एक सपाट आधार होता है। इसिलए कथन 2 सही है। 

● Ōː ेटस बादल आकाश के बड़े िहˣे को कवर करने वाले 
परतदार बादल होते हœ। ये बादल आम तौर पर या तो गमŎ के 
नुकसान या अलग-अलग तापमान वाले वायु ūʩमानो ं के 
िमŵण के कारण बनते हœ। 

● िनɾस बादल काले या गहरे भूरे रंग के होते हœ। वे मȯ 
ˑरो ंपर या पृțी की सतह के बŠत करीब बनते हœ। ये सूयŊ 
की िकरणो ं के िलए बेहद घने और अपारदशŎ होते हœ। 
इसिलए कथन 3 सही नही ंहै। 
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45. Answer D 

●  Zone-V covers the entire of northeastern 
India, some parts of Jammu and Kashmir, 
some parts of Ladakh, Himachal Pradesh, 
Uttarakhand, Rann of Kutch in Gujarat, some 
parts of North Bihar and Andaman & Nicobar 
Islands. Hence statement 2 is not correct. 

●  Zone-IV covers the remaining parts of 
Jammu & Kashmir, Ladakh and Himachal 
Pradesh, Union Territory of Delhi, Sikkim, 
northern parts of Uttar Pradesh, Bihar and 
West Bengal, parts of Gujarat, and small 
portions of Maharashtra near the west coast 
and Rajasthan. The Koyna region of 
Maharashtra is also in this zone. Hence 
statement 1 is not correct. 

●  Zone-III comprises Kerala, Goa, 
Lakshadweep islands, remaining parts of Uttar 
Pradesh, Gujarat and West Bengal, parts of 
Punjab, Rajasthan, Madhya Pradesh, Bihar, 
Jharkhand, Chhattisgarh, Maharashtra, 
Odisha, Andhra Pradesh, Tamil Nadu and 
Karnataka. A large part of the country 
stretches from the North including some parts 
of Rajasthan to the South through the Konkan 
coast, and also the Eastern parts of the 
country. Hence statement 3 is not correct 

 

46. Answer C 

● Besides the longitudinal divisions, the 
Himalayas have been divided on the basis of 
regions from west to east. These divisions 
have been demarcated by river valleys. 

●  For example, the part of the Himalayas lying 
between the Indus and Satluj has been 
traditionally known as Punjab Himalaya but it 
is also known regionally as Kashmir and 
Himachal Himalaya from west to east 
respectively. Hence, statement 1 is correct. 

● The part of the Himalayas lying between the 
Satluj and Kali rivers is known as Kumaon 
Himalayas. Hence, statement 2 is correct. 

●  The Kali and Tista rivers demarcate the Nepal 
Himalayas and the part lying between Tista 
and Dihang rivers is known as Assam 
Himalayas. Hence, statement 3 is correct. 

 
 

 

45- उȅर D 
● जोन-V मŐ संपूणŊ पूवŖȅर भारत, जʃू और कʳीर के कुछ 
िहˣे, लȞाख के कुछ िहˣे, िहमाचल Ůदेश, उȅराखंड, 
गुजरात मŐ कǅ का रण, उȅर िबहार के कुछ िहˣे और 
अंडमान और िनकोबार Ȫीप समूह शािमल हœ। इसिलए कथन 
2 सही नही ंहै। 

● जोन-IV मŐ जʃू और कʳीर, लȞाख और िहमाचल Ůदेश 
के शेष िहˣे, कŐ ū शािसत Ůदेश िदʟी, िसİſम, उȅर 
Ůदेश, िबहार और पिʮम बंगाल के उȅरी िहˣे, गुजरात के 
कुछ िहˣे और पिʮमी तट और राज̾थान के पास महारा Ō̓  
के छोटे िहˣे शािमल हœ। महारा Ō̓  का कोयना Ɨेũ भी इसी 
जोन मŐ है। इसिलए कथन 1 सही नही ंहै। 

● जोन-III मŐ केरल, गोवा, लƗȪीप Ȫीप समूह, उȅर Ůदेश, 
गुजरात और पिʮम बंगाल के शेष िहˣे, पंजाब, राज̾थान, 
मȯ Ůदेश, िबहार, झारखंड, छȅीसगढ़, महारा Ō̓ , ओिडशा, 
आंŬ Ůदेश, तिमलनाडु और कनाŊटक के कुछ िहˣे शािमल 
हœ। देश का एक बड़ा िहˣा उȅर से लेकर राज̾थान के 
कुछ िहˣो ंसिहत दिƗण तक कोकंण तट और देश के पूवŎ 
िहˣो ंतक फैला Šआ है। इसिलए कथन 3 सही नही ंहै 

 
46- उȅर C 

● अनुदैȯŊ िवभाजनो ंके अलावा, िहमालय को पिʮम से पूवŊ 
तक के Ɨेũो ं के आधार पर िवभािजत िकया गया है। इन 
िवभाजनो ंको नदी घािटयो ंȪारा सीमांिकत िकया गया है। 

● उदाहरण के िलए, िसंधु और सतलुज के बीच İ̾थत 
िहमालय का िहˣा पारंपįरक ŝप से पंजाब िहमालय के 
ŝप मŐ जाना जाता है, लेिकन इसे Ɨेũीय ŝप से Ţमशः  
पिʮम से पूवŊ तक कʳीर और िहमाचल िहमालय के ŝप मŐ 
भी जाना जाता है। इसिलए, कथन 1 सही है। 

● सतलुज और काली निदयो ं के बीच İ̾थत िहमालय का 
िहˣा कुमाऊँ िहमालय के ŝप मŐ जाना जाता है। इसिलए, 
कथन 2 सही है। 

● काली और ितˑा निदयाँ नेपाल िहमालय का सीमांकन 
करती हœ और ितˑा और िदहांग निदयो ंके बीच İ̾थत भाग 
असम िहमालय के ŝप मŐ जाना जाता है। इसिलए, कथन 3 
सही है। 

 
  



 

 
 

26 

 
MOCK TEST 

EXPLANATIONS  
 

RACE 
IAS 

 
0522-3555372 

ALIGANJ | INDIRA NAGAR | ALAMBAGH, LUCKNOW & KANPUR 
WEBSITE :www.raceias.com,  /raceiaslucknow 

E-mail ID : www.raceias.2010@gmail.com 

47. Answer A 
● According to the variations in relief features, 

the Northern plains can be divided into four 
regions. The rivers, after descending from the 
mountains, deposit pebbles in a narrow belt of 
about 8 to 16 km in width lying parallel to the 
slopes of the Shiwaliks. It is known as bhabar. 
All the streams disappear in this bhabar belt. 
Hence, statement 1 is correct. 

●  South of this belt, the streams and rivers re-
emerge and create a wet, swampy, and marshy 
region known as terai. This was a thickly 
forested region full of wildlife. The forests 
have been cleared to create agricultural land 
and to settle migrants from Pakistan after the 
partition. 

● The largest part of the northern plain is 
formed of older alluvium. They lie above the 
flood plains of the rivers and present a terrace-
like feature. This part is known as bhangar. 
Hence, statement 2 is not correct. 

●  The soil in this region contains calcareous 
deposits locally known as kankar. The newer, 
younger deposits of the flood plains are called 
khadar. They are renewed almost every year 
and so are fertile, thus ideal for intensive 
Agriculture. Hence, statement 3 is not correct. 

 
48. Answer B 

● The laterite soils develop in areas with high 
temperatures and high rainfall. These are the 
results of intense leaching due to tropical 
rains. Hence statement 3 is correct. 

●  With rain, lime and silica are leached away, 
and soils rich in iron oxide and aluminium 
compounds are left behind. Because of their 
high iron oxide content, nearly all laterites are 
rusty-red in color. Hence statement 1 is not 
correct. 

●  The humus content of the soil is quickly 
removed by bacteria that thrive well at high 
temperatures. These soils are poor in organic 
matter, nitrogen, phosphate, and calcium, 
while iron oxide and potash are in excess. 
Hence statement 2 is not correct. 

● Laterites are not suitable for cultivation; 
however, the application of manures and 
fertilizers is required to make the soils fertile 
for cultivation. Red laterite soils in Tamil 
Nadu, Andhra Pradesh and Kerala are more 
suitable for tree crops like cashew nuts. 
Laterite soils are widely cut as bricks for use 
in house construction. Hence statement 4 is 
correct. 

 

47- उȅर A  
राहत सुिवधाओं मŐ िभɄता के अनुसार, उȅरी मैदानो ंको चार 
Ɨेũो ं मŐ िवभािजत िकया जा सकता है। निदयाँ, पहाड़ो ं से 
उतरने के बाद, िशवािलक की ढलानो ंके समानांतर लगभग 
8 से 16 िकमी चौड़ी एक संकीणŊ पǥी मŐ कंकड़ जमा करती 
हœ। इसे भाबर के नाम से जाना जाता है। इस भाबर बेʐ मŐ 
सभी निदयाँ गायब हो जाती हœ। इसिलए, कथन 1 सही है।  
● इस बेʐ के दिƗण मŐ, निदयाँ और धाराएँ िफर से उभरती 
हœ और एक गीला, दलदली और दलदली Ɨेũ बनाती हœ िजसे 
तराई के ŝप मŐ जाना जाता है। यह वɊजीवो ं से भरा एक 
घना वन Ɨेũ था। िवभाजन के बाद कृिष भूिम बनाने और 
पािकˑान से आए Ůवािसयो ं को बसाने के िलए जंगलो ं को 
साफ कर िदया गया है। 
● उȅरी मैदान का सबसे बड़ा िहˣा पुराने जलोढ़ से बना 
है। वे निदयो ंके बाढ़ के मैदानो ंके ऊपर İ̾थत हœ और एक 
सीढ़ीनुमा िवशेषता Ůˑुत करते हœ। इस भाग को भांगर के 
नाम से जाना जाता है। इसिलए, कथन 2 सही नही ंहै। 

● इस Ɨेũ की िमǥी मŐ ̾थानीय ŝप से कंकर के ŝप मŐ 
जाना जाने वाला कैʋेįरयस जमा होता है। बाढ़ के 
मैदानो ं के नए, युवा जमा को खादर कहा जाता है। वे 
लगभग हर साल नवीनीकृत होते हœ और इसिलए 
उपजाऊ होते हœ, इस Ůकार गहन कृिष के िलए आदशŊ 
होते हœ। इसिलए, कथन 3 सही नही ंहै। 

 
48- उȅर B 

● लैटेराइट िमǥी उǄ तापमान और उǄ वषाŊ वाले Ɨेũो ंमŐ 
िवकिसत होती है। ये उˁकिटबंधीय वषाŊ के कारण तीŴ 
िनƗालन के पįरणाम हœ। इसिलए कथन 3 सही है। 
● बाįरश के साथ, चूना और िसिलका बह जाते हœ, और लौह 
ऑƛाइड और एʞूमीिनयम यौिगको ं से भरपूर िमǥी पीछे 
रह जाती है। अपने उǄ लौह ऑƛाइड सामŤी के कारण, 
लगभग सभी लैटेराइट जंग लगे लाल रंग के होते हœ। इसिलए 
कथन 1 सही नही ंहै। 
● िमǥी की ह्यूमस सामŤी बैƃीįरया Ȫारा जʗी से हटा दी 
जाती है जो उǄ तापमान पर अǅी तरह से पनपते हœ। ये 
िमǥी काबŊिनक पदाथŊ, नाइटŌ ोजन, फॉ˛ेट और कैİ̵शयम मŐ 
खराब हœ, जबिक लौह ऑƛाइड और पोटाश अिधक माũा 
मŐ हœ। इसिलए कथन 2 सही नही ंहै। 
● लैटेराइट खेती के िलए उपयुƅ नही ंहœ; हालाँिक, खेती के 
िलए िमǥी को उपजाऊ बनाने के िलए खाद और उवŊरको ंके 
Ůयोग की आवʴकता होती है। तिमलनाडु, आंŬ Ůदेश और 
केरल मŐ लाल लैटेराइट िमǥी काजू जैसी पेड़ की फसलो ंके 
िलए अिधक उपयुƅ है। लैटेराइट िमǥी को घर के िनमाŊण मŐ 
उपयोग के िलए ईंटो ंके ŝप मŐ ʩापक ŝप से काटा जाता 
है। इसिलए कथन 4 सही है। 
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49. Answer C 

● Sills: These are solidified horizontal lava 
layers inside the earth. Hence statement 1 is 
correct. 

● Dykes: When the lava makes its way through 
cracks and the fissures developed in the land, 
it solidifies almost perpendicular to the 
ground. It gets cooled in the same position to 
develop a wall-like structure. Such structures 
are called dykes. Hence statement 2 is correct. 

●  Batholiths are huge masses of igneous rocks, 
usually of granite. These rock masses formed 
due to the cooling down and the solidification 
of hot magma inside the earth. Hence 
statement 3 is correct. 

 

50. Answer A 

● Urban forestry pertains to the raising and 
management of trees on public and privately 
owned lands in and around urban centers such 
as green belts, parks, roadside avenues, 
industrial and commercial green belts, etc. 
Hence statement 1 is not correct. 

● Rural forestry lays emphasis on promotion of 
agroforestry and community-forestry. 

● Agroforestry is the raising of trees and 
agriculture crops on the same land inclusive of 
the waste patches. Hence statement 2 is 
correct. 

● It combines forestry with agriculture, thus, 
altering the simultaneous production of food, 
fodder, fuel, timber and fruit. 

● Community forestry involves the raising of 
trees on public or community land such as the 
village pasture and temple land, roadside, 
canal bank, strips along railway lines, and 
schools etc. Hence statement 3 is not correct. 

 

 
 

 
 

49- उȅर C 
● िसʤ: ये पृțी के अंदर जमी Šई Ɨैितज लावा परतŐ हœ। 
इसिलए कथन 1 सही है। 

● डाइक: जब लावा जमीन मŐ बनी दरारो ं और दरारो ं से 
होकर गुजरता है, तो यह जमीन के लगभग लंबवत जम जाता 
है। यह उसी İ̾थित मŐ ठंडा होकर दीवार जैसी संरचना 
िवकिसत करता है। ऐसी संरचनाओ ं को डाइक कहा जाता 
है। इसिलए कथन 2 सही है। 

● बाथोिलथ आưेय चǥानो ंके िवशाल समूह हœ, जो आमतौर 
पर Ťेनाइट के होते हœ। ये चǥानŐ पृțी के अंदर गमŊ मैƵा के 
ठंडा होने और जमने के कारण बनी हœ। इसिलए कथन 3 
सही है। 

 
50- उȅर A 

● शहरी वािनकी शहरी कŐ ūो ं जैसे िक हįरत पǥी, पाकŊ , 
सड़क के िकनारे के राˑे, औȨोिगक और वािणİǛक हįरत 
पǥी आिद मŐ और उसके आसपास सावŊजिनक और िनजी 
ˢािमȕ वाली भूिम पर पेड़ो ं को उगाने और Ůबंधन से 
संबंिधत है। इसिलए कथन 1 सही नही ंहै। 
● Ťामीण वािनकी कृिष वािनकी और सामुदाियक वािनकी 
को बढ़ावा देने पर जोर देती है। 
● कृिष वािनकी बंजर भूिम सिहत एक ही भूिम पर पेड़ो ंऔर 
कृिष फसलो ंको उगाना है। अतः  कथन 2 सही है। 
● यह वािनकी को कृिष के साथ जोड़ता है, इस Ůकार, 
भोजन, चारा, ईंधन, लकड़ी और फलो ंके एक साथ उȋादन 
को बदलता है। 
● सामुदाियक वािनकी मŐ सावŊजिनक या सामुदाियक भूिम 
जैसे गाँव के चरागाह और मंिदर की भूिम, सड़क के िकनारे, 
नहर के िकनारे, रेलवे लाइनो ंके िकनारे और ˋूल आिद पर 
पेड़ लगाना शािमल है। अतः  कथन 3 सही नही ंहै। 
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51. Answer A 

● The Inter Tropical Convergence Zone (ITCZ) 
is a low-pressure zone located at the equator 
where trade winds converge, and so, it is a 
zone where air tends to ascend. Hence, 
statement 1 is not correct. 

● In July, the ITCZ is located around 20°N-
25°N latitudes (over the Gangetic plain), 
sometimes called the monsoon trough. This 
monsoon trough encourages the development 
of thermal lows over north and northwest 
India. Hence, statement 2 is not correct. 

●  Due to the shift of ITCZ, the trade winds of 
the southern hemisphere cross the equator 
between 40° and 60°E longitudes and start 
blowing from southwest to northeast due to 
the Coriolis force. It becomes a southwest 
monsoon. In winter, the ITCZ moves 
southward, and so the reversal of winds from 
northeast to south and southwest takes place. 
They are called northeast monsoons. Hence, 
statement 3 is correct. 

 
52. Answer A 

● The Indus, also known as the Sindhu, is the 
westernmost of the Himalayan rivers in India. 
It originates from a glacier near Bokhar Chu 
in the Tibetan region, at an altitude of 4,164 m 
in the Kailash Mountain range. In Tibet, it is 
known as ‘Singi Khamban; or the Lion’s 
Mouth. Hence statement 1 is correct. 

●  From Tibet, the river enters India through 
Union territory of Ladakh. From Ladakh, the 
river flows through the Union Territories of 
Jammu and Kashmir. From here, the Indus 
river flows through the regions of Baltistan 
and Gilgit. It cuts across the Ladakh range, 
forming a spectacular gorge near Gilgit in 
Jammu and Kashmir. It then enters Pakistan 
near Chilas in the Dardistan region and flows 
through the provinces of Punjab and Sindh 
before emptying into the Arabian Sea. Hence 
statement 3 is not correct. 

● The Chenab is the largest tributary of the 
Indus. It is formed by two streams, the 
Chandra and the Bhaga, which join at Tandi 
near Keylong in Himachal Pradesh. Hence, it 
is also known as Chandrabhaga. The river 
flows for 1,180 km before entering into 
Pakistan. Hence statement 2 is not correct. 

 

51- उȅर A 
● अंतर-उˁकिटबंधीय अिभसरण Ɨेũ (ITCZ) भूमȯ रेखा 
पर İ̾थत एक िनɻ-दाब Ɨेũ है जहाँ ʩापाįरक हवाएँ िमलती 
हœ, और इसिलए, यह एक ऐसा Ɨेũ है जहाँ हवा ऊपर की 
ओर जाती है। इसिलए, कथन 1 सही नही ंहै। 

● जुलाई मŐ, ITCZ 20°N-25°N अƗांशो ं(गंगा के मैदान पर) 
के आसपास İ̾थत होता है, िजसे कभी-कभी मानसून गतŊ भी 
कहा जाता है। यह मानसून गतŊ उȅर और उȅर-पिʮम 
भारत मŐ तापीय िनɻ के िवकास को ŮोȖािहत करता है। 
इसिलए, कथन 2 सही नही ंहै। 

● ITCZ के ̾थानांतरण के कारण, दिƗणी गोलाधŊ की 
ʩापाįरक हवाएँ 40° और 60°E देशांतर के बीच भूमȯ रेखा 
को पार करती हœ और कोįरओिलस बल के कारण दिƗण-
पिʮम से उȅर-पूवŊ की ओर बहने लगती हœ। यह दिƗण-
पिʮम मानसून बन जाता है। सिदŊयो ंमŐ, ITCZ दिƗण की ओर 
बढ़ता है, और इसिलए उȅर-पूवŊ से दिƗण और दिƗण-
पिʮम की ओर हवाओ ंका उलटा Ůभाव होता है। उɎŐ उȅर-
पूवŎ मानसून कहा जाता है। इसिलए, कथन 3 सही है। 

 
52- उȅर A 

● िसंधु, िजसे िसंधु के नाम से भी जाना जाता है, भारत मŐ 
िहमालय की सबसे पिʮमी नदी है। यह ितɬती Ɨेũ मŐ बोखर 
चू के पास कैलाश पवŊत ŵंृखला मŐ 4,164 मीटर की ऊँचाई 
पर एक Ƹेिशयर से िनकलती है। ितɬत मŐ इसे 'िसंगी खंबन' 
या शेर के मँुह के नाम से जाना जाता है। इसिलए कथन 1 
सही है। 

● ितɬत से, नदी लȞाख के कŐ ū शािसत Ůदेश से भारत मŐ 
Ůवेश करती है। लȞाख से, नदी जʃू और कʳीर के कŐ ū 
शािसत Ůदेशो ं से होकर बहती है। यहाँ से, िसंधु नदी 
बाİʐˑान और िगलिगत के Ɨेũो ं से होकर बहती है। यह 
लȞाख रŐ ज को काटती है, जʃू और कʳीर मŐ िगलिगत के 
पास एक शानदार घाटी बनाती है। िफर यह दिदŊˑान Ɨेũ मŐ 
िचलास के पास पािकˑान मŐ Ůवेश करती है और अरब 
सागर मŐ खाली होने से पहले पंजाब और िसंध Ůांतो ंसे होकर 
बहती है। इसिलए कथन 3 सही नही ंहै।  

● िचनाब िसंधु की सबसे बड़ी सहायक नदी है। यह दो 
धाराओ,ं चंūा और भागा Ȫारा बनाई गई है, जो िहमाचल 
Ůदेश मŐ केलोगं के पास टांडी मŐ िमलती हœ। इसिलए, इसे 
चंūभागा के नाम से भी जाना जाता है। पािकˑान मŐ Ůवेश 
करने से पहले नदी 1,180 िकलोमीटर तक बहती है। 
इसिलए कथन 2 सही नही ंहै। 
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53. Answer C 

● Arid soils range from red to brown in colour. 
They are generally sandy in structure and 
saline in nature. 

●  The sandy structure is due to the low levels of 
clay and organic matter in the soil, which 
results in poor water holding capacity. The 
saline nature of the soil is due to the 
accumulation of salts in the soil, which is a 
result of the high rates of evaporation and low 
rates of rainfall in these regions. In some 
areas, the salt content is so high that common 
salt is obtained by evaporating the saline 
water. 

● As a result, the soils are often alkaline in 
nature and require appropriate management 
practices such as leaching, adding organic 
matter, and improving drainage to make them 
suitable for cultivation. Hence statement 1 is 
correct. 

● Lower horizons of the soil are occupied by 
‘kankar’ layers because of the increasing 
calcium content downwards. The ‘Kankar’ 
layer formation in the bottom horizons 
restricts the infiltration of water, and as such, 
when irrigation is made available, the soil 
moisture is readily available for sustainable 
plant growth.  

● Arid soils are characteristically developed in 
western Rajasthan, which exhibits 
characteristic arid topography. These soils are 
poor and contain little humus and organic 
matter. Hence statement 2 is correct. 

 

54. Answer B 

● The months of October and November are 
known for retreating monsoons. By the end of 
September, the southwest monsoon becomes 
weak as the low-pressure trough of the Ganga 
plain starts moving southward in response to 
the southward march of the sun. 

●  The retreating southwest monsoon season is 
marked by clear skies and a rise in 
temperature. The land is still moist. Owing to 
the conditions of high temperature and 
humidity, the weather becomes rather 
oppressive. This is commonly known as the 
‘October heat’. Hence, statements 1 and 2 are 
correct but statement 3 is not correct. 

 

53- उȅर C 
● शुʺ िमǥी का रंग लाल से भूरे रंग का होता है। वे आम 
तौर पर संरचना मŐ रेतीले और Ůकृित मŐ खारे होते हœ। 

 ● रेतीली संरचना िमǥी मŐ िमǥी और काबŊिनक पदाथŘ के 
िनɻ ˑर के कारण होती है, िजसके पįरणामˢŝप पानी 
धारण करने की Ɨमता कम होती है। िमǥी की खारी Ůकृित 
िमǥी मŐ लवणो ं के संचय के कारण होती है, जो इन Ɨेũो ंमŐ 
वा˃ीकरण की उǄ दर और वषाŊ की कम दर का पįरणाम 
है। कुछ Ɨेũो ंमŐ, नमक की माũा इतनी अिधक होती है िक 
खारे पानी को वाİ˃त करके सामाɊ नमक Ůाɑ िकया 
जाता है। 

● पįरणामˢŝप, िमǥी अƛर Ɨारीय Ůकृित की होती है 
और उɎŐ खेती के िलए उपयुƅ बनाने के िलए लीिचंग, 
काबŊिनक पदाथŊ जोड़ने और जल िनकासी मŐ सुधार जैसे 
उिचत Ůबंधन Ůथाओ ं की आवʴकता होती है। इसिलए 
कथन 1 सही है। 

● िमǥी के िनचले िƗितज पर नीचे की ओर कैİ̵शयम की 
माũा बढ़ने के कारण 'कंकर' परतŐ होती हœ। िनचले िƗितज मŐ 
'कंकर' परत का िनमाŊण पानी की घुसपैठ को रोकता है, और 
इस तरह, जब िसंचाई उपलɩ कराई जाती है, तो िमǥी की 
नमी ̾थायी पौधो ंकी वृİȠ के िलए आसानी से उपलɩ होती 
है। 

● पिʮमी राज̾थान मŐ शुʺ िमǥी िवशेष ŝप से िवकिसत 
होती है, जो िविशʼ शुʺ ̾थलाकृित ŮदिशŊत करती है। ये 
िमǥी खराब होती है और इसमŐ ह्यूमस और काबŊिनक पदाथŊ 
बŠत कम होते हœ। इसिलए कथन 2 सही है। 

 
54- उȅर B 

● अƃूबर और नवंबर के महीने मानसून के पीछे हटने के 
िलए जाने जाते हœ। िसतंबर के अंत तक, दिƗण-पिʮम 
मानसून कमजोर हो जाता है Ɛोिंक गंगा के मैदान का िनɻ 
दबाव वाला गतŊ सूयŊ के दिƗण की ओर बढ़ने के जवाब मŐ 
दिƗण की ओर बढ़ना शुŝ कर देता है। 

● पीछे हटने वाले दिƗण-पिʮम मानसून के मौसम मŐ 
आसमान साफ रहता है और तापमान मŐ वृİȠ होती है। भूिम 
अभी भी नम है। उǄ तापमान और आūŊता की İ̾थित के 
कारण, मौसम दमनकारी हो जाता है। इसे आमतौर पर 
'अƃूबर हीट' के ŝप मŐ जाना जाता है। इसिलए, कथन 1 
और 2 सही हœ लेिकन कथन 3 सही नही ंहै। 
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55. Answer A 

● As compared to the western coastal plain, the 
eastern coastal plain is broader and is an 
example of an emergent coast. There are well-
developed deltas here, formed by the rivers 
flowing eastward into the Bay of Bengal. 
These include the deltas of the Mahanadi, the 
Godavari, the Krishna, and the Kaveri. 

●  Because of its emergent nature, it has less 
number of ports and harbors. The continental 
shelf extends up to 500 km into the sea, which 
makes it difficult the development of good 
ports and harbors. Hence, option (a) is the 
correct answer. 

 

56. Answer B 

● The cool temperate western margins are under 
the permanent influence of the Westerlies all 
round the year. They are also regions of much 
cyclonic activity, typical of Britain, and are 
thus said to experience the British type of 
climate. Hence statement 1 is correct. 

● The British type of climate has adequate 
rainfall throughout the year with a tendency 
towards a slight winter or autumn maximum 
from cyclonic sources. Since the rain-bearing 
winds come from the west, the western 
margins have the heaviest rainfall. The 
amount decreases eastwards with increasing 
distance from the sea. Hence statement 2 is 
not correct. 

● There are four distinct seasons in the British 
climate type. Light snowfalls can be expected 
in the winter months normally only of short 
duration because of the comparatively mild 
weather. Hence statement 3 is correct. 

 

 
 

 
 

55- उȅर A 
● पिʮमी तटीय मैदान की तुलना मŐ, पूवŎ तटीय मैदान 
ʩापक है और एक उभरते तट का उदाहरण है। यहाँ अǅी 
तरह से िवकिसत डेʐा हœ, जो बंगाल की खाड़ी मŐ पूवŊ की 
ओर बहने वाली निदयो ं Ȫारा िनिमŊत हœ। इनमŐ महानदी, 
गोदावरी, कृˁा और कावेरी के डेʐा शािमल हœ। 

● इसकी उभरती Ůकृित के कारण, इसमŐ बंदरगाहो ं और 
बंदरगाहो ंकी संƥा कम है। महाȪीपीय शेʚ समुū मŐ 500 
िकमी तक फैली Šई है, िजससे अǅे बंदरगाहो ं और 
बंदरगाहो ंका िवकास मुİʭल हो जाता है। इसिलए, िवकʙ 
(ए) सही उȅर है। 

 
56- उȅर बी 

● शांत शीतोˁ पिʮमी सीमांत पूरे वषŊ पिʮमी हवाओ ं के 
̾थायी Ůभाव मŐ रहते हœ। वे िŰटेन के िविशʼ चŢवाती 
गितिविध वाले Ɨेũ भी हœ, और इस Ůकार कहा जाता है िक वे 
िŰिटश Ůकार की जलवायु का अनुभव करते हœ। इसिलए 
कथन 1 सही है।  

● िŰिटश Ůकार की जलवायु मŐ पूरे वषŊ पयाŊɑ वषाŊ होती है, 
िजसमŐ चŢवाती ŷोतो ंसे हʋी सदŎ या शरद ऋतु की Ůवृिȅ 
होती है। चँूिक वषाŊ लाने वाली हवाएँ पिʮम से आती हœ, 
इसिलए पिʮमी सीमांत Ɨेũो ंमŐ सबसे अिधक वषाŊ होती है। 
समुū से दूरी बढ़ने के साथ पूवŊ की ओर वषाŊ की माũा कम 
होती जाती है। इसिलए कथन 2 सही नही ंहै। 

● िŰिटश जलवायु Ůकार मŐ चार अलग-अलग मौसम होते हœ। 
तुलनाȏक ŝप से हʋे मौसम के कारण सिदŊयो ंके महीनो ं
मŐ हʋी बफŊ बारी की उʃीद की जा सकती है, जो आमतौर 
पर केवल थोड़े समय के िलए होती है। इसिलए कथन 3 सही 
है। 
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57. Answer B 

● The point inside the crust where the pressure 
is released is called the focus. Hence 
statement 1 is correct. It is also called the 
hypocentre. 

● The point on the Earth's surface above the 
focus is called the epicenter. Earthquake 
energy is released in seismic waves. These 
waves spread out from the focus. Hence 
statement 2 is not correct. 

●  Epicenter is the first one to experience the 
waves. Hence statement 3 is correct. 

 

58. Answer D 

● The semi-evergreen forests are found in the 
less rainy parts of these regions. Such forests 
have a mixture of evergreen and moist 
deciduous trees. The under growing climbers 
provide an evergreen character to these 
forests. Hence, statement 1 is correct. 

●  This type occurs throughout the moisture 
parts of southern tropics although it does not 
occupy large areas.  

● It exists in the Andaman and the Western 
Ghats just north of Bombay near Goa and 
south of Cochin. It has also developed in the 
moderately heavy to heavy rainfall areas of 
the northeastern region and Bengal extending 
down the east coast of the peninsula to Puri in 
Orissa. Hence, statement 2 is correct. 

●  The annual rainfall in these forests is between 
200- 250 cm, rarely less but frequently more. 
This type occurs on low hills and flat plateaus. 
Hence, statement 3 is correct. 

●  The main species are white cedar, Orchids, 
Rosewood, Indian chestnut, Kadam, Laurel, 
hillock, and kail. Hence, statement 4 is 
correct. 

 

 
 

 
 

57- उȅर B 
● भूपपŊटी के अंदर वह िबंदु जहाँ दबाव िनकलता है उसे 
फोकस कहते हœ। इसिलए कथन 1 सही है। इसे हाइपोसŐटर 
भी कहते हœ। 

● फोकस के ऊपर पृțी की सतह पर İ̾थत िबंदु को 
एिपसŐटर कहते हœ। भूकंप की ऊजाŊ भूकंपीय तरंगो ं मŐ 
िनकलती है। ये लहरŐ  फोकस से बाहर फैलती हœ। इसिलए 
कथन 2 सही नही ंहै। 

● एिपसŐटर वह पहला िबंदु होता है जहाँ लहरŐ  आती हœ। 
इसिलए कथन 3 सही है। 

 
58- उȅर D 

● अधŊ-सदाबहार वन इन Ɨेũो ंके कम वषाŊ वाले भागो ंमŐ पाए 
जाते हœ। ऐसे जंगलो ंमŐ सदाबहार और नम पणŊपाती पेड़ो ंका 
िमŵण होता है। नीचे उगने वाले चढ़ने वाले पौधे इन वनो ंको 
एक सदाबहार चįरũ Ůदान करते हœ। इसिलए, कथन 1 सही 
है। 

● यह Ůकार दिƗणी उˁकिटबंधीय के नमी वाले भागो ंमŐ 
पाया जाता है, हालाँिक यह बड़े Ɨेũो ंपर कɥा नही ंकरता 
है।  

● यह गोवा के पास बॉɾे के उȅर मŐ और कोचीन के दिƗण 
मŐ अंडमान और पिʮमी घाट मŐ मौजूद है। यह पूवŖȅर Ɨेũ 
और बंगाल के मȯम से भारी वषाŊ वाले Ɨेũो ंमŐ भी िवकिसत 
Šआ है, जो ŮायȪीप के पूवŎ तट से उड़ीसा मŐ पुरी तक फैला 
Šआ है। इसिलए, कथन 2 सही है। 

● इन वनो ंमŐ वािषŊक वषाŊ 200-250 सेमी के बीच होती है, 
कभी-कभी कम लेिकन अƛर अिधक होती है। यह Ůकार 
िनचली पहािड़यो ंऔर समतल पठारो ंपर होता है। इसिलए, 
कथन 3 सही है। 

● मुƥ Ůजाितयाँ सफेद देवदार, ऑिकŊ ड, रोज़वुड, भारतीय 
चेːनट, कदम, लॉरेल, िहलॉक और कैल हœ। इसिलए, कथन 
4 सही है। 
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59. Answer D 

● An earthquake in simple words is the shaking 
of the earth. It is a natural event. It is caused 
due to release of energy, which generates 
waves that travel in all directions. 

● The point where the energy is released is 
called the focus of an earthquake, 
alternatively, it is called the hypocentre. The 
energy waves traveling in different directions 
reach the surface. Hence, statement 1 is not 
correct. 

● The point on the surface, nearest to the focus, 
is called the epicenter. It is the first one to 
experience the waves. It is a point directly 
above the focus. 

● Tsunamis are waves generated by tremors and 
are not a type of earthquake. The effect of the 
tsunami would occur only if the epicenter of 
the tremor is below oceanic waters and the 
magnitude is sufficiently high. Hence, 
statement 2 is correct. 

 
60. Answer A 

Diurnal tide: 
●  There is only one high tide and one low tide 

during each day. The successive high and low 
tides are approximately of the same height. 
Hence statement 2 is not correct. 

Spring tides: 
●  The position of both the sun and the moon in 

relation to the earth has direct bearing on tide 
height. When the sun, the moon and the earth 
are in a straight line, the height of the tide will 
be higher. These are called spring tides and 
they occur twice a month, one during the full 
moon period and another during the new 
moon period. Hence statement 1 is correct. 

● When the earth is closest to the sun 
(perihelion), around 3rd January each year, 
tidal ranges are also much greater, with 
unusually high and unusually low tides. When 
the earth is farthest from the sun (aphelion), 
around 4th July each year, tidal ranges are 
much less than average. 

●  The time between the high tide and low tide, 
when the water level is falling, is called the 
ebb. Hence statement 3 is not correct. 

● The time between the low tide and high tide, 
when the tide is rising, is called the flow or 
flood. 

 

59- उȅर D 
● सरल शɨो ं मŐ भूकंप धरती का िहलना है। यह एक 
Ůाकृितक घटना है। यह ऊजाŊ के िनकलने के कारण होता है, 
जो सभी िदशाओ ंमŐ याũा करने वाली तरंगो ंको उȋɄ करता 
है। 

● िजस िबंदु पर ऊजाŊ िनकलती है उसे भूकंप का फोकस 
कहा जाता है, वैकİʙक ŝप से इसे हाइपोसŐटर कहा जाता 
है। िविभɄ िदशाओ ंमŐ याũा करने वाली ऊजाŊ तरंगŐ सतह पर 
पŠँचती हœ। इसिलए, कथन 1 सही नही ंहै। 

● फोकस के सबसे नजदीक सतह पर İ̾थत िबंदु को 
उपįरकŐ ū कहा जाता है। यह तरंगो ंका अनुभव करने वाला 
पहला िबंदु है। यह फोकस के ठीक ऊपर एक िबंदु है। 

● सुनामी कंपन से उȋɄ होने वाली लहरŐ  हœ और ये भूकंप 
का Ůकार नही ंहœ। सुनामी का Ůभाव तभी होगा जब भूकंप 
का कŐ ū समुūी जल से नीचे हो और तीŴता पयाŊɑ ŝप से 
अिधक हो। इसिलए, कथन 2 सही है। 

 
60- उȅर A 

दैिनक ǜार: 
● Ůȑेक िदन केवल एक उǄ ǜार और एक िनɻ ǜार 
होता है। Ţिमक उǄ और िनɻ ǜार लगभग समान ऊँचाई 
के होते हœ। इसिलए कथन 2 सही नही ंहै। 
वसंत ǜार: 
● पृțी के संबंध मŐ सूयŊ और चंūमा दोनो ंकी İ̾थित का ǜार 
की ऊँचाई पर सीधा असर पड़ता है। जब सूयŊ, चंūमा और 
पृțी एक सीधी रेखा मŐ होते हœ, तो ǜार की ऊँचाई अिधक 
होगी। इɎŐ वसंत ǜार कहा जाता है और ये महीने मŐ दो बार 
आते हœ, एक पूिणŊमा के दौरान और दूसरा अमाव˟ा के 
दौरान। इसिलए कथन 1 सही है। 
● जब पृțी सूयŊ के सबसे करीब होती है (पेरीहेिलयन), 
Ůȑेक वषŊ 3 जनवरी के आसपास, ǜार की सीमा भी बŠत 
अिधक होती है, िजसमŐ असामाɊ ŝप से उǄ और 
असामाɊ ŝप से िनɻ ǜार होते हœ। जब पृțी सूयŊ से सबसे 
दूर होती है (एफ़ेिलयन), Ůȑेक वषŊ 4 जुलाई के आसपास, 
ǜार की सीमा औसत से बŠत कम होती है। 
● उǄ ǜार और िनɻ ǜार के बीच का समय, जब जल 
ˑर िगर रहा होता है, उसे भाटा कहा जाता है। इसिलए 
कथन 3 सही नही ंहै। 
● िनɻ ǜार और उǄ ǜार के बीच का समय, जब ǜार 
बढ़ रहा होता है, उसे Ůवाह या बाढ़ कहा जाता है। 
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61. Answer D 

● The correct order is: Continental Shelf-
Continental Slope-Continental Rise-Abyssal 
Plain. Hence option (d) is correct. 

● Continental Margins form the transition 
between continental shores and deep-sea 
basins. They include continental shelf, 
continental slope, continental rise and deep-
oceanic trenches. The Abyssal plains are 
extensive plains that lie between the 
continental margins and mid-oceanic ridges. 
The abyssal plains are the areas where the 
continental sediments that move beyond the 
margins get deposited. 

 

62. Answer B 

● This forms an interconnected chain of 
mountain systems within (not over) the ocean. 
Hence, statement 1 is not correct. 

● It is the longest mountain-chain on the surface 
of the earth though submerged under the 
oceanic waters. It is characterised by a central 
rift system at the crest, a fractionated plateau 
and flank zone all along its length. Hence, 
statement 2 is correct. 

● The rift system at the crest is the zone of 
intense volcanic activity. Hence, statement 3 
is correct. 

 

63. Answer B 

● Rocks (igneous, sedimentary and 
metamorphic) of the earth’s surface are 
exposed to denudational agents, and are 
broken up into various sizes of fragments. 
Such fragments are transported by different 
exogenous agencies and deposited. 

● These deposits through compaction turn into 
rocks. This process is called lithification. In 
many sedimentary rocks, the layers of 
deposits retain their characteristics even after 
lithification. Hence, we see a number of layers 
of varying thickness in sedimentary rocks like 
sandstone, shale etc. Hence, statements 1 and 
2 are correct. 

● Limestone, shale and coal are some of the 
examples of sedimentary rocks. Granite is an 
igneous rock. Hence, statement 3 is not correct. 

 

61- उȅर डी 
● सही Ţम है: महाȪीपीय शेʚ-महाȪीपीय ढलान-

महाȪीपीय उȈान-एिबसल मैदान। अतः  िवकʙ (डी) 
सही है। 

● महाȪीपीय िकनारे महाȪीपीय तटो ंऔर गहरे समुū के 
घािटयो ं के बीच संŢमण का िनमाŊण करते हœ। इनमŐ 
महाȪीपीय शेʚ, महाȪीपीय ढलान, महाȪीपीय उȈान 
और गहरी महासागरीय खाइयाँ शािमल हœ। एिबसल 
मैदान िवशाल मैदान हœ जो महाȪीपीय िकनारो ं और 
मȯ-महासागरीय कटको ंके बीच İ̾थत हœ। रसातल के 
मैदान वे Ɨेũ हœ जहां सीमांत से आगे बढ़ने वाली 
महाȪीपीय तलछट जमा हो जाती है।  

 
62- उȅर B 

● यह समुū के भीतर (ऊपर नही)ं पवŊत Ůणािलयो ंकी एक 
पर˙र जुड़ी ŵंृखला बनाती है। इसिलए, कथन 1 सही 
नही ंहै। 

● यह पृțी की सतह पर सबसे लंबी पवŊत-ŵंृखला है, 
हालांिक यह समुūी जल मŐ डूबी Šई है। इसकी िवशेषता 
िशखर पर एक कŐ ūीय दरार Ůणाली, इसकी पूरी लंबाई 
के साथ एक खंिडत पठार और पा Ŋ̫ Ɨेũ है। अतः , कथन 
2 सही है। 

● िशखर पर दरार Ůणाली तीŴ ǜालामुखीय गितिविध का 
Ɨेũ है। अतः , कथन 3 सही है। 

 
63- उȅर B 

● पृțी की सतह की चǥानŐ (आưेय, तलछटी और 
ŝपांतįरत) अनाǅादन एजŐटो ं के संपकŊ  मŐ आती हœ, 
और िविभɄ आकार के टुकड़ो ं मŐ टूट जाती हœ। ऐसे 
टुकड़ो ंको िविभɄ बिहजाŊत एजŐिसयो ंȪारा ले जाया जाता 
है और जमा िकया जाता है। 

● ये जमाव संघनन के माȯम से चǥानो ंमŐ बदल जाते हœ। 
इस ŮिŢया को िलिथिफकेशन कहा जाता है। कई 
तलछटी चǥानो ं मŐ, जमाव की परतŐ िलिथिफकेशन के 
बाद भी अपनी िवशेषताओ ं को बरकरार रखती हœ। 
इसिलए, हम बलुआ पȈर, शेल आिद जैसी तलछटी 
चǥानो ंमŐ अलग-अलग मोटाई की कई परतŐ देखते हœ। 
इसिलए, कथन 1 और 2 सही हœ। 

● चूना पȈर, शेल और कोयला अवसादी चǥानो ंके कुछ 
उदाहरण हœ। Ťेनाइट एक आưेय चǥान है। इसिलए, 
कथन 3 सही नही ंहै। 
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64. Answer C 

● In large flood and delta plains, rivers rarely 
flow in straight courses. Loop-like channel 
patterns called Meanders. Meanders develop 
over flood and delta plains. Meander is not a 
landform but is only a type of channel pattern. 
Hence, statement 1 is correct. 

● Active deposition along the concave bank and 
undercutting along the convex bank. Hence, 
statement 2 is correct. 

● As meanders grow into deep loops, the same 
may get cut-off due to erosion at the inflection 
points and are left as ox-bow lakes. Hence, 
statement 3 is correct. 

 

65. Answer D 

● The horizontal winds near the earth surface 
responds to the combined effect of three 
forces – the pressure gradient force, the 
frictional force and the Coriolis force. In 
addition, the gravitational force acts 
downward. Hence, statement 1 is not correct. 

● The deflection is more when the wind velocity 
is high. The Coriolis force is directly 
proportional to the angle of latitude and 
deflection is directly proportional to wind 
velocity. It is maximum at the poles and is 
absent at the equator. Hence, statement 2 is 
not correct. 

 

66. Answer B 

● Tropical cyclones are violent storms that 
originate over oceans in tropical areas and 
move over to the coastal areas bringing about 
large-scale destruction caused by violent 
winds, very heavy rainfall and storm surges. 

● This subsiding warm air in the eye of the 
storm is responsible for the relatively mild 
conditions found there, as compared to the 
surrounding areas of the storm where the 
winds and precipitation are stronger. 
○Descending wind don’t reach surface, it gets 
adiabatically warm and start rising again 
without reaching the surface, hence lowest 
pressure at cyclone eye persists and get 
intensified. Hence, option B is correct. 

 
 

64- उȅर C 
बड़े बाढ़ और डेʐा मैदानो ंमŐ, निदयाँ शायद ही कभी सीधे 
मागŊ मŐ बहती हœ। लूप-जैसे चैनल पैटनŊ को मेȵसŊ कहा जाता 
है। बाढ़ और डेʐा मैदानो ंपर मेȵसŊ का िवकास होता है। 
मेȵर एक ̾थलŝप नही ं है बİʋ एक Ůकार का चैनल 
पैटनŊ माũ है। अतः , कथन 1 सही है। 

अवतल तट के साथ सिŢय जमाव और उȅल तट के साथ 
अंडरकिटंग। अतः , कथन 2 सही है। 

जैसे-जैसे घुमावदार मोड़ गहरे लूप मŐ िवकिसत होते हœ, वैसे-
वैसे मोड़ िबंदुओ ं पर कटाव के कारण ये कट जाते हœ और 
बैल-धनुष झीलो ंके ŝप मŐ रह जाते हœ। अतः , कथन 3 सही 
है। 

 
65- उȅर डी 

● पृțी की सतह के िनकट Ɨैितज हवाएँ तीन बलो ं - 
दबाव Ůवणता बल, घषŊण बल और कोįरओिलस बल के 
संयुƅ Ůभाव पर ŮितिŢया करती हœ। इसके अलावा, 
गुŜȕाकषŊण बल नीचे की ओर कायŊ करता है। इसिलए, 
कथन 1 सही नही ंहै। 

● हवा का वेग अिधक होने पर िवƗेपण अिधक होता है। 
कोįरओिलस बल अƗांश के कोण के सीधे आनुपाितक 
है और िवƗेपण हवा के वेग के सीधे आनुपाितक है। यह 
Ŭुवो ं पर अिधकतम होता है तथा भूमȯ रेखा पर 
अनुपİ̾थत होता है। इसिलए, कथन 2 सही नही ंहै। 

 
66- उȅर B 

● उˁकिटबंधीय चŢवात िहंसक तूफान हœ जो 
उˁकिटबंधीय Ɨेũो ंमŐ महासागरो ंके ऊपर उȋɄ होते 
हœ और तटीय Ɨेũो ंकी ओर बढ़ते हœ और िहंसक हवाओ,ं 
बŠत भारी वषाŊ और तूफानी लहरो ंके कारण बड़े पैमाने 
पर िवनाश करते हœ। 

● तूफ़ान के आस-पास के Ɨेũो ंकी तुलना मŐ, जहां हवाएं 
और वषाŊ तेज़ हœ, तूफ़ान की आंखो ंमŐ यह कम होती गमŊ 
हवा वहां पाई जाने वाली अपेƗाकृत हʋी İ̾थितयो ंके 
िलए िज़ʃेदार है। 

○उतरती Šई हवा सतह तक नही ंपŠंच पाती है, यह ŜȠोˆ 
ŝप से गमŊ हो जाती है और सतह तक पŠंचे िबना ही िफर से 
ऊपर उठने लगती है, इसिलए चŢवात नेũ पर सबसे कम 
दबाव बना रहता है और तेज हो जाता है। इसिलए, िवकʙ 
बी सही है। 
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67. Answer D 

● Thunderstorms are caused by intense 
convection on moist hot days. A thunderstorm 
is a well-grown cumulonimbus cloud 
producing thunder and lightning. 
○When the clouds extend to heights where 
sub-zero temperature prevails, hails are 
formed and they come down as hailstorm. 

○If there is insufficient moisture, a 
thunderstorm can generate duststorms. Hence, 
statement 1 is not correct. 

● A thunderstorm is characterised by intense 
updraft of rising warm air, which causes the 
clouds to grow bigger and rise to greater 
height. This causes precipitation. Later, 
downdraft brings down to earth the cool air 
and the rain. 

● From severe thunderstorms sometimes 
spiralling wind descends like a trunk of an 
elephant with great force, with very low 
pressure at the centre, causing massive 
destruction on its way. Such a phenomenon is 
called a tornado. Hence, statement 2 is correct. 

 

68. Answer C 

● The Northern plains extend approximately 
3,200 km from the east to the west. They are 
formed by the alluvial deposits brought by the 
rivers Ganga, Indus and Brahmaputra. Hence, 
statement 1 is correct. 

● The maximum depth of alluvium deposits 
varies between 1,000 to 2,000 m. From north 
to south, these can be divided into 3 major 
zones: the Bhabar, Khadar, and alluvial plains. 
Hence, statement 2 is not correct. 

 

 
 

 
 

67- उȅर डी 
● आūŊ  गमŊ िदनो ंमŐ तीŴ संवहन के कारण तूफान आते हœ। 

थंडरːॉमŊ एक अǅी तरह से िवकिसत Ɛूʄलोिनɾस 
बादल है जो गड़गड़ाहट और िबजली पैदा करता है। 

○जब बादल ऊंचाई तक फैलते हœ जहां शूɊ से नीचे तापमान 
रहता है, तो ओले बनते हœ और वे ओलावृिʼ के ŝप मŐ नीचे 
आते हœ। 

○यिद पयाŊɑ नमी नही ंहै, तो गरज के साथ धूल भरी आंिधयां 
उȋɄ हो सकती हœ। इसिलए, कथन 1 सही नही ंहै। 

● तूफान की िवशेषता ऊपर उठती गमŊ हवा का तीŴ 
Ůवाह है, िजसके कारण बादल बड़े हो जाते हœ और 
अिधक ऊंचाई तक बढ़ जाते हœ। इससे वषाŊ होती है। 
बाद मŐ, डाउनडŌ ाɝ ठंडी हवा और बाįरश को पृțी पर 
लाता है। 

● भयंकर तूफ़ान से कभी-कभी सिपŊल हवा हाथी की संूड 
की तरह बड़ी ताकत के साथ नीचे आती है, िजसके कŐ ū 
मŐ बŠत कम दबाव होता है, िजससे राˑे मŐ बड़े पैमाने 
पर िवनाश होता है। ऐसी घटना को बवंडर कहा जाता 
है। अतः , कथन 2 सही है। 

 
68- उȅर C 

● उȅरी मैदान पूवŊ से पिʮम तक लगभग 3,200 िकमी 
तक फैला Šआ है। इनका िनमाŊण गंगा, िसंधु और 
Ű˦पुũ निदयो ंȪारा लाए गए जलोढ़ िनƗेपो ंसे Šआ है। 
अतः , कथन 1 सही है। 

● जलोढ़ िनƗेप की अिधकतम गहराई 1,000 से 2,000 
मीटर के बीच होती है। उȅर से दिƗण तक, इɎŐ 3 
Ůमुख Ɨेũो ं मŐ िवभािजत िकया जा सकता है: भाबर, 
खादर और जलोढ़ मैदान। इसिलए, कथन 2 सही नही ं
है। 
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69. Answer D 

● The boundary usually begins around 100 - 400 
m below the sea surface and extends several 
hundred of metres downward. This boundary 
region, from where there is a rapid decrease of 
temperature, is called the thermocline. Hence, 
statement 1 is correct. 

● About 90 per cent of the total volume of water 
is found below the thermocline in the deep 
ocean. In this zone, temperatures approach 0° 
C. Hence, statement 2 is not correct. 

● In the Arctic and Antartic circles, the surface 
water temperatures are close to 0° C and so 
the temperature change with the depth is very 
slight. Here, only one layer of cold water 
exists, which extends from surface to deep 
ocean floor. Hence, statement 3 is not correct. 

 

70. Answer D 

● Continental Slope: The continental slope 
connects the continental shelf and the ocean 
basins. It begins where the bottom of the 
continental shelf sharply drops off into a steep 
slope. The gradient of the slope region varies 
between 2-5°. Hence, statement 1 is not 
correct. 

● Seamount: It is a mountain with pointed 
summits, rising from the seafloor that does not 
reach the surface of the ocean. Seamounts are 
volcanic in origin. These can be 3,000-4,500 
m tall. The emperor seamount, an extension of 
the Hawaiian Islands in the Pacific Ocean, is a 
good example. Hence, statement 2 is not 
correct. 

 

 
 

 
 

69- उȅर डी 
● सीमा आमतौर पर समुū की सतह से लगभग 100 - 

400 मीटर नीचे शुŝ होती है और कई सौ मीटर नीचे 
तक फैली होती है। यह सीमा Ɨेũ, जहाँ से तापमान मŐ 
तेजी से कमी होती है, थमŖकलाइन कहलाता है। अतः , 
कथन 1 सही है। 

● पानी की कुल माũा का लगभग 90 Ůितशत गहरे समुū 
मŐ थमŖकलाइन के नीचे पाया जाता है। इस Ɨेũ मŐ 
तापमान 0°C तक पŠँच जाता है। इसिलए, कथन 2 सही 
नही ंहै। 

● आकŊ िटक और अंटाकŊ िटक सकŊ ल मŐ, सतह के पानी का 
तापमान 0 िडŤी सेİʤयस के करीब होता है और 
इसिलए गहराई के साथ तापमान मŐ बदलाव बŠत 
मामूली होता है। यहां ठंडे पानी की केवल एक परत 
मौजूद है, जो सतह से गहरे समुū तल तक फैली Šई है। 
इसिलए, कथन 3 सही नही ंहै। 

 
70- उȅर डी 

महाȪीपीय ढलान: महाȪीपीय ढलान महाȪीपीय शेʚ और 
महासागरीय घािटयो ंको जोड़ता है। यह वहां से शुŝ होता है 
जहां महाȪीपीय शेʚ का िनचला भाग तेजी से एक तीŴ 
ढलान मŐ िगरता है। ढलान Ɨेũ का ढाल 2-5° के बीच 
बदलता रहता है। इसिलए, कथन 1 सही नही ंहै। 

सीमाउंट: यह नुकीले िशखर वाला एक पवŊत है, जो समुū 
तल से उठता है और समुū की सतह तक नही ंपŠंचता है। 
समुūी पवŊत मूलतः  ǜालामुखीय हœ। ये 3,000-4,500 मीटर 
ऊंचे हो सकते हœ। एɼरर सीमाउंट, Ůशांत महासागर मŐ 
हवाई Ȫीप समूह का िवˑार, एक अǅा उदाहरण है। 
इसिलए, कथन 2 सही नही ंहै। 
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71. Answer C 

● Semi-Clustered Settlements: These may result 
from the tendency of clustering in a restricted 
area of dispersed settlement. Generally, the 
land-owning and dominant community occupy 
the central part of the main village, whereas 
people of lower strata of society and menial 
workers settle on the outer flanks of the 
village. Such settlements are widespread in 
the Gujarat plain and some parts of Rajasthan. 
Hence statement 1 is correct. 

●  Hamleted Settlements: Sometimes settlement 
is fragmented into several units physically 
separated from each other bearing a common 
name. These units are locally called Panna, 
para, Palli, nagla, Dhani, etc. in various parts 
of the country. This segmentation of a large 
village is often motivated by social and ethnic 
factors. Such villages are more frequently 
found in the middle and lower Ganga plain, 
Chhattisgarh, and lower valleys of the 
Himalayas. Hence statement 2 is correct. 

●  Dispersed Settlements: Dispersed or isolated 
settlement pattern in India appears in the form 
of isolated huts or hamlets of few huts in 
remote jungles, or on small hills with farms or 
pasture on the slopes. Extreme dispersion of 
settlement is often caused by the extremely 
fragmented nature of the terrain and land 
resource base of habitable areas. Many areas 
of Meghalaya, Uttaranchal, Himachal 
Pradesh, and Kerala have this type of 
settlement. Hence statement 3 is correct. 

 
72. Answer D 

● Haloclasty is a type of physical weathering 
caused by the growth of salt crystals. The 
process is first started when saline water seeps 
into cracks and evaporates depositing salt 
crystals. When the rocks are then heated, the 
crystals will expand, putting pressure on the 
surrounding rock which will over time splinter 
the stone into fragments. Hence, option (d) is 
the correct answer. 

●  Salt crystallization may also take place when 
solutions decompose rocks (for example, 
limestone and chalk) to form salt solutions of 
sodium sulfate or sodium carbonate, from 
which water evaporates to form their 
respective salt crystals. 

 

71- उȅर C 
● अधŊ-समूहबȠ बİˑयाँ: ये िबखरी Šई बİˑयो ंके सीिमत 
Ɨेũ मŐ समूह बनाने की Ůवृिȅ के पįरणामˢŝप हो सकती 
हœ। आम तौर पर, भूिम-ˢािमȕ वाला और Ůमुख समुदाय 
मुƥ गाँव के मȯ भाग पर कɥा करता है, जबिक समाज 
के िनचले तबके के लोग और छोटे-मोटे कामगार गाँव के 
बाहरी िकनारो ंपर बसते हœ। ऐसी बİˑयाँ गुजरात के मैदान 
और राज̾थान के कुछ िहˣो ंमŐ ʩापक हœ। इसिलए कथन 1 
सही है। 
● छोटी बİˑयाँ: कभी-कभी बİˑयाँ कई इकाइयो ं मŐ 
िवभƅ हो जाती हœ जो एक दूसरे से भौितक ŝप से अलग 
होती हœ और उनका एक ही नाम होता है। देश के िविभɄ 
भागो ंमŐ इन इकाइयो ंको ̾थानीय ŝप से पɄा, पारा, पʟी, 
नगला, धानी आिद कहा जाता है। एक बड़े गाँव का यह 
िवभाजन अƛर सामािजक और जातीय कारको ं से Ůेįरत 
होता है। ऐसे गाँव मȯ और िनचले गंगा के मैदान, छȅीसगढ़ 
और िहमालय की िनचली घािटयो ं मŐ अिधक पाए जाते हœ। 
इसिलए कथन 2 सही है। 
● फैली Šई बİˑयाँ: भारत मŐ फैली Šई या अलग-थलग 
बİˑयो ं का ˢŝप दूरदराज के जंगलो ं मŐ या ढलानो ं पर 
खेतो ं या चरागाहो ं वाली छोटी पहािड़यो ं पर अलग-अलग 
झोपिड़यो ंया कुछ झोपिड़यो ंवाली बİˑयो ंके ŝप मŐ िदखाई 
देता है। बİˑयो ं का अȑिधक फैलाव अƛर रहने योƶ 
Ɨेũो ं के भूभाग और भूिम संसाधन आधार की अȑिधक 
खंिडत Ůकृित के कारण होता है। मेघालय, उȅरांचल, 
िहमाचल Ůदेश और केरल के कई Ɨेũो ं मŐ इस Ůकार की 
बİˑयाँ हœ। इसिलए कथन 3 सही है। 
 

72- उȅर D 
● हेलोƑाːी नमक िŢːल के िवकास के कारण होने 
वाला एक Ůकार का भौितक अपƗय है। यह ŮिŢया सबसे 
पहले तब शुŝ होती है जब खारा पानी दरारो ंमŐ įरसता है 
और नमक के िŢːल जमा करते Šए वाİ˃त हो जाता है। 
जब चǥानो ंको गमŊ िकया जाता है, तो िŢːल फैल जाएंगे, 
िजससे आसपास की चǥान पर दबाव पड़ेगा जो समय के 
साथ पȈर को टुकड़ो ं मŐ तोड़ देगा। इसिलए, िवकʙ (d) 
सही उȅर है। 
● नमक िŢːलीकरण तब भी हो सकता है जब समाधान 
चǥानो ं (उदाहरण के िलए, चूना पȈर और चाक) को 
सोिडयम सʚेट या सोिडयम काबŖनेट के नमक समाधान 
बनाने के िलए िवघिटत करते हœ, िजससे पानी वाİ˃त होकर 
उनके संबंिधत नमक िŢːल बनाता है। 
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73. Answer B 

● Orchard fanning: It represents a highly 
specialized commercial agriculture here. The 
world supply of citrus fruits, olives, and figs 
comes almost exclusively from Mediterranean 
lands. Fruit culture has long been a traditional 
Mediterranean occupation because of the very 
special climatic features in Mediterranean 
areas. Hence statement 1 is correct. 

●  Viticulture: Viticulture or grape cultivation is 
a specialty of the Mediterranean region. It 
represents a very intensive form of farming 
requiring not only good conditions of 
moisture, temperature, and soil but also much 
personal care if the grapes are to be of high 
quality. Hence statement 2 is correct. 

 

74. Answer B 

● The older Gondwana formations of peninsular 
plateau makes up to 98% of the total reserves 
in India. Hence statement 2 is correct. 

● The coal occurrences in India are mainly 
distributed along the present day river valleys. 
Over 97 percent of coal reserves occur in the 
valleys of Damodar, Sone, Mahanadi and 
Godavari. Hence statement 1 is correct. 

● Jharia (Jharkhand) is the largest coal field 
followed by Raniganj (West Bengal). Hence 
statement 3 is not correct. 

●  Other Major coal producing states of India 
are Madhya Pradesh, Odisha, Chhattisgarh, 
Andhra Pradesh and Telangana. 

● Tertiary coals occur in Assam, Arunachal 
Pradesh, Meghalaya and Nagaland. 

● The Brown coal or lignite occurs in the coastal 
areas of Tamil Nadu, Puducherry, Gujarat and 
Jammu and Kashmir. 

 

 
 

 
 

73- उȅर B  
● बाग़ की खेती: यह यहाँ एक अȑिधक िविशʼ वािणİǛक 
कृिष का Ůितिनिधȕ करता है। खǥे फल, जैतून और अंजीर 
की िवʷ आपूितŊ लगभग िवशेष ŝप से भूमȯसागरीय भूिम 
से आती है। भूमȯसागरीय Ɨेũो ंमŐ बŠत ही िवशेष जलवायु 
िवशेषताओ ं के कारण फलो ं की खेती लंबे समय से एक 
पारंपįरक भूमȯसागरीय ʩवसाय रही है। इसिलए कथन 1 
सही है।  

● अंगूर की खेती: अंगूर की खेती भूमȯसागरीय Ɨेũ की 
िवशेषता है। यह खेती के एक बŠत ही गहन ŝप का 
Ůितिनिधȕ करता है, िजसमŐ न केवल नमी, तापमान और 
िमǥी की अǅी İ̾थित की आवʴकता होती है, बİʋ अंगूरो ं
की उǄ गुणवȅा के िलए ʩİƅगत देखभाल की भी बŠत 
आवʴकता होती है। इसिलए कथन 2 सही है। 

 
74- उȅर B 

● ŮायȪीपीय पठार की पुरानी गोडंवाना संरचनाएं भारत मŐ 
कुल भंडार का 98% िहˣा बनाती हœ। इसिलए कथन 2 सही 
है। 

● भारत मŐ कोयला मुƥ ŝप से वतŊमान नदी घािटयो ं के 
साथ िवतįरत िकया जाता है। 97 Ůितशत से अिधक कोयला 
भंडार दामोदर, सोन, महानदी और गोदावरी की घािटयो ं मŐ 
पाए जाते हœ। इसिलए कथन 1 सही है। 

● झįरया (झारखंड) सबसे बड़ा कोयला Ɨेũ है, उसके बाद 
रानीगंज (पिʮम बंगाल) है। इसिलए कथन 3 सही नही ंहै। 

● भारत के अɊ Ůमुख कोयला उȋादक राǛ मȯ Ůदेश, 
ओिडशा, छȅीसगढ़, आंŬ Ůदेश और तेलंगाना हœ। 

● तृतीयक कोयला असम, अŜणाचल Ůदेश, मेघालय और 
नागालœड मŐ पाया जाता है। 

● भूरा कोयला या िलưाइट तिमलनाडु, पुडुचेरी, गुजरात और 
जʃू और कʳीर के तटीय Ɨेũो ंमŐ पाया जाता है। 
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75. Answer A 

Minerals generally occur in these forms: 
● In igneous and metamorphic rocks minerals 

may occur in the cracks, crevices, faults, or 
joints. The smaller occurrences are called 
veins and the larger are called lodes. In most 
cases, they are formed when minerals in 
liquid/ molten and gaseous forms are forced 
upward through cavities towards the earth’s 
surface. Major metallic minerals like tin, 
copper, zinc, and lead, etc. are obtained from 
veins and lodes. Hence, statement 1 is correct. 

●  In sedimentary rocks, a number of minerals 
occur in beds or layers. They have been 
formed as a result of deposition, 
accumulation, and concentration in horizontal 
strata. Coal has been concentrated as a result 
of long periods under great heat and pressure. 
Hence, statement 2 is not correct. 

●  Another mode of formation involves the 
decomposition of surface rocks, and the 
removal of soluble constituents, leaving a 
residual mass of weathered material 
containing ores. Bauxite is formed this way. 
Hence, statement 3 is not correct. 

 
76. Answer D 

● Statement 1 is incorrect: The Himalayas in the 
northwestern region are aligned in the 
Northwest to southeast direction while the 
Himalayas in the Northeastern region are not 
continuous and aligned in various directions. 

●  Darjeeling and Sikkim in the Northeast 
direction. Arunachal Pradesh in the Southwest 
to Northeast direction. 

●  Nagaland, Manipur, and Mizoram in the 
North south direction. 

●  Statement 2 is incorrect: Meghalaya and 
Karbi Anglong hills in Assam are an 
extension of the Peninsular Plateau. They are 
a part of the Northeastern plateau and not the 
Deccan Plateau. 

●  Statement 3 is incorrect: Darjeeling, Sikkim 
and the Arunachal Himalayas are different 
from the rest as there is an absence of Shivalik 
in these areas. In place of Shivalik, duar 
formations are found in these areas which are 
used for the cultivation of the plantation crops. 
Hence, duar are different from Shivaliks and 
not an extension of it. 

 

75- उȅर A 
खिनज आमतौर पर इन ŝपो ंमŐ पाए जाते हœ: 

● आưेय और कायांतįरत चǥानो ंमŐ खिनज दरारŐ , दरारŐ , दोष 
या जोड़ो ंमŐ पाए जा सकते हœ। छोटी घटनाओ ंको िशराएँ और 
बड़ी घटनाओ ंको परत कहा जाता है। ˷ादातर मामलो ंमŐ, वे 
तब बनते हœ जब तरल/िपघले और गैसीय ŝपो ंमŐ खिनजो ंको 
पृțी की सतह की ओर गुहाओ ंके माȯम से ऊपर की ओर 
धकेला जाता है। िटन, तांबा, जˑा और सीसा आिद जैसे 
Ůमुख धाİȕक खिनज िशराओ ं और परत से Ůाɑ होते हœ। 
इसिलए, कथन 1 सही है। 

● तलछटी चǥानो ंमŐ, कई खिनज िबˑरो ंया परतो ंमŐ पाए 
जाते हœ। वे Ɨैितज ˑर मŐ जमाव, संचय और सांūता के 
पįरणामˢŝप बने हœ। कोयले को बŠत अिधक गमŎ और 
दबाव के तहत लंबी अविध के पįरणामˢŝप कŐ िūत िकया 
गया है। इसिलए, कथन 2 सही नही ंहै। 

● िनमाŊण की एक अɊ िविध मŐ सतह की चǥानो ं का 
अपघटन और घुलनशील घटको ं को हटाना शािमल है, 
िजससे अयˋो ं से युƅ अपƗय सामŤी का अविशʼ 
ūʩमान िनकल जाता है। बॉƛाइट इस तरह से बनता है। 
इसिलए, कथन 3 सही नही ंहै। 

 
76- उȅर D 

● कथन 1 गलत है: उȅर-पिʮमी Ɨेũ मŐ िहमालय उȅर-
पिʮम से दिƗण-पूवŊ िदशा मŐ संरेİखत हœ, जबिक पूवŖȅर Ɨेũ 
मŐ िहमालय िनरंतर नही ंहœ और िविभɄ िदशाओ ंमŐ संरेİखत 
हœ। 

● उȅर-पूवŊ िदशा मŐ दािजŊिलंग और िसİſम। दिƗण-पिʮम 
से उȅर-पूवŊ िदशा मŐ अŜणाचल Ůदेश। 

● उȅर-दिƗण िदशा मŐ नागालœड, मिणपुर और िमजोरम। 

● कथन 2 गलत है: असम मŐ मेघालय और काबŎ आंगलोगं 
पहािड़याँ ŮायȪीपीय पठार का िवˑार हœ। वे पूवŖȅर पठार 
का िहˣा हœ न िक दſन पठार का। 

● कथन 3 गलत है: दािजŊिलंग, िसİſम और अŜणाचल 
िहमालय बाकी से अलग हœ Ɛोिंक इन Ɨेũो ंमŐ िशवािलक का 
अभाव है। िशवािलक के ̾थान पर, इन Ɨेũो ं मŐ दुआर 
संरचनाएँ पाई जाती हœ िजनका उपयोग बागान फसलो ं की 
खेती के िलए िकया जाता है। इसिलए, दुआर िशवािलक से 
अलग हœ और इसका िवˑार नही ंहœ। 
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77. Answer B 

● Statement 1 is correct: Aravallis are the 
residual mountains in the western India. They 
are spread across the four states/UTs i.e., 
Rajasthan, Haryana, Gujarat, Delhi. Its highest 
peak is Guru Shikhar located in Mt. Abu. 

●  Statement 2 is incorrect: The Indian 
Himalayan Range extends to the states 
Himachal Pradesh, Uttarakhand, Sikkim, West 
Bengal, Assam, Meghalaya, Assam, 
Arunachal Pradesh, Nagaland,Manipur, 
Mizoram, and Tripura. It also extends to the 
UTs of Ladakh and Jammu and Kashmir. 
Tripura is a Himalayan state, and its highest 
peak is Betling Shib in the Jampui range. 

●  Statement 3 is correct: Tree line is the edge of 
the habitat at which trees are found. Beyond 
the tree line, there is no possibility of finding a 
tree. Tree line of the western Himalayas is 
lower than that of the Eastern Himalayas. 

 

78. Answer D 

● Statement 1 is incorrect: The drainage basin of 
Himalayan rivers is more than the peninsular 
rivers. Himalayan rivers are perennial as they 
are continuously fed with water from rainfall 
and also from the melting of the glaciers. 
They have a longer course and flow through 
mountainous terrains with frequent shifting of 
their course. Peninsular rivers on the other 
hand have a relatively smaller basin. They are 
mostly fed from monsoonal rains and hence 
are seasonal in nature. They are smaller rivers 
with fixed courses. 

●  Statement 2 is incorrect: Himalayan rivers 
exhibit antecedent, consequent, dendritic (in 
plains) drainage patterns through their course. 
Hence, they do not exhibit a single pattern. 

 
 

 
 

77- उȅर B 
● कथन 1 सही है: अरावली पिʮमी भारत मŐ अविशʼ पवŊत 
हœ। वे चार राǛो/ंकŐ ū शािसत Ůदेशो ं यानी राज̾थान, 
हįरयाणा, गुजरात, िदʟी मŐ फैले Šए हœ। इसकी सबसे ऊँची 
चोटी माउंट आबू मŐ İ̾थत गुŜ िशखर है। 

● कथन 2 गलत है: भारतीय िहमालय पवŊतमाला िहमाचल 
Ůदेश, उȅराखंड, िसİſम, पिʮम बंगाल, असम, मेघालय, 
असम, अŜणाचल Ůदेश, नागालœड, मिणपुर, िमजोरम और 
िũपुरा राǛो ंतक फैली Šई है। यह लȞाख और जʃू और 
कʳीर के कŐ ū शािसत Ůदेशो ंतक भी फैली Šई है। िũपुरा 
एक िहमालयी राǛ है, और इसकी सबसे ऊँची चोटी जɼुई 
पवŊतमाला मŐ बेटिलंग िशब है। 

● कथन 3 सही है: वृƗ रेखा िनवास ̾थान का वह िकनारा है 
जहाँ पेड़ पाए जाते हœ। वृƗ रेखा से परे, पेड़ िमलने की कोई 
संभावना नही ंहै। पिʮमी िहमालय की वृƗ रेखा पूवŎ िहमालय 
की तुलना मŐ कम है। 

 
78- उȅर D 

● कथन 1 गलत है: िहमालयी निदयो ंका जल िनकासी बेिसन 
ŮायȪीपीय निदयो ंसे अिधक है। िहमालयी निदयाँ बारहमासी 
हœ Ɛोिंक वे लगातार वषाŊ और Ƹेिशयरो ंके िपघलने से पानी 
Ůाɑ करती हœ। उनका मागŊ लंबा है और वे अपने मागŊ को 
बार-बार बदलते Šए पहाड़ी इलाको ं से होकर बहती हœ। 
दूसरी ओर ŮायȪीपीय निदयो ंका बेिसन अपेƗाकृत छोटा है। 
वे Ǜादातर मानसूनी बाįरश से पोिषत होती हœ और इसिलए 
मौसमी Ůकृित की होती हœ। वे िनिʮत मागŘ वाली छोटी 
निदयाँ हœ। 

● कथन 2 गलत है: िहमालयी निदयाँ अपने मागŊ मŐ पूवŊवतŎ, 
पįरणामी, वृƗ के समान (मैदानी इलाको ं मŐ) जल िनकासी 
पैटनŊ ŮदिशŊत करती हœ। इसिलए, वे एकल पैटनŊ ŮदिशŊत नही ं
करती हœ। 
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79. Answer A 

● Statement 1 is incorrect: Alaknanda originates 
at Satopanth glacier above Badrinath. It joins 
Bhagirathi (source: Gomukh) at Dev prayag 
where it is known as Ganga. Alaknanda is 
composed of Dhauli and Vishnu ganga which 
meet at Vishnu Prayag or Joshimath. Hence, 
Joshimath is associated with the river 
Alaknanda. 

●  Statement 2 is correct: The total length of 
Ganga is 2525 Km, with the maximum part in 
Uttar Pradesh, West Bengal, Bihar and the 
least in the state of Uttarakhand. 

●  Statement 3 is incorrect: The Ganga river 
system includes Yamuna as well as its 
tributaries. Chambal, Sindh, Betwa, Ken, etc. 
are the tributaries of Yamuna that originate in 
the Peninsular Plateau. Hence, they form a 
part of the Ganga river system and are not of 
Himalayan origin. 

 

80. Answer B 

● Statement 1 is incorrect: Western 
Disturbances move Eastward towards 
northwest India and Pakistan under the 
influence of Subtropical Westerly Jet Stream 
and Westerlies. 

●  Statement 2 is correct: The moisture in 
Western Disturbances usually comes from the 
Mediterranean Sea and Atlantic Ocean. On 
their way they pick up moisture from the 
Caspian Sea and Black Sea as well. 

●  Statement 3 is correct: High pressure over 
Ukraine and neighbourhood areas causes the 
intrusion of cold air from the Polar region 
towards the Mediterranean Sea. This generates 
favourable conditions for cyclogenesis in the 
upper atmosphere, which promotes the 
formation of an eastward-moving extra 
tropical depression. 

 

 
 

 
 

79- उȅर A 
● कथन 1 गलत है: अलकनंदा बūीनाथ के ऊपर सतोपंथ 
Ƹेिशयर से िनकलती है। यह देव Ůयाग मŐ भागीरथी (ŷोत: 
गोमुख) से िमलती है जहाँ इसे गंगा के ŝप मŐ जाना जाता है। 
अलकनंदा धौली और िवˁु गंगा से बनी है जो िवˁु Ůयाग 
या जोशीमठ मŐ िमलती हœ। इसिलए, जोशीमठ अलकनंदा 
नदी से जुड़ा Šआ है। 

● कथन 2 सही है: गंगा की कुल लंबाई 2525 िकलोमीटर है, 
िजसका अिधकतम भाग उȅर Ůदेश, पिʮम बंगाल, िबहार मŐ 
और सबसे कम उȅराखंड राǛ मŐ है। 

● कथन 3 गलत है: गंगा नदी Ůणाली मŐ यमुना के साथ-साथ 
इसकी सहायक निदयाँ भी शािमल हœ। चंबल, िसंध, बेतवा, 
केन आिद यमुना की सहायक निदयाँ हœ जो ŮायȪीपीय पठार 
मŐ उȋɄ होती हœ। इसिलए, वे गंगा नदी Ůणाली का एक 
िहˣा बनती हœ और िहमालयी मूल की नही ंहœ। 

 
80- उȅर B 

● कथन 1 गलत है: पिʮमी िवƗोभ उपोˁकिटबंधीय पिʮमी 
जेट Ōː ीम और पिʮमी हवाओ ं के Ůभाव मŐ उȅर-पिʮम 
भारत और पािकˑान की ओर पूवŊ की ओर बढ़ता है। 

● कथन 2 सही है: पिʮमी िवƗोभ मŐ नमी आमतौर पर 
भूमȯ सागर और अटलांिटक महासागर से आती है। अपने 
राˑे मŐ वे कैİ˙यन सागर और काला सागर से भी नमी 
उठाते हœ। 

● कथन 3 सही है: यूŢेन और आस-पास के Ɨेũो ंपर उǄ 
दबाव के कारण Ŭुवीय Ɨेũ से भूमȯ सागर की ओर ठंडी 
हवा का Ůवेश होता है। यह ऊपरी वायुमंडल मŐ चŢवात के 
िलए अनुकूल पįरİ̾थितयाँ उȋɄ करता है, जो पूवŊ की ओर 
बढ़ने वाले अितįरƅ उˁकिटबंधीय अवसाद के गठन को 
बढ़ावा देता है। 
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81. Answer B 

Explanation 

● Exfoliation occurs due to the flaking off of 
more or less curved sheets of shells from 
over rocks or bedrock resulting in smooth 
and rounded surfaces. Hence, statement 1 
is correct. 

● Exfoliation can occur due to expansion 
and contraction induced by temperature 
changes. Exfoliation domes and tors result 
from unloading and thermal expansion 
respectively. Hence, statement 2 is correct. 

● Exfoliation domes are best developed in 
granitic rock. Yosemite National Park has 
exceptional examples of exfoliation 
domes. Hence, statement 3 is not correct. 

 

82. Answer D 

● A gorge is a deep valley with very steep to 
straight sides and a canyon is 
characterized by steep step-like side 
slopes and may be as deep as a gorge. 

● A gorge is almost equal in width at its top 
as well as its bottom. In contrast, a canyon 
is wider at its top than at its bottom. 
Hence, statement 1 is not correct. 

● Canyons commonly form in horizontal 
bedded sedimentary rocks and gorges 
form in hard rocks. Hence, statement 2 is 
not correct. 

● Gandikota is situated on the Penner River 
and is known as the Grand Caniyon of 
India. Hence, statement 3 is not correct. 

 

 
 

 

81- उȅर B 
˙ʼीकरण 

● एƛफोिलएशन चǥानो ंया आधारिशला के ऊपर से गोले 
की कम या Ǜादा घुमावदार चादरो ं के उखड़ने के कारण 
होता है िजसके पįरणामˢŝप िचकनी और गोल सतहŐ 
बनती हœ। इसिलए, कथन 1 सही है। 

● एƛफोिलएशन तापमान पįरवतŊन से Ůेįरत िवˑार और 
संकुचन के कारण हो सकता है योसेमाइट नेशनल पाकŊ  मŐ 
एƛफोिलएशन डोम के असाधारण उदाहरण हœ। इसिलए, 
कथन 3 सही नही ंहै। 

 
82- उȅर D 

● गॉजŊ एक गहरी घाटी होती है िजसके िकनारे बŠत खड़ी से 
सीधी होती हœ और एक घाटी की िवशेषता खड़ी सीढ़ी जैसी 
ढलान होती है और यह गॉजŊ िजतनी गहरी हो सकती है। 

● एक गॉजŊ अपने शीषŊ और तल पर चौड़ाई मŐ लगभग 
बराबर होती है। इसके िवपरीत, एक घाटी अपने तल की 
तुलना मŐ अपने शीषŊ पर चौड़ी होती है। इसिलए, कथन 1 
सही नही ंहै। 

● घािटयाँ आमतौर पर Ɨैितज ŝप से समतल तलछटी 
चǥानो ंमŐ बनती हœ और घािटयाँ कठोर चǥानो ंमŐ बनती हœ। 
इसिलए, कथन 2 सही नही ंहै। 

● गंिडकोटा पेɄर नदी पर İ̾थत है और इसे भारत के Ťœड 
कैिनयन के ŝप मŐ जाना जाता है। इसिलए, कथन 3 सही 
नही ंहै। 

  



 

 
 

43 
RACE 

IAS 
 

7388114444 

  ALIGANJ | INDIRA NAGAR | ALAMBAGH, LUCKNOW & KANPUR 
WEBSITE :www.raceias.com,  /raceiaslucknow 

E-mail ID : www.raceias.2010@gmail.com 

 
MOCK TEST 

EXPLANATIONS  
 

 

RACE 
IAS 

83. Answer A 

The atmosphere is composed of gasses, water 
vapour and dust particles : 

● The air is an integral part of the earth’s 
mass and 99% of the total mass of the 
atmosphere is confined to the height of 32 
km from the earth’s surface. Hence, 
statement 1 is correct. 

● Similarly, carbon dioxide and water 
vapour are found only up to 90 km from 
the surface of the earth. Hence, statement 
2 is not correct. 

● Ozone is another important component of 
the atmosphere found between 10 and 50 
km above the earth’s surface and acts as a 
filter and absorbs the ultraviolet rays 
radiating from the sun and prevents them 
from reaching the surface of the earth. 
Hence, statement 3 is not correct. 

 

84. Answer B 

● Conduction takes place when two bodies 
of unequal temperature are in contact with 
one another, there is a flow of energy from 
the warmer to cooler body. Conduction is 
important in heating the lower layers of 
the Atmosphere. Hence, statement 1 is 
correct. 

● The air in contact with the earth rises 
vertically on heating in the form of 
currents and further transmits the heat of 
the atmosphere. This process of vertical 
heating of the atmosphere is known as 
convection. Hence, statement 2 is not 
correct. 

● In tropical regions particularly in northern 
India during the summer season local 
winds called ‘loo’ is the outcome of the 
advection process. Hence, statement 3 is 
not correct. 
 

 
 

 

83- उȅर A 
वायुमंडल गैसो,ं जल वा˃ और धूल कणो ंसे बना है: 

● वायु पृțी के ūʩमान का एक अिभɄ अंग है और 
वायुमंडल के कुल ūʩमान का 99% पृțी की सतह से 32 
िकमी की ऊँचाई तक सीिमत है। इसिलए, कथन 1 सही है। 

● इसी तरह, काबŊन डाइऑƛाइड और जल वा˃ पृțी की 
सतह से केवल 90 िकमी तक पाए जाते हœ। इसिलए, कथन 2 
सही नही ंहै। 

● ओजोन वायुमंडल का एक अɊ महȕपूणŊ घटक है जो 
पृțी की सतह से 10 से 50 िकमी ऊपर पाया जाता है और 
एक िफʐर के ŝप मŐ कायŊ करता है और सूयŊ से िनकलने 
वाली पराबœगनी िकरणो ं को अवशोिषत करता है और उɎŐ 
पृțी की सतह तक पŠँचने से रोकता है। इसिलए, कथन 3 
सही नही ंहै। 

 
84- उȅर B 

● चालन तब होता है जब असमान तापमान वाले दो िपंड एक 
दूसरे के संपकŊ  मŐ होते हœ, गमŊ से ठंडे िपंड की ओर ऊजाŊ का 
Ůवाह होता है। वायुमंडल की िनचली परतो ंको गमŊ करने मŐ 
चालन महȕपूणŊ है। इसिलए, कथन 1 सही है। 

● पृțी के संपकŊ  मŐ हवा धाराओ ं के ŝप मŐ गमŊ होने पर 
लंबवत ŝप से ऊपर उठती है और वायुमंडल की गमŎ को 
आगे संचाįरत करती है। वायुमंडल के ऊȰाŊधर तापन की 
इस ŮिŢया को संवहन के ŝप मŐ जाना जाता है। इसिलए, 
कथन 2 सही नही ंहै। 

● उˁकिटबंधीय Ɨेũो ं मŐ िवशेष ŝप से उȅरी भारत मŐ 
गिमŊयो ं के मौसम मŐ ̾थानीय हवाएँ िजɎŐ 'लू' कहा जाता है, 
संवहन ŮिŢया का पįरणाम हœ। इसिलए, कथन 3 सही नही ं
है। 
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85. Answer D 
● It deflects the wind to the right direction in the 

northern hemisphere and to the left in the 
southern hemisphere. The deflection is more 
when the wind velocity is high. Hence, 
statement 1 is not correct. 

● The Coriolis force is directly proportional to 
the angle of latitude. It is maximum at the 
poles and is absent at the equator. Hence, 
statement 2 is not correct. 

● The Coriolis force acts perpendicular to the 
pressure gradient force. The pressure gradient 
force is perpendicular to an isobar. The higher 
the pressure gradient force, the more is the 
velocity of the wind and the larger is the 
deflection in the direction of wind. Hence, 
statement 3 is not correct. 

 
86. Answer A 

● Cirrus :Cirrus clouds are formed at high 
altitudes (8,000 - 12,000m). They are thin and 
detached clouds having a feathery appearance. 
They are always white in colour.Hence, 
statement 1 is not correct. 

● Cumulus : Cumulus clouds look like cotton 
wool. They are generally formed at a height of 
4,000 - 7,000 m. They exist in patches and can 
be seen scattered here and there. They have a 
flat base. Hence, statement 2 is correct. 

● Nimbus : Nimbus clouds are black or dark 
gray. They form at middle levels or very near 
to the surface of the earth. These are 
extremely dense and opaque to the rays of the 
sun. Sometimes, the clouds are so low that 
they seem to touch the ground. Nimbus clouds 
are shapeless masses of thick vapour. Hence, 
statement 3 is not correct. 

 

 
 

 
 

85- उȅर D 
● यह उȅरी गोलाधŊ मŐ हवा को दाईं िदशा मŐ और दिƗणी 
गोलाधŊ मŐ बाईं ओर िवƗेिपत करता है। हवा का वेग अिधक 
होने पर िवƗेपण अिधक होता है। इसिलए, कथन 1 सही नही ं
है। 

● कोįरओिलस बल अƗांश के कोण के सीधे आनुपाितक है। 
यह Ŭुवो ं पर अिधकतम होता है और भूमȯ रेखा पर 
अनुपİ̾थत होता है। इसिलए, कथन 2 सही नही ंहै। 

● कोįरओिलस बल दाब Ůवणता बल के लंबवत कायŊ करता 
है। दाब Ůवणता बल एक आइसोबार के लंबवत होता है। 
दाब Ůवणता बल िजतना अिधक होता है, हवा का वेग उतना 
ही अिधक होता है और हवा की िदशा मŐ िवƗेपण उतना ही 
बड़ा होता है। इसिलए, कथन 3 सही नही ंहै। 

 
86- उȅर A 

● िसरस: िसरस बादल अिधक ऊंचाई (8,000 - 12,000 
मीटर) पर बनते हœ। वे पतले और अलग-अलग बादल होते हœ 
जो पंख जैसे िदखते हœ। वे हमेशा सफेद रंग के होते हœ। 
इसिलए, कथन 1 सही नही ंहै। 

● Ɛूʄलस: Ɛूʄलस बादल ŝई के फाहे की तरह िदखते 
हœ। वे आम तौर पर 4,000 - 7,000 मीटर की ऊँचाई पर 
बनते हœ। वे पैच मŐ मौजूद होते हœ और यहाँ-वहाँ िबखरे Šए 
देखे जा सकते हœ। उनका एक सपाट आधार होता है। 
इसिलए, कथन 2 सही है। 

● िनɾस: िनɾस बादल काले या गहरे भूरे रंग के होते हœ। वे 
मȯ ˑरो ंपर या पृțी की सतह के बŠत िनकट बनते हœ। ये 
सूयŊ की िकरणो ंके िलए अȑंत घने और अपारदशŎ होते हœ। 
कभी-कभी, बादल इतने नीचे होते हœ िक वे ज़मीन को छूते 
Šए Ůतीत होते हœ। िनɾस बादल मोटी वा˃ के आकारहीन 
ūʩमान होते हœ। इसिलए, कथन 3 सही नही ंहै। 

  



 

 
 

45 
RACE 

IAS 
 

7388114444 

  ALIGANJ | INDIRA NAGAR | ALAMBAGH, LUCKNOW & KANPUR 
WEBSITE :www.raceias.com,  /raceiaslucknow 

E-mail ID : www.raceias.2010@gmail.com 

 
MOCK TEST 

EXPLANATIONS  
 

 

RACE 
IAS 

87. Answer D 

● The Southwest Monsoon in India is 
related to tropical easterly jet stream. 
Hence, statement 1 is not correct. 

● The northeast monsoon (Winter Monsoon) 
is related to the subtropical westerly jet 
stream. 

● The Western Disturbances which enter the 
Indian subcontinent in winter are brought 
by westerly jet stream. Hence, statement 2 
is not correct. 

 

88. Answer B 

Explanation 

● India's territorial sea is 12 nautical miles 
from the main coastline. India has 
absolute rights to use this area. Hence, 
statement 1 is not correct. 

● The area ahead of the territorial sea 
frontier and 24 nautical miles from the 
main coastline is known as Contiguous 
Zone. In this area India has fiscal rights, 
excise duty rights, rights related to 
pollution control and right to implement 
immigration laws. Hence, statement 2 is 
correct. 

● The nautical region ahead of the 
contiguous zone which is up to 200 
nautical miles from the main coastline is 
known as the Exclusive Economic Zone 
(EEZ).In this region, India has the rights 
to survey, exploitation, conservation and 
research on mineral resources, marine 
power, marine life etc. Hence, statement 3 
is correct. 
 

 
 

 

87- उȅर D 
● भारत मŐ दिƗण-पिʮम मानसून उˁकिटबंधीय पूवŎ जेट 

Ōː ीम से संबंिधत है। इसिलए, कथन 1 सही नही ंहै। 

● पूवŖȅर मानसून (शीतकालीन मानसून) उपोˁकिटबंधीय 
पिʮमी जेट Ōː ीम से संबंिधत है। 

● पिʮमी िवƗोभ जो सिदŊयो ंमŐ भारतीय उपमहाȪीप मŐ Ůवेश 
करते हœ, वे पिʮमी जेट Ōː ीम Ȫारा लाए जाते हœ। इसिलए, 
कथन 2 सही नही ंहै। 

 
88- उȅर B 

˙ʼीकरण 

● भारत का Ůादेिशक समुū मुƥ तट से 12 समुūी मील दूर 
है। भारत को इस Ɨेũ का उपयोग करने का पूणŊ अिधकार 
है। इसिलए, कथन 1 सही नही ंहै। 

● Ůादेिशक समुūी सीमा से आगे का Ɨेũ और मुƥ तट से 
24 समुūी मील दूर का Ɨेũ सिɄिहत Ɨेũ के ŝप मŐ जाना 
जाता है। इस Ɨेũ मŐ भारत के पास राजकोषीय अिधकार, 
उȋाद शुʋ अिधकार, Ůदूषण िनयंũण से संबंिधत अिधकार 
और आŴजन कानूनो ं को लागू करने का अिधकार है। 
इसिलए, कथन 2 सही है। 

● मुƥ तटरेखा से 200 समुūी मील तक के सिɄिहत Ɨेũ से 
आगे का समुūी Ɨेũ अनɊ आिथŊक Ɨेũ (EEZ) के ŝप मŐ 
जाना जाता है। इस Ɨेũ मŐ, भारत को खिनज संसाधनो,ं समुūी 
शİƅ, समुūी जीवन आिद पर सवőƗण, दोहन, संरƗण और 
अनुसंधान के अिधकार हœ। इसिलए, कथन 3 सही है। 
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89. Answer A 
● The Eight degree channel is between Minicoy 

and Maldives. Hence, statement 1 is not 
correct. 

● The Nine degree channel separates Minicoy 
from the main archipelago of Lakshadweep. 
Hence, statement 2 is correct. 

● The Ten degree channel separates Andaman 
from Nicobar. Hence, statement 3 is not 
correct. 

 
90. Answer A 

The Great Himalayas or Inner Himalayan Range : 

● It is also known as Himadri, the Main 
Himalayas or snowy Himalayas. 

● It is extended from the gorge of the Indus 
river to the bend of the Brahmaputra river in 
Arunachal Pradesh. 

● The height of the snowline is more in the west 
than in the east in the Great Himalayas. 
Hence, statement 1 is not correct. 

● It means snow can be seen on a lower level in 
the eastern part than in the western. 

The Lesser Himalayas or the Himachal Range : 

● Its extension is in the south of the Great 
Himalayas.It is 80 to 100 km wide and its 
average height is between 3700 and 4500 m. 
Hence, statement 2 is not correct. 

The Outer Himalayas or The Shiwalik Range : 

● The Shiwalik Range is situated to the south of 
the Lesser Himalayas. Hence, statement 3 is 
correct. 

● It extends from Potwar basin of Punjab in the 
west to the Kosi river in the east. 

 
 

 
 

89- उȅर A 
● आठ िडŤी चैनल िमिनकॉय और मालदीव के बीच है। अतः  
कथन 1 सही नही ंहै। 

● नौ िडŤी चैनल िमिनकॉय को लƗȪीप के मुƥ Ȫीपसमूह 
से अलग करता है। अतः  कथन 2 सही है। 

● दस िडŤी चैनल अंडमान को िनकोबार से अलग करता है। 
अतः  कथन 3 सही नही ंहै। 

 
90- उȅर A 

महान िहमालय या आंतįरक िहमालय ŵेणी: 

● इसे िहमािū, मुƥ िहमालय या बफŎला िहमालय भी कहा 
जाता है। 

● यह िसंधु नदी के कǶ से अŜणाचल Ůदेश मŐ Ű˦पुũ नदी 
के मोड़ तक फैला Šआ है। 

● महान िहमालय मŐ पूवŊ की तुलना मŐ पिʮम मŐ िहमरेखा की 
ऊँचाई अिधक है। इसिलए, कथन 1 सही नही ंहै। 

● इसका अथŊ है िक पिʮमी की तुलना मŐ पूवŎ भाग मŐ िनचले 
ˑर पर बफŊ  देखी जा सकती है। 

लघु िहमालय या िहमाचल पवŊतमाला: 

● इसका िवˑार महान िहमालय के दिƗण मŐ है। यह 80 से 
100 िकमी चौड़ा है और इसकी औसत ऊँचाई 3700 से 
4500 मीटर के बीच है। इसिलए, कथन 2 सही नही ंहै। 

बाहरी िहमालय या िशवािलक पवŊतमाला: 

● िशवािलक पवŊतमाला लघु िहमालय के दिƗण मŐ İ̾थत है। 
इसिलए, कथन 3 सही है। 

● यह पिʮम मŐ पंजाब के पोटवार बेिसन से पूवŊ मŐ कोसी नदी 
तक फैली Šई है। 
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91. Answer A 

● Bhabar : The Bhabhar lies all along the 
foothills of the Shiwaliks. It is a porous 
and pebbled plain. It is also known as the 
‘alluvial fan’ of the Shiwaliks. Hence, 
statement 1 is correct. 

● The Terai Region : Its expansion is 
exactly to the south of the Bhabar region. 
The deposition of fine sand and mud is 
found here. 

● Khadar : The plain has been made by the 
deposition of new alluvial soil and is 
rather low land. Hence, statement 2 is not 
correct. 

● Bangar (Bhangar) : It is made of old 
alluvial soil. It is a higher region than 
khadar. Hence, statement 3 is not correct. 

 

92. Answer B 

Coffee Plantation Practices in India: 
● Predominantly grown under thick natural 

shade. 
● Ecologically sensitive regions of the 

Western and Eastern Ghats. 
● India produces 3.5% of coffee of the 

world. Hence, statement 1 is correct. 
Major Coffee Producer: 
● Karnataka accounts for approximately 

70% of India's total coffee production. 
Hence, statement 2 is not correct. 

Coffee Varieties in India: 
Arabica and Robusta. Hence, statement 3 is 
correct. 
Characteristics of Arabica: 
Grown at higher altitudes and it has Higher 
market value due to its aroma. 
Characteristics of Robusta: 
Known for its strength and used in various 
blends. 
 

 
 

91- उȅर A 
● भाबर: भाभर िशवािलक की तलहटी मŐ फैला Šआ है। यह 
एक िछūपूणŊ और कंकड़ वाला मैदान है। इसे िशवािलक का 
'जलोढ़ पंखा' भी कहा जाता है। इसिलए, कथन 1 सही है। 

● तराई Ɨेũ: इसका िवˑार भाबर Ɨेũ के ठीक दिƗण मŐ है। 
यहाँ महीन रेत और िमǥी का जमाव पाया जाता है। 

● खादर: मैदान नई जलोढ़ िमǥी के जमाव से बना है और 
यह िनचली भूिम है। इसिलए, कथन 2 सही नही ंहै। 

● बांगर (भांगर): यह पुरानी जलोढ़ िमǥी से बना है। यह 
खादर से ऊंचा Ɨेũ है। इसिलए, कथन 3 सही नही ंहै। 

 
92- उȅर B 

भारत मŐ कॉफी बागान Ůथाएँ: 

● मुƥ ŝप से घनी Ůाकृितक छाया मŐ उगाया जाता है। 

● पिʮमी और पूवŎ घाट के पाįरİ̾थितक ŝप से संवेदनशील 
Ɨेũ। 

● भारत दुिनया की 3.5% कॉफी का उȋादन करता है। 
इसिलए, कथन 1 सही है। 

Ůमुख कॉफ़ी उȋादक: 

● कनाŊटक भारत के कुल कॉफ़ी उȋादन का लगभग 70% 
िहˣा है। इसिलए, कथन 2 सही नही ंहै। 

भारत मŐ कॉफ़ी की िक Ő̋: 

अरेिबका और रोबːा। इसिलए, कथन 3 सही है। 

 

अरेिबका की िवशेषताएँ: 

यह अिधक ऊँचाई पर उगाया जाता है और इसकी सुगंध के 
कारण इसका बाज़ार मूʞ अिधक होता है। 

रोबːा की िवशेषताएँ: 

यह अपनी ताकत के िलए जाना जाता है और िविभɄ िमŵणो ं
मŐ उपयोग िकया जाता है। 
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93. Answer A 
● India is the largest producer (25% of global 

production), consumer (27% of world 
consumption) and importer (14%) of pulses in 
the world. Hence, statement 1 is correct. 

● Gram is the most dominant pulse having a 
share of around 40% in the total production 
followed by Tur/Arhar at 15 to 20% and 
Urad/Black Matpe and Moong at around 8-
10% each. Hence statement 2 is not correct. 

● Gram is cultivated in subtropical areas. It is 
mostly a rainfed crop cultivated during rabi 
season in central, western and northwestern 
parts of the country. 
○Just one or two light showers or irrigations 
are required to grow this crop successfully. 
Hence statement 3 is not correct. 

 
94. Answer C 

● Kosovo, which has a majority Albanian 
population and a minority of Serbs, is a 
landlocked region bordered by Albania, 
Macedonia, Serbia, and Montenegro. Hence, 
Statement 1 is not correct 

● Its capital and largest city is Pristina. Hence, 
Statement 2 is correct. 

● India, Brazil, China, Russia, and Mexico have 
not recognised Kosovo as an independent 
country. Hence, Statement 3 is correct. 

 
95. Answer B 

Lakshadweep: 
● India’s smallest Union Territory, 

Lakshadweep is an archipelago consisting of 
36 islands with an area of 32 sq km. Hence, 
statement 1 is not correct. 

● It is a uni-district Union Territory and 
comprises 12 atolls, three reefs, five 
submerged banks, and ten inhabited islands. 

● All Islands are 220 to 440 km away from the 
coastal city of Kochi in Kerala, in the emerald 
Arabian Sea. 

● It is directly under the control of the Centre 
through an administrator. Hence, statement 2 
is correct. 

● Organic Agricultural Area: The entire 
Lakshadweep group of islands has been 
declared as an organic agricultural area under 
the Participatory Guarantee System (PGS) of 
India. Hence, statement 3 is correct. 

 

93- उȅर A 
● भारत दुिनया मŐ दालो ं का सबसे बड़ा उȋादक (वैिʷक 
उȋादन का 25%), उपभोƅा (िवʷ उपभोग का 27%) और 
आयातक (14%) है। इसिलए, कथन 1 सही है। 
● चना सबसे Ůमुख दाल है, िजसकी कुल उȋादन मŐ लगभग 
40% िहˣेदारी है, इसके बाद तुअर/अरहर 15 से 20% 
और उड़द/काली मटर और मंूग लगभग 8-10% हœ। इसिलए 
कथन 2 सही नही ंहै। 
● चने की खेती उपोˁकिटबंधीय Ɨेũो ंमŐ की जाती है। यह 
Ǜादातर देश के मȯ, पिʮमी और उȅर-पिʮमी िहˣो ं मŐ 
रबी मौसम के दौरान उगाई जाने वाली वषाŊ आधाįरत फसल 
है। 
○इस फसल को सफलतापूवŊक उगाने के िलए बस एक या 
दो हʋी बाįरश या िसंचाई की आवʴकता होती है। 
इसिलए कथन 3 सही नही ंहै। 
 

94- उȅर C 
● कोसोवो, िजसमŐ बŠसंƥक अʛािनयाई आबादी और 
अʙसंƥक सबŊ हœ, अʛािनया, मैसेडोिनया, सिबŊया और 
मोटेंनेŤो से िघरा एक भूिम से िघरा Ɨेũ है। इसिलए, कथन 1 
सही नही ंहै 
● इसकी राजधानी और सबसे बड़ा शहर िŮİːना है। 
इसिलए, कथन 2 सही है। 
● भारत, Űाज़ील, चीन, ŝस और मैİƛको ने कोसोवो को 
एक ˢतंũ देश के ŝप मŐ माɊता नही ं दी है। इसिलए, 
कथन 3 सही है। 
 

95- उȅर B 
लƗȪीप: 
● भारत का सबसे छोटा कŐ ū शािसत Ůदेश, लƗȪीप एक 
Ȫीपसमूह है िजसमŐ 36 Ȫीप हœ और इसका Ɨेũफल 32 वगŊ 
िकलोमीटर है। इसिलए, कथन 1 सही नही ंहै। 
● यह एक िजला कŐ ū शािसत Ůदेश है और इसमŐ 12 एटोल, 
तीन रीफ, पांच जलमư बœक और दस बसे Šए Ȫीप शािमल 
हœ। 
● सभी Ȫीप केरल के तटीय शहर कोİǄ से 220 से 440 
िकमी दूर, पɄा अरब सागर मŐ İ̾थत हœ। 
● यह Ůशासक के माȯम से सीधे कŐ ū के िनयंũण मŐ है। 
इसिलए, कथन 2 सही है। 
● जैिवक कृिष Ɨेũ: भारत की भागीदारी गारंटी Ůणाली 
(PGS) के तहत पूरे लƗȪीप Ȫीप समूह को जैिवक कृिष Ɨेũ 
घोिषत िकया गया है। इसिलए, कथन 3 सही है। 
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96. Answer A 

● Major ports include Deendayal (erstwhile 
Kandla), Mumbai, JNPT, Marmugao, New 
Mangalore, Cochin, Chennai, Kamarajar 
(earlier Ennore), V O Chidambaranar, 
Visakhapatnam, Paradip and Kolkata 
(including Haldia). Hence, statement 1 is 
correct. 

● All the Minor Ports are governed under the 
Indian Port Act, 1908 and are owned and 
managed by the State Governments. Hence, 
statement 2 is not correct. 

 

97. Answer B 

● Statement 1 is correct: Tropical grasslands 
have dry and wet seasons that remain warm all 
the time. These regions are warm throughout 
the year, followed by dry and wet seasons. 
Tropical Grasslands are the ones which 
receive 50 cm to 130 cm rain. 

● Statement 2 is incorrect: Temperate 
Grasslands are found in the mid latitudinal 
zones and in the interior part of the continents. 
Usually, the grass here is short and nutritious. 
Wild buffaloes, bison, antelopes are common 
in the temperate region. 

●  Statement 3 is correct: Temperate Grasslands 
consist of Grasses and/or shrubs. Temperate 
grasslands differ largely from Tropical 
Grasslands in the annual temperature regime 
as well as the types of Species found here. 
Normally, these regions are devoid of trees, 
except for riparian or gallery Forests 
associated with streams and rivers. Moreover, 
the soil here is fertile with rich nutrients and 
minerals. Temperate grasslands suffer from 
extreme climates. 

 

 
 

 
 

96- उȅर A 
● Ůमुख बंदरगाहो ं मŐ दीनदयाल (पूवŊवतŎ कांडला), मंुबई, 
जेएनपीटी, ममुŊगाओ, Ɋू मœगलोर, कोचीन, चेɄई, कामराजर 
(पूवŊ मŐ एɄोर), वी ओ िचदंबरनार, िवशाखापȅनम, पारादीप 
और कोलकाता (हİʗया सिहत) शािमल हœ। इसिलए, कथन 
1 सही है। 

● सभी छोटे बंदरगाह भारतीय बंदरगाह अिधिनयम, 1908 
के तहत शािसत होते हœ और उनका ˢािमȕ और Ůबंधन 
राǛ सरकारो ंȪारा िकया जाता है। इसिलए, कथन 2 सही 
नही ंहै। 

 
97- उȅर B 

● कथन 1 सही है: उˁकिटबंधीय घास के मैदानो ंमŐ शुʺ 
और गीले मौसम होते हœ जो हर समय गमŊ रहते हœ। ये Ɨेũ पूरे 
वषŊ गमŊ रहते हœ, इसके बाद शुʺ और गीले मौसम आते हœ। 
उˁकिटबंधीय घास के मैदान वे हœ िजनमŐ 50 सेमी से 130 
सेमी बाįरश होती है। 
● कथन 2 गलत है: शीतोˁ घास के मैदान मȯ अƗांशीय 
Ɨेũो ं और महाȪीपो ं के आंतįरक भाग मŐ पाए जाते हœ। 
आमतौर पर, यहाँ घास छोटी और पौिʼक होती है। जंगली 
भœस, बाइसन, मृग शीतोˁ Ɨेũ मŐ आम हœ। 
● कथन 3 सही है: शीतोˁ घास के मैदानो ंमŐ घास और/या 
झािड़याँ होती हœ। शीतोˁ घास के मैदान वािषŊक तापमान 
ʩव̾था के साथ-साथ यहाँ पाई जाने वाली Ůजाितयो ं के 
Ůकार मŐ उˁकिटबंधीय घास के मैदानो ं से काफी हद तक 
िभɄ होते हœ। आम तौर पर, ये Ɨेũ पेड़ो ं से रिहत होते हœ, 
िसवाय निदयो ं और झरनो ं से जुड़े įरपेįरयन या गैलरी वनो ं
के। इसके अलावा, यहाँ की िमǥी उपजाऊ है और इसमŐ 
भरपूर पोषक तȕ और खिनज हœ। शीतोˁ घास के मैदान 
अȑिधक जलवायु से Ťˑ हœ। 
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98. Answer C 

● The Subtropical westerly jet streams are 
located approximately over 27°-30° north 
latitude. Over India, these jet streams blow 
south of the Himalayas, all through the year 
except in summer. 

●  The western cyclonic disturbances 
experienced in the north and north-western 
parts of the country are brought in by this 
westerly flow. 

●  In summer, the subtropical westerly jet 
stream moves north of the Himalayas with the 
apparent movement of the sun. 

●  An easterly jet stream blows over peninsular 
India, approximately over 14°N during the 
summer months. 

●  Tropical cyclones occur during the southwest 
monsoon, as well as, in October-November, 
and are part of the easterly flow. These 
disturbances affect the coastal regions of the 
country. 

 

 
 

 

98- उȅर C 
● उपोˁकिटबंधीय पिʮमी जेट धाराएँ लगभग 27°-30° 
उȅरी अƗांश पर İ̾थत हœ। भारत मŐ, ये जेट धाराएँ गिमŊयो ं
को छोड़कर पूरे वषŊ िहमालय के दिƗण मŐ बहती हœ। 

● देश के उȅर और उȅर-पिʮमी भागो ंमŐ अनुभव िकए जाने 
वाले पिʮमी चŢवाती िवƗोभ इस पिʮमी Ůवाह Ȫारा लाए 
जाते हœ। 

● गिमŊयो ं मŐ, उपोˁकिटबंधीय पिʮमी जेट Ōː ीम सूयŊ की 
˙ʼ गित के साथ िहमालय के उȅर की ओर बढ़ती है। 

● गिमŊयो ं के महीनो ं के दौरान लगभग 14 िडŤी उȅर मŐ 
ŮायȪीपीय भारत पर एक पूवŎ जेट Ōː ीम बहती है। 

● दिƗण-पिʮम मानसून के दौरान, साथ ही अƃूबर-नवंबर 
मŐ उˁकिटबंधीय चŢवात आते हœ, और ये पूवŎ Ůवाह का 
िहˣा होते हœ। ये गड़बड़ी देश के तटीय Ɨेũो ं को Ůभािवत 
करती है। 
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99. Answer D 

●  Soil acidity is a condition in which the soil 
pH is lower than a neutral pH (less than 7). 

●  Soil pH is a measure of the hydrogen (H+) 
ion concentration expressed as the negative 
common logarithm of H+ concentration. 

●  It is an index of the activity of H+ as it 
interacts with soil components, nutrients in the 
soil solution (water) and plants growing in the 
soil. 

●  Repeated use of ammonium-based acid-
forming fertilizers, leaching of nitrate-N 
(NO3-N) and plants taking up cations and 
leaving anions all promote acidification of the 
topsoil when cultivated. 

●  Soil acidity determined by pH measurement 
during a routine soil test is known as active 
acidity. This is the concentration of H+ ions in 
the soil solution when measured in a 1:1 soil-
to-water ratio mixture. 

●  Plant nutrients such as nitrogen (N), 
phosphorus (P), potassium (K), sulfur (S), 
calcium (Ca), magnesium (Mg) and 
molybdenum (Mo) have low availability at 
strongly acidic pH values. 

● Other nutrients such as manganese (Mn), 
copper (Cu) and zinc (Zn) tend to be more 
available until the soil gets very acid (less than 
pH 5). 

● Iron (Fe) and aluminum (Al) availability 
increases as soil acidity increases and Al 
becomes toxic to plants at pH values less than 
5. 

● In India, acid soils occur in Assam, 
Meghalaya, Arunachal Pradesh, Mizoram, 
Nagaland, Manipur, Tripura, West Bengal, 
Bihar Uttar Pradesh, Himachal Pradesh, 
Jammu and Kashmir, M.P., Maharashtra, 
Kerala, Karnataka, Tamil Nadu and Andhra 
Pradesh. 

 

 
 

 

99- उȅर D 
● मृदा अʅता एक ऐसी İ̾थित है िजसमŐ मृदा का pH तट̾थ 
pH (7 से कम) से कम होता है। 

● मृदा pH हाइडŌ ोजन (H+) आयन सांūता का एक माप है 
िजसे H+ सांūता के ऋणाȏक सामाɊ लघुगणक के ŝप मŐ 
ʩƅ िकया जाता है। 

● यह H+ की गितिविध का एक सूचकांक है Ɛोिंक यह 
मृदा घटको,ं मृदा घोल (पानी) मŐ पोषक तȕो ं और मृदा मŐ 
उगने वाले पौधो ंके साथ पर˙र िŢया करता है। 

● अमोिनयम-आधाįरत अʅ-िनमाŊण उवŊरको ं का बार-बार 
उपयोग, नाइटŌ ेट-N (NO3-N) का िनƗालन और पौधो ंȪारा 
धनायनो ंको Ťहण करना और ऋणायनो ंको छोड़ना, ये सभी 
खेती के दौरान ऊपरी मृदा के अʅीकरण को बढ़ावा देते हœ। 

● िनयिमत मृदा परीƗण के दौरान pH माप Ȫारा िनधाŊįरत 
मृदा अʅता को सिŢय अʅता के ŝप मŐ जाना जाता है। 
यह िमǥी के घोल मŐ H+ आयनो ं की सांūता है िजसे 1:1 
िमǥी-से-पानी अनुपात िमŵण मŐ मापा जाता है। 

● नाइटŌ ोजन (N), फॉ˛ोरस (P), पोटेिशयम (K), सʚर 
(S), कैİ̵शयम (Ca), मैưीिशयम (Mg) और मोिल̭डेनम 
(Mo) जैसे पौधो ंके पोषक तȕो ंकी उपलɩता बŠत अिधक 
अʅीय pH मान पर कम होती है। 

● मœगनीज (Mn), कॉपर (Cu) और िजंक (Zn) जैसे अɊ 
पोषक तȕ तब तक अिधक उपलɩ होते हœ जब तक िमǥी 
बŠत अʅीय (pH 5 से कम) न हो जाए। 

● िमǥी की अʅता बढ़ने पर आयरन (Fe) और 
एʞुिमिनयम (Al) की उपलɩता बढ़ जाती है और pH 5 से 
कम होने पर Al पौधो ंके िलए िवषाƅ हो जाता है। 

● भारत मŐ, अʅीय िमǥी असम, मेघालय, अŜणाचल Ůदेश, 
िमजोरम, नागालœड, मिणपुर, िũपुरा, पिʮम बंगाल, िबहार 
उȅर Ůदेश, िहमाचल Ůदेश, जʃू और कʳीर, मȯ Ůदेश, 
महारा Ō̓ , केरल, कनाŊटक, तिमलनाडु और आंŬ Ůदेश मŐ पाई 
जाती है। 

  



 

 
 

52 

 
MOCK TEST 

EXPLANATIONS  
 

RACE 
IAS 

 
0522-3555372 

ALIGANJ | INDIRA NAGAR | ALAMBAGH, LUCKNOW & KANPUR 
WEBSITE :www.raceias.com,  /raceiaslucknow 

E-mail ID : www.raceias.2010@gmail.com 

100. Answer A 

Red Soil 

● This type of soil is formed as a result of 
weathering of metamorphic and igneous 
rocks. 

● The soil develops a reddish colour due to a 
wide diffusion of iron in crystalline and 
metamorphic rocks. It looks yellow when it 
occurs in a hydrated form.  

● The fine-grained red and yellow soils are 
normally fertile, whereas coarse-grained soils 
found in dry upland areas are poor in fertility. 
They are generally poor in nitrogen, 
phosphorous and humus. 

● The red soil is found in regions such as Tamil 
Nadu, Madhya Pradesh, Jharkhand, Odisha, 
some parts of Karnataka and southeast 
Maharashtra. 

 
 

 
 

100- उȅर A 
लाल िमǥी 

● इस Ůकार की िमǥी का िनमाŊण मेटामॉिफŊ क और आưेय 
चǥानो ंके अपƗय के पįरणामˢŝप होता है। 

● िŢːलीय और मेटामॉिफŊ क चǥानो ं मŐ लोहे के ʩापक 
Ůसार के कारण िमǥी का रंग लाल हो जाता है। हाइडŌ े टेड 
ŝप मŐ होने पर यह पीली िदखती है। 

● बारीक दाने वाली लाल और पीली िमǥी आम तौर पर 
उपजाऊ होती है, जबिक शुʺ ऊपरी इलाको ंमŐ पाई जाने 
वाली मोटे दाने वाली िमǥी उवŊरता मŐ खराब होती है। वे आम 
तौर पर नाइटŌ ोजन, फॉ˛ोरस और ह्यूमस मŐ खराब होती 
हœ। 

● लाल िमǥी तिमलनाडु, मȯ Ůदेश, झारखंड, ओिडशा, 
कनाŊटक के कुछ िहˣो ंऔर दिƗण-पूवŊ महारा Ō̓  जैसे Ɨेũो ं
मŐ पाई जाती है। 

 
 


